M 1Y N

C 5Dbo’
F [ CmkaAaC T MAz @iy pAl | mPY M=wmBYyAYK-"
OETF Vwme &= Ar Azal @ Y t 1 Xkd4” Ar CY 2 Hw
A= 3 VA
X1 8Cr -~ C# 030061 YOE@uPRWe> AP 1 &CN’
AY T 0XA AY@ P9 s, @01 4C R PW J1i Cy
2 A |
1.1C  ©@ ¢
nh 1 9 Dennis Ritchiep 1972wA A~ Q E HH* p /b Ken Thompson
UNIX"HAM 4+ 61 CXj T H=' Richie_y. [ © ET s
Thompson®iB 1 & B _ [ s I wibDuv A® - G 1 C
TARK h AYTAGY 2@ YTovd, NG AQT3 ~ %l W 1&
T 08
A Q @hTw % HECEEChSE TH RA @b Pascalti’
T %t e O B@WAY 5, 08 AEh@ Y1 G BASIC T Wy Y 1 @



jfa Vv Wei1ii —seh R %E | HECj OF mh
GBI/ET Y 6 C, T RAYK AnA® | AFEEAOWEKKC X
AN e

12 A1 C O8I

p SW30wal CTJ4édwmew = L Gy ) Ee AQé AT I
T+ mKC6 AT Eas¥E =S 10wal AKX C & /Fr ™ Az GiC+
Il HC®»Ts @Mnt KT N Wi 1 6hE T E C++lEio* e
e BGCoBE Yal aN CEGE A Yee g 11 Np 6C X! "

A G AY P

121 (o4

\\

Cl 4 T7 i z26@KM 1a8CTaANpg V YeBn =h a1

i 201 E XY AT A @ ts Ts bioGET o J_ poid
VI @3 e p o Y| EeAT, Nz 1T

122 Q06

Cil 9 o R i EX° . 1" E \V piTi@4e CYZE
EEJ" h yo " hit C @ X, WE®AA ETOEM A{

f1eAA T-h@CPU A 18 47 “Yp@# 1 | aBICPU 3
/BT | a GHA A { b YY i al @4 Y2Q@ éw? ya&aw?éMkr



1.23"' N, ¢

Ci 9! N, YP g AVAi AT @ECY2ZJ4 ENULA| 4 W
w8 ! QTHV/ I b Ml o i . WE owl 3Y20 A
atTAa® gko! A~Q s Vo®' Ns 61 Hy M’ N IBM PC BASIC

Y2 QW AppeBASICY 2e EC T 37®K1 ada gp UNIXV /i
A IBMz 3

FORTRANY 2 58K ~ | Nos NT p J Cp'Ne 6A I X5y
CAd weNCMlh Q= \ g A BFYeEN 29241 400 YA i! 11
YO A 8yil nri ' Cray 1 N\ j T Y ZAR z

h 1 teeabl " aHAVA € b Windows XP& OSX G e | T a
AT WE T N

1272 C/b UNIX@ER LT M1 UNIXMA W V@ A CAd +ARY 2y G
Linuxaa =~ C¥Y 0 ACA H AK V 1Y0 j a2 v D Windows
> Macintosh@iPQ | £ YWY CA * AQj &a& i Kt \ | by

TA1 123 1 Ek™ @& M&a:hv/iGECAd

124A2 @) 1 2 b5 06

CAzawhbge V KAJWAET EHA T eabt Az & b5 8 UNXH

AV A Gz ki1 CA @ TH € b FORTRAN Perli Pythont Pascal
LISA Logo= BASIQ @i n A = D T CA @ J' T EAp
UNIX * i A1 FORTRANHI w47 A CY 2 1 Gao @ "E Y 2 G
CYz2TJ412 " rne=>TVYe I Ne T KR Qe T e -
e

125 b AY K"



C b AY K~ G Ecr & | Ti1 X' @QHMnpéadiz-hy ETOK
Tw vie o afzavds s tW@Yg p  aAf Y@ wA 1 C

i b Pascal ~ @i € ihg67 Wer a HG  vu Woe g x

Ayneb QQQEAIp CA MDEAN u garx A CHL a'i h” p
Er TH R CHj ' f - o CN~ A~ A 8% + | Ha HO & HT" 2
0B,

Du | A" QChNX & Az 3Gz TaAY9 Ot ®EC Q PR Qizln
AY K~ Wh M@ » 9

1.2.6

C h®d RAe =K “1 Ae=WepEETa -8 M&EbAA &b |

ac | Cp A DB 1 huwr It OTT CMY g Wo

Ne C@i& 1 YP &a'Th W @ @AY *b@ g N

K 4Y O s 1 MY T - o8

CoEM +6 /mTH & VY JT1 £T' T hd I n @H =6 A
AAd°9d &@®IpH 1 Hép T @ i & I Cev @GuN én

w y©ip 9 Jd b b e Obfuscated Codel 0

%1 C & A@Mer HeqgM 1 C ® RPAe &Cjyp P oA
Nn T Q AAGE s

1.3 C GIA T AD

20Kk 41 80wl 1 Cp UNIXM /A @ngz kaaTJA4T3M ~ 1 x HADI
ET4EF AK V €i3 =223 € t2r21 ~ TAAD



C T AATDINYZ2Z1 2D 7 Tt A +w>=THfB R31W"~ | C
Z

L @QfF1d° 6 Q@EN 2z~ Wi 1 HG” RPY 2 " 2M@ah 742
AGE N WA

M:3Y=s¢f0 C GKG® ©CO 1 MTHT Aa ™ & PooA GE
T AT AT CQ¥. 1 o4e j h éf v wyK-~&i A& C

p 20k 1 0wy » TAADAD 1 C++ | z gAY

C++b C i” bM AYTzuwe DM AYT Y edy1 E g

Pz L a1 4 { C++Tj ~1 CH A L YP y
MCY2 aHi 1 aTjr»T AOQEICHY 2 edC a& hed

C++iei » "~

j 1 C+ > Java -~ A bML (Cp TFYyAKET GETH

firpwy é@wHi At E ° " p 108 = T p8JVAVALTEAY AL C
TJADL BT 1 ENT[ Wn 1 £ | DVDH®* > THNTH !

e

A 3@ neAdY a2~ | CTAD 3 Q@ ~ R: FORTRANEN
edY 3 o 2 ET M Trp ArnCHAV A @ 1 Cp Linux @A A
ACH G 4 Y% g 21k A9 10wa 1 CKN3'YAY @n”

VW o1 CT w AR ® | XNAAb%%I b aynR ¥A 1T
AL, Xaz 12+ Vol b@ A 61 xo LahA Cdobb



1.4 \ TA@®Y sn

nt éVedbMr CAY1L 462" \' TAsnA @ P~ =
hw'an 1 CA Y2 Y 2 Hod hat 888 e G

XMV ' "W A T A" InofedMCPL ~ Az °~ @ VTAI
6UrnedN RAM Aw ATANT 3éY2>a1 P <Weé 4w

T "10&p V W HO iYz=at1y OGRYuR teb 1

%> HIT! WK/ V e W 3 CPU I nYzi AQEC Al

E oy i

CPUETA WMDIe NQ&GCAY G M~ G AT ~ @ Exgéa

n AYbL,X'E Yt t o xkjgéa ni AYBXE | A' x CPU

@p Ndg 21 kK T @HAI AQ CPUT QUK yr x' T (3]
TA CPU® t @nTANt TAN" NWAI| é+ ¢ registers)4 1 YeA| é
H1 @3é AQ Al év3éi | "Ym®ipésxt CPUET 3U ni

I Yy, n f "Ype 1 CPURD Al €% A3& "YIpXNV Al &+ b8
6" Ami [ "YblEl§ x CPUET N & SBYmhe Yy QD1 PYm
T" Evy@i Ta ~"Y,y 0 V N AQk AyJNOL D Ayl &
bt xgépfFN | &

1 " ObA® GEg A X1 éUp Vv Al " gk T QE TQET Q@
QEE A& Y B EYebd 8°aAA BWEBEYLCH @QQEe A UG %
AEY & AQETH \ Sl én YT @QEE AE UGk Yy A
Wil Yo ® AQEM TKI V Y2Zwdo @ Y QE"YMH € a
M H ar -



TN AAGE AJ' 6T xbralQ \V Ye1' 160 wé
Az hE'Yny, € _Y2C. " §° \ Y# 3sbMsY a0 Q@

S Oy @ in @ g H r . a \z [ N L VP
T@yn oANbBAY+ ~Mbp@ Cp ° ANWAL X

1N/ éDF w 2000A GEQE® =~ | &+ 1,

2N/ éDF 20044 GBIQE® =~ | &+ 2

3NI| é® 2@igkt | é% 1@igkt1 Y1 39pl é+ 1a
AN| ér 1®inke ~ gébpf 2008

ahadao T QEM [ ~ P Yrpa @Y% AR

b'adsF@ YAAA Y21 WwEj x1t a&NhaN AY @ HQ
T4 sSEW

Q

Hb* asF " ®0y @ 1, b 4A4Y & Aa@o



15 1\ A A

b C ~ 5 AAY 11 @k AA VPpASAY Y X1 3j 01 Q

EM ~"Yn TKi & AAT Y™ i &a oA Al O \
AT B 4 HA Y Np&djTWa =h CPUpN=hynaAg o o

Lat ol @pt Tl oEP Ki amiyg eebt MbAQ =1 &! @A’
ik

total = mine + yours;

ro=n

' Twp 1adbh JFs® E®m@AT Hb' " 1 QEM T @ Nw
T "Yry4 & G MYTh 1. jh K y"~

jx@f oM NV 7 *B r MV T 1 AYmijin m ¢
a * 1. RAd wBisy A H*{ N 1 Y 2 G VA G 4

Yy B 2 & ndoart A ve @ TA

TAd " ®D ABIJ oo %Y N p i ®OTs = OO

AQT M %A In

Intel Pentium CPUA ~ @ 2 M Motorola PowerPCCPY Ky j T Ha' @
NA HW Mz hogg s T ETY . @I O RmAaAd v o1 a8 @
N a / Y2 "QmR Y| a©g -« Y2 a © AAN E K
fal @ A »N 7 A7 WR Y

Vv et 1 eb C Java= Pascal @~ "1 @WAA® LVAI Xh=®
bz hGiCPUd "Yr, ~ I a2~ 1 1 " Trae Bl aht A AT

Z %1 W k™ én



16 A& C OBE7 AL

*hAAT W CI MA & b aOwW:2/ET A & | &b Pascal

& FORTRAN A hy 0 AN CY 2o ¢ bar bt amd ™ i
€ @b BASIC | & b gémn @ ¢ab VisualBasid | aaai =&y M

071, eOb M A GCE®B8h~" A Y1 ah™' Y
" EGhk™n X1  AMAY® ANUO" 1| 8CNA~ CY 2 G
VO mT7AL

1 heY 2z’ %



7.A71 = MY 2

Fy:, inypo gh atipg 2@ " a1 ali Y Pre TAI
o g AT @k ® Al
1.6.1M 12 x h®Y 2" %

W t st pADHIL AZMOQY 2 YKyd Aoy | & Y2 1053
3UL Y 2 F V> "HAL @3Y2Z bAT o@zyU p T4
az 1 = RO & Laji PRPoy roa
1.6.2M 2¢ X \ 2
pPMY22Z Hé&aw v ANOGGE o a6z " hYzTi bMHGE!
T AR Z T Oy I Y2Z bMAd1 = %t AT 1 a®dr H T HE
AY 26
& _hpYzaedah 'ipgp "a7ACbM ~QQ @37 KyA |
T NRQ AADe 3 CAYHI ONT MUDGI HE&! ne @ Hi a
haN PR™ M R o W 'O ABGAAr ~“3U W Q@& 2°7Q

Qf Nk én



[AE]

W raz 1 @NOr a 1aj 76 vyl | Hade R™ M
' S B @& &bt CAYK"pQQ ~ A 9% PascaW Y K "

o

33>

33
o
=]
<
A\Y

pYzo Jow o1 8@ A Tho! HhRET BT 1 Namy 2

W C fa"* Ar C~ @isA al! @p4i vaasy
|t Hodo NI =\ Y nTirAdYVL GCEBhRhK
4 P DEy L G4 I Ard A . 8 MMWROIH Gy
T1 ATY9 &G 2 i Chné A Y2 o L1717 ComMp @ A
D

Y2 Jo 1.1C0 b ©EeD
#include<stdio.h>
int main(void)

{
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return O;
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#include<stdio.h>
int main (void)
{
printf("concrete contains gravel and cement. \n");

return O;
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#include<s tdio.h>
int main(void)
{
printf("A.c is used to end a C program filename. \n");

return O;
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printf ("l am a simple"); /* /1 printfe {° Q */
printf ("computer. \n");

printf ("My favorite number id %d because it is first. \n", num);
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int main() //traditional rules ( € A ©O8ir | 4

{

int doors;
int dogs;
doors = 5;
dogs =3;
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}
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int dogs;

dogs=3; //firstuse ofdogs € M K AET @By (

/l other stat ements (T H©i B8 ¢

momfdA T BEy kit WN f D&M h



Xpa'i ®dsA X1 Q01 3T Kyov™ 1 @ 'OKy~ @k ES
Ms1 mKyo Mw ¢ 6% 7 PR GER

1901 3

C '@ nr AQQOY11ed13C1 @bQQ E1=>{eQ H Aw ¢
"HRQM 3GEY13T vV * sélr n-= QQEY ~ ® pi
YAAdNe RMYR™ @il 113

2r EQE O

azZ 6 A OYOUw ®egabi bt ABN 21 Q 1 Y AT

sheep_countd j T X3Z b' © Ej 1 IFi ' @r } w Albh @Y
0 MAAEY 2T T BAYEO HTe
T2 A WEY®Q nC @ a2 hNOKW C99% b A% Y wn !

QO B3AEY 1T ~ v % Y& M12ypé&U41 1 =981NnbC1 o aq
E 31AEY mC90 . 0 ®i31AEY= 6AEY % 1 T A E!
GF L1 T RA@A ¢ WwAEB 8AEY h i & WEYTQ !
Q@ hosioz &1 HT A v jh . VvEEY + % b' AVl w?z E
i "Qw 8 @ Shakespeare> shakespeareN ~ AT A® Ei1 + wECG 8
AEY  a

| & /Er BEY ®n  E%1 2  E% QE=i" 4 M AEYo T E%da

T A

"HAM /1> Cz WAET @ AGbAI~ 41ADTE Ecab kcabl | + %as
WB d NT | % @ I W @ AGbAiIT 41 ADI &bt z %

o T W% Y T 3om BT AT EC i 1Y
T hMe e Ewfc

—_— — =+



C @k ETN z2n ©@l oH Az E2%> /b6 MZGin E2%~ AT j a

085+ G starsj 223 Starsd 0 STASRS

W A C “rf pr C99 Universal Character Names & ¥ UCN,
we” . "Ef G@E e Biova o 7x Ef @EY "HYb N AU

307w @ithe BJ

® PGa9 | b FORTRAN BASIC#ip éA 6 j¢ " w & i A&
T i wKy C j 1 Mubp™ @A| o6 &dbi Ast x

NMHAGWY &p 1@ a"kTéaYz@nk b'AdA T v @Y

G Eeeebt taxratelh® r{ Nh™" Bs =~ A @ b eEji 5

et w Al o8

Y d MAAAEY 27T T BAY@EE HTe

MpaADA Y28 1 a | ¢ " oy h3£EaY P " TA Y2
ADe

Ky3sUoé zy Yzé, Kyd' o ~ QQuEwBAAT Kyo

.(‘D)

meée¢”w 1 @w' dY2a, X 1E ANDEA] Il ow el
b a=®¢”" Adw 1 NjT A a@cCy2 b' sAs+ | @
var A

s+ Ol @ & & I~

nt "¢ 1 ywpu ¢"ECObH A 1 C99Q@ @WC dp Alb
QBADI 07 i1, @B 8T HAGY ¢ 49p 1 h



27 Y 2ZA Y U Et L 4 C9ONp AL BB T CHy 0 7 QU
OBl 1 6T p ¢ wmw e ¢7 w | 6j ho Nw © y
A " ) THY C99

num=1¢ //= ¢ 6 V1

Y27 A 6 B g assignment statementl 6 B7 C @b "HA
e Az eieD®Y 0T o' HO 1 Aw numb Gintnumy B8 p
\' néawmy num° ~ M ® Bp AsAww ey Ab6
b ayo 1 @ea ' @Y num P AGY 07T Hnum\N mww s 4
Fy & 8 6@ 27 xt  t a” 8y Ny
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printf ("I am a stmple™);
printf ("computer. \n");

printf ("My favorite number is %d because it is first. \n", num);
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PRINT "My favorite number is";num;"because it is first."
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printf("%d is neat.. \n",q); — Q B8
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}

YiieeDAY 9 AO T B Y ATy es43 taoi A 6 B
N w A6 1 11T 3A |, B Y% B T oprintfe 20 QPR

BT "Q 1 B ®aeD @91 mane (* A retun B J

MG o1 AVMD®% CY22Z A i ©f Ay

#include <stdio.h>
int main (void)
{

statements

return O;
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int main (void){int four;four

4

printf(
"%d\n",

four); return O;
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int main (void) /* converts 2 fathoms to feet¥ A&7 }



int feet,fathoms; - 1T OYBeE
- Er M

fathoms = 2;

feet = 6*fathoms; - Ys A B

printf ("There are %d feet in %d fathoms! \n",feet,fathoms);

return O;

}
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M A @ 2 EMbpi Y2 o 22A@M” AeeDG T E

Yy 2 Jo 2.2 fathm_ft.c ¥ 2

/I fathm_ftc  —-"Hb A fathoms QV &Y o

#include <stdio.h>
int main (void)
{

int feet,fathoms;

fathoms = 2;
feet = 6 * fathoms;
printf ("Ghere are %d feet in %d fathoms! \n",feet,fathoms);

printf ("Y es, | said %d feet! \n", 6 * fathoms);



gerchar();

return O;

}
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bao | bAY WO 8Gr "1 A NV Pk

251

Xt Y2pADI 1 AF eA@A®}F ¢ 77 ay @Ry 2 e o
TV 41Yz "E ENBEH ( EGCpa@c f aém PatTH Edw
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T A N'HbAw ¢ feet> fathomsZ A CBT 1

int feet,fathoms;

int feet;
int fathoms;
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feet = 6 * fathoms;

YOT ol Aw
feetb
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fathoms O 1 1 6QQ

wo1 Y 2QAWBAAA " printfe T b

X

There are 12 feet in 2 fathoms!

Yes, | said 12 feet!
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*two_func.c —-p AGTAZLET BA Q¥
#include <stdio.h >
void butler (void); //ISO/ANSIC ° Qs 3

int main (void)
{
printf ("1 will summon the butler function. \n");
butler ();
printf (" Y es.Bring me some tea and writeable CD-ROMS\n";
getchar();

return O;

void butler (void) // © "Qh ©GEA D

{
printf("Y ou rang,sirAn");

main



I will summon the butler function.
Y ou rang,sir?

yes,bring me some tea writeable CD-ROMS.
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butlere voidZ A Bivoidi YO 1 butere Z° Q= OV ™Q + %1 EAd +°

maine {° "Qa Gibutlere ¢ 17 Hhs1 butlere ¢ G/ET T & * |—Y void

GEY 0T oMb 1 &j T op ¢oEb
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MV "QuEic

void butlere ¢
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Y2A1 &' @Hbutlere Z° "Qh ©p maine ¢° "Quii
wi butlere Z° QKT pb & printfe Z 16 "E @
x man) QAD'E ©i | 1TEpY2aTAls:Kyy J

maine Z° QOpARI + RE WwY 2 08" w9 G} ©

"Q TEGY " ht aj i butere ZpaTahody . ™ A abi p

LY 285E | ho
| AGBECY 2§

t a1 Cosiy el "H

C% &4 &awW T WA® Q0é" Q53 % YIaT W% z Qwé '’

Q>3 e&bi p% Cal stdohd 1A 9 & printfe T G
a7T " OWEFT " M vod Q T Qzz¢”

2.7

NpaTJd! @A~ AVD®C Y271 Hgialihn”
Y 2 o W3 ¥ bugss aAN=W" R @ Y3V

Y2 Jo 240, AV® P N 21~ &A1 A, AN
Yy 2 o 2.4nogood.cy 2

/* nogood.c --9 @ BN Z ¥
#include <stdio.h>
int main (void)

(

int n,int n2,int n3;

K YZ29& A

P53 M 6VND

RV D 8]

€ debuggingl



n =5;
n2=n*n;
n3=n2 *n;

printf ("n = %d, n squared = %d,n cubed =%d \n",n,n2,n3)

reurn O;
)
e e e e e e e e e e e e e e */
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Ax

intn, N2, n3;

p

aa 1 Q@i é

int n;
int n2;

int n3;
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/* stibad.c -* ~ | BN 2 ¥
#include <stdio.h>
int main (void)
{
int n,n2,n3;

r Yz& © */

n2=n%*n;
n3 =n2 * n2;
printf ("n=%d, n squared=%d, n cubed=%d. \n",n,n2,n3);

return O;

n =5, nsquared = 25, n cubed = 625
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2. Kyt | 6N, E@ AY &D>= C @D

Vx| 67T "Y 0" bMH BayYzolp 1053
> @&DYX Me speak English good.

c & D x printf "where are the parenthesses?’;

2> @Dy This sentence is excellent Italian

C Dy thrice_n=3+n;

4. IndianaSloth TAAB™ 7 @M 21 Xyedawm 1 w'H R

include studio.h

int main{void} /* Yyzri|- WA QN Nv [* */
€

int s

s: = 56;

print(T here are s weeks in a year.C ;

return O;



y x v X@ A#AD1 07, aT1e stdoht @ "HaT® ®p MNON A

#icnlude <stdio.h>

MT  xvodzZ AErel F ANJ Z T A& ¥

intmaine voidZ /* Y2!' 1T~. wWa®rNNv ¥

Ms X Z A HY0N {aji A KON e 1w Qy@A”

{

Mth x BJ A N[ Ty

int sY

i X Vi S

ML X 6w Z1 A =0j 1 x= Pascagi 6¢1 x= D w® 52
s=52y

ME  x T A QY THY

printf (" There are %d weeks in a year. \n", s);

Mo x N° AT J ©E}HoN

5.9 1 @i A@D T+AHQ 28 1 EC%AN | Kyl' 9

a. printf("baa baa black sheep.");



printf("Have you any wool?\n");
b printf("Begone!\n0 creature of lard!);
¢ printf("What? \nNo/nbonzoAn");

d int num;

num = 2;

printf("%d + %d =%d", num, num,num+num);

V' X a: baa baa black sheep.Have you any wool? (x %o p i A"

b: begone!

Ocreature oflard! & x %Kp v~ J [

c: What?

No/nbonxo? (/ = @o \b AT O@AT I ET Mp@ Em, [ C

d2+2=4 & Y%A %dT bM ° aMZGw OApQE O Y
+ Y 0 6T T |1 @p printfe T B \

6.7 o AT CGH, EO main, int,function,char,=

\ x intcharT n E
main,functon T ©° Qe ¢ R’> C A G AH Z

=T © ViN



7. bMQ@i @ A _ words> lnes@O x b There were 3020 words and 350
linesb ?

| 3020= 350 b AW O

v x printf ("There were %d words and %d lines. \n", words,lines);

8.a i @GN 2y

#include <stdio.h>
int main (void)

{

int a,b;

a=5;

b=2;, /I M1 7
b=a; // 1 8
a=by /v 9

printf("%d %d \n",b,a);

return O;

pPM7 148 549 eayYz@ 6" T Kyod

VX M7 a=5y b=2y

M8 b=5y a=5y



M9 a=5y b=5y

212AY 4 5

1.A° AY 21 1 prntf)’ "Qp i, aGesdi W 1 K printf()’
Qp bAD™ G i aGEsdit o 1 Mprntfe 7 Qp . a osie
= d

VX

#include <stdio.h>

int main (void)

{
printf (" O\n");
printf (" \n O\n"):
printf (" ");
printf (" O ™);

getchar();

return O;

2.d° AYZ | adide 335X



VX
#include <stdio.h>
int main (viod)
{
printf (" O \n");

printf ("X Gy 3 E V ¢ 38N M),

getchar();

return Oy

}

4.7 AY 21 "Ha Gw Q&3 QXT "7 a1 Y w 36537
VX

#include <stdio.h>
int main (viod)

{
int age,day;

age = 30;

day =365 * age;

printf (" & 9w T %d 1 Hi %d3 \n"age,day);
getchar();

return O;



547 AT z2f1 i BN 2 x
for he's a jolly good fellow!
for he's a jolly good fellow!
for he's a jolly good fellow!

Which nobody can deny!

Y2A 7 mane Z° Qev i1 At bAT Ah O Qx AT CHI T
TU . KU

D ATz "Hpo . K

VX

#include <stdio.h>
void good (void);
void nobody (void);

void good (void)

{
printf ("for he's a jolly good fellow! \n");

void nobody (void)

{
printf ("Which nobody can deny!");

int main (void)

{
printf (“for he's a jolly good fellow! \nfor he's a jolly good fellow! \n");
good();



nobody();

getchar();
return 0O;
}
57 AYZ1_ 8@ A® % toes®EQQw Y Z "Htoes Jmw 10W

2 VU bA toes@= @3 toesBEWA Y2Z . AQ@W3AEI X' % E
G

VX

#include <stdio.h>
int main (void)

{

int toes;

toes = 10;

printf (" toes= %d, toes square= %d, toes cube=%d
\n",toes,toes*toes,toes*toes*toes);

getchar();

return ;

Smile!Smile!Smile!
Smile!Smile!
Smile!
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#include <stdio.h>

void smile (void);

void smile (void)

{
printf ("Smlie!");

int main (void)

{

printf("Smile ISmile!Smilke\nSmile!SmileAn");

smile();

getchar();

return O;
}
7 A7 AYZU Y 2ZaA T emonethreee L% Q ° "Q p AT "
D oponebt W 1 towe {° Qi + @ WpD I b othreeb ° "Qtwo
elZ 1p Al "D ptwob mane {° 'QZ p 1 one_ threes °
Qe 1~ ~  pstatingnowb . Q 1T ec [~ pdonejb T @O G

JTZbT AT X

starting now;
one
two

three



done!

VX
#include < stdio.h>
void one_three (void);

void two (void);

void one_three (void)

{

printf ("one \n");

void two (void)

{
printf ("two \n");

int main (void)

{
printf ("starting now \n");
one_three();
two();
printf("three \ndone!");
getchar();

return O;



int, short, long, unsigned, char, float, double, Bool,

_Complex, _Imaginary

2. Vi

sizeof

a

3.° Q

scanf()
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y 2 o 3.1rhodium.cY 2

[* rhodum.c -1 R a oy ¥
#include <stdio.h>
int main (void)
{
float weight; // T "Adeiy
float value; /I~ M oer ey 6
printf (" Are you worth your weight in rhodium? \n");

printf ("Let's check it out.\n");

printf ("Please enter your weight in pounds: ");

scanf ("%f",&weight); // x 1T Al n 3 % m A"~ aBi



<3  WmY¥% W 7700 f1 145833 °"HW @b QW O N ¥
value = 770 * weight * 14.5833;
printf ("your weight in rhodium is $%.2f. \n",value); //$%.2f “ H4 A ., v'Q

printf (Y ou are easily worth that! If rhodium prices drop, \n");

printf ("eat more to maintain your value. \n");

getchar();

getchar();

return O;
}

V%Y za! @QH770wa R @NXY1 HT j UL 145833 T EZ
1. o vQ

n T2 R ab W = 122 K By

F Y1 b enter your weightb @Y 6 T & @y &1+ oY Enter & Return

"Y1 Trr - V T4HGE 2w Vv@ETA Yz0Qa 3 AQE
€ %b 150 1 aj T b € %b toomuchZ b* <VE%G QE Y 2 N
F LA Ar f B8 “g v M 7Vp Ci By "H
bl A@ X VQE i T Yz@M e | J'YX

Are you worth your weight in rhodium?

Let's check it out.

Please enter your weight in pounds: 150

your weight in rhodium is $1684371.12.

You are easly worth that! If rhodium prices drop,

eat more to maintain your value
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[*printl.c -~ 7 printfe { ® BPR& ¥
#include <stdio.h>
int main (void)
{
int ten = 10;

int tow = 2;

printf( "Doing it right:");

printf("%d minus %d is %d \n",ten,2 ten-tow);
printf("Doing it wrong:");

printf("%d minus %d is %d \n"ten); / 6 €~ Av Q
getchar();

return O;

A X i BNz, M T d X
Doing it right: 10 minus 2 is 8

Doing it wrong: 10 minus 2 is 10
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[*basesc -@" 1} ~=sv"Ju  &A . 100%

#include <stdio.h>

int main (void)

{

int x = 100;

printf ("dec = %d; octaF%o0; hex=%x \n"x,x,x);//dec " 1 octal I hec
1" j‘b ’

printf ("dec = %d; octalF%#0; hex=%#x  \n"X,x,X);

getchar();

return O;
}

A X iGN 20 NfFq4 TS

dec = 100; octal = 144; hec = 64,

dec = 100; octal = 0144; hec = 0x64
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long int estine;

long johns;

short int erns;

short ribs;

unsigned int s_count;

unsigned players;

unsigned long headcount;

unsigned short yesvotes;

long long ago;
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#include <stdio.h>



int main (void)
{
inti= 2147483647,
unsigned int j = 4294967295;

printf (" %d %d %d \n", i,i+1,i+2);
printf ("%u %u %u \n"j,j+1,j+2);
getchar();

return O;
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[* print2.c  ------------- printfe ¢ 95" A R& */
#include <stdio.h>
int main (void)
{
unsigned int un = 3000000000; //int ® 32y
short end = 200; /[short ws 16y ©8iv A
long big =65537;
long long verybig = 12345678908642;
printf ("un=%u and not %d \n",un,un);
printf ("end=%hd and %d \n",end,end);
printf ("big=%Id and not %hd \n",big,big);
printf ("verybig=%lid and not %Id \n",verybig,verybig);
getchar();

return O;
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un = 3000000000 and not - 1294967296
end =200 and 200



big = 65537 and not 1
verybig = 12345678908642 and not 1942899938
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" 02’ 3 TY6

32 ©z2°
\a i € ANSIC
\b i
\f 4
\n Q
\r i
\t t WA

\v [

\ ral (Y
\' D AN ()
\" 2 AN (")
\? ?)

\0oo 2 60 ~ AR QE)

\xhh "L &M ~ AL QE)
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charnerf=Y ny

"1 EMy nerfpéd MRWIi N XmQ

NpacCr. Y i %A ©2° b i i EY \ag' C90AWZ f1 AT

~
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J BT 1 Y2zaH TEY . RWi ( NEA, 0 & Xj VORW
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TirT 1t ©z2° \b\\n\r\t= \vi Wy @ . ¢t i EHN " E G G
BA|T&® ECMjULy JoEg e Y \bAEJOYJIRpE i + AMT
AY \MfNq oy IV i @WAD/I QY \nQo0y N (0
DI + Y \wrNjuyJN E  @WADI tW i MNgoOygJN i

AtW e WWEYHYJ It 9 171 25M M T

[ Y WNgogJN 7 Af"T e

P OEYj h 12A&®d t @&@bit 4Y=f " yp PCRWi f1
TN N Gj hFl y Mx%%ENOI ECE®GR . £M i HEhu'
w @ - TA

PIN A
i A HCHh al]

i sA ©2° \,\'s \"&a'! @Ar \,'s "EN
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¢¢ b Ewmi nk X
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gramps sea b a\ is a backslashb

I @A&T bi

printf € "Gramps sea \"a\\ is a backslash)\ "\n"C ;

WIbA OEY \000> \xhhi ASCI @it ~A| b'y1r AEY
3 ° ASCIl Th Et ' @pd & 1t Aral e\IXT1pANA 1 &by
b A #®j . {EY e\al1_ ! @A ASClI TIhox

beep\0876;

@ s w81 075 \7T 1@ oA=& A0 N | KhAEQ
S/ w3 Q

Xk C90ADI Ché” MsY Oir oA "Ju @&A "EYW p Yeé
Aatrd) o AXa X Wri 10 3g"Ju  "QE @b CtrkP E Y @
"JuU © ASCI 6w 10’ ER" 0 OaA G161 E' @ T w Y \x10y &
Y \ X010y

AT ASCIl H }YQE="QEEY @N, ab1 EY 4 ASCI 6w 52

| Y4y ~ AN 4G T Q6 4

K: 02 1 &a'T h®dbi s AN ¥

1L.wmKypi eDe printf € "Gramps sea \"a \\ is a backslash\"\n"C ¢ C A 1

02 =1 pbANA 1 on T EY T ©2° 1 b1 wmeANa
EY T@ (.1 DAN @ABOHEY e G n a m p st MM
G ®pANA | 2ANAGIEY TN REY me M 4N T mwe i ni



printte "Hello) \007 \n"Z ¢ B8 N£ m Hello'X A, ¢ L O printfe "hell
v

ANy B_ £EMHeloRn7. jp OEYAGQEN" E Em, T

2.KWHO Er ASCII | KyHo A ©2° o0b*' peA 02° =l
MZ@EIASCIl o Y. ™O1_  ZEA ©2° %b "O\aj i \014
X1 OEY " k™ O1 TKI T YA 28 No 6" B + wmpj AT
ASCI| G A A Y\ Kt 71

3. E AT QOA Hi WKy A1 "\032'Gj 0320 %1 \0327T " JUs
Y2~ ° AEYA @YgeTk! "\0320 ~ @ ©2° | @§3I CEV
mAl ¥%bEY n b Helo

i \007\nb A 6§ A '\0O7'

Y € ME

printfe Z° QAT %c " V1EmM AEY + O i1 EYw éeUm 1E
BN QO + 61 b Fr WEI%d “YE&mcharwy | N&  AQ
Q %cf A " 4o printfe 7 QE MA, OM: AQQEEY Y2 Jo
351 7 chary Db EMA |

Y 2 Jo 3.5charcode.cY 2

[*charcode.c -1~ AEY Gl & ¥
#include <stdio.h>
int main (void)
{
char ch;
printf (" Please enter a character.\n");

scanf ("%c", &ch);



printf ("T he code for %c is %d. \n",ch,ch);

return O;

T 1T A T oaex
lease enter a character

C

The code for c is 67.

%Y 21 p VE%ej 6 "YEnterd return a scanfe {° QN
na JEEYL & NY "YM J@WEY Aw ch i~ printfe Z° "QHch
BOE Mb K XAREYEéEMe' Th ABI%cY C1 4 9 Am"  ém

~

e+ Th AGE%d"Y ¢ FY printfe T " 4" hQQul ~AA&j T QQu
qAA

AT OIN T RIN

P ChXHcharEA®GINA1 3 YP chari 3 6@E 3, QT -128
127 D P ChNXN'HcharEARYIN41 31 Tné, w0 255 A Hh"Y

char®4 31 daa' @ imits.h™ §1s7 T11 ANM a1y A
k

i A C90% 1| Cil pwr E char At signed= unsigned TN

o8i char1 31 K w1 signedchari @Y N1 31 unsignedchar, T 1 N13

M: AT EY13/ nnQQ"" &1 b*'I NEY1_E A jVN 1081%o
char1 3



3.4.4 Bool1 3

_Boolt 3 ' C99A 1 122 "~ unéi o © truee ©~ { /b falsee 37 ¢
W Cr©1 ~ tuet 1 &0 ~ fase A@ BooM 3h i 3 417Q0 3
Ef s, i EKK 1y T el + mM> 0> 1a 1 1y@ie UM T4
A%

V2& T unér ©OE A " "™H M 6IpCi  Bxlvbhb= v 74

pCi  B8x " "H BN 4kdlp @GE 1 4CNg Y ¢

3.45 1" N, @M 3 x inttypes.h

" A BQQI3d6=6" | HT T®130 P.® &' Q@ W t TJi

T zagEe Byl R9 mEREj 2T %bi 7 Aw 1 int13
Xji° AaE® Ny ar “vtas w7 A I C99weé~ A
I @R E TI @  so OH3IU sebyxintlet ~ A 165 &1 NQQ
131 unt32t ~ A 32471 NQQ1 3

A PEEM:Y 2O ZEpY2 A Y9 inttypesh™ a1e Y1 pA’
WY vEHOL QPRA + jJ HY Az 6 AQT A1 typedef Tuov, &
© A@H 3B E &M 5¥p VY As Bha®d®M kK4 9%b1 ~ &

ThT UNB2 tAW AT®e 1z 8% 1320 & 21 pe AVl A

A% 13" 17T unsignedintt ag?® AvMAA_ " T T unsignedlong A *

ro-w

hwéaApJdl 7 & &7 PAGE M3 Ap., ° y1 3be exact



widthtyped Yt mintj a1 uint32_tj T v E1 AQo pY2aAy?
innttypes.h™ a11 A4 ®# &1 _ E

Ar. 0 y13E Aop TeAMAIT T jJHT P O %bi1j13
e AvMli ép M in8t13e8yDdINNTDQL W ~ A I C99%0
he v 24 E T Re E3 A ~ @M 3¢ N22"Yh y Bond 31

¥ywmown Y1 3be minimumwidthtypel &b int least8 tT ! @k 1 8
HOINQE P13A VoniEd AG © « Azedl @pnize yO
T 841 & v1ij hhheinstdi3z HI Kt! @& int ieasts t1

31 E@h RO T 165 QQ

Et1 PYZ~"~"T1THO ya M COOwHCh®e 4! £\  ©d
B 3y 4 T Nwmpwdon Y1 3b e fastest minimum width type
@b "Hint_fast8 th ©mwv 1 A M 8y &Y N Qa4 \ @0 @QQ1 30 ®

Wel M2e RY 2" ®@Hh Wl wz @ T QQ1 3 wWw% C99™H
intmax_th Omw?z SOY N QQ1 31 0! @k 41y MOQEDQQEEH 3 ¢ H
uintmax_th &mw? &)y N QQ1 3 % 81 PR413! 1222 longlong

s unsignedlong1 31+ m - O0hN®BY 3ev1 ChNXN ! @QhOTH1 3.

Co9j Kk W& PASEH | N, @H 321 G& M R4 300 T
Al eebi

printfe £ € me 1 3 BOH 0 /me MZGE " o ybh' €m int32.t1 36

R 1heazZAr %d "Y1 apgP YheazA %d "Y1 a Oynod
C99% we&~ Pwmhf W' é€mM P! Ng131 M 44 &b 1 inttypes.h
“ 87 NR Ow PRIIIG; ~ £ m 164 @I NSA T "y e£ebi hdd
d Y2z o 36» " Er M1 4133T Z "1 @A ||

------ X C++ 2010 VC 2005 i THY N7 aT



3.4.6 float, double, long double 1 3

AQ O TAA T EIRYITQOI 38 @QTAGEB” + 41 n="Qe VY

2dWar @i {eQ C  aqeQy0 floatt doublet = long doubled 3 1

ECMZ: FORTRAN Pascal A @ireall 3 GCTJdw 14eA|Tz
TYOnQpo@rz, hEQ {eQ T 1k:zVe Qf

NeKGCAr Ye Q| " EzsEno@Q Y "Qrn  n'Q> 1008 G
oM " QE 331 P Q| @eD

33 P 'Q @D

‘QE Ye Qf YQ Q|
1000000000  =1.0x10"9 =1.0e9
123 000 =123x10"5  =1.23e5
322.56 =32256x 10"2  =3.2256e2
0.000 056 =5.6x 10" -5 =5.6e -5

Moo T T QT T T Ye Qi MsT T YR Q| edNwe-

QR TioYe Q|p V A@W AAI Ta ec G 100YQ

C% hi flbat1 30 ¢ NI ~ 6 ®©QEI n6, hs N 10-37°
10037 6HOQOQE"Y] e'® NzZ{T 4~ 4 33333333 ~ QELE 6y
né, ho hAa' @QA%s ~ bo € 20830’ dZ 1 D&ED

£16e-19z C@3f K net@QE Wi M4 A 32yeld A{eQ

®
0y



TAa 8y 12
3 Gy N

2OTYQ3 TN 24y T: T UYQER £ NP QA ®@QQE T

C ®& YVYmwdoubee Y mmevy WH e4 3 doublet 3> float1 3 ©
Opationné, hi HEo ¢ Ni = 10§ ®®QE  ~ s 1 double &1
64y aj i 32y RvA NA_ @32y T3:PQ "1 wr” QO
JYXY N TR T TH®E PYANTAT Ry AYQ "1 @k4 ™
2 BIYQ kOQwT”T I @ ToQm h %Y A| A8 Qs NUd 13y
OOQEL |~ C@®iwn % h

Cwé” Ms™M{e13 longdouble4 31 @» % doubled 3~ @& 9 |
I CE 3 longdouble1 36 N2 doube1 3 =~ d.

e qew

> ~

{ew ©@p " @3 DpA|a™Qéw ~ aii T PeaeDy

float noah,jonah;
double trouble;
float planck =6.63e -34

long doble gnp;

Wo{ew ®ErY O A{eW @9 @RAT xY9n'QelE AV
NGIQE2" 11 " T E%ed B +of M 100YQ®E AGING i Tt
Ao e W x



-1.56E+12
2.87e-3

'@ X*N | @=®i Qr £ 2EX & "YQ
a ' @ XAn'Q ° e 3.E1&€ d QQ

T w0 Qo e W x

€19.28 1 Hj T 2 H= &~

€ 456 1 H- aj it aH X i

3.14159
2
4el6
.8E-5
100.
pdeW aj A& Mvi
1.56 E+12
it A #“N{eW EA doubled1 3 abt 3 somei A floatw
I a®i o By
some=4.0*2.0y
Y 40> 20 éUwdoubledt 31 ¢ WZ A1 64y ed ov \ A&
2y JdY AW Woifoat y i3 Vdy 1 HT R §Y 2 GIE
CEL' @ fa Fao A /AL H| eW EA float1 31 %b 23f> 9.11E9F

I& Lo A £ A'QE & w longdouble1 31 %b 54.31> 4.32e4L & A Lo

Ay mEx s QE 1k T 4

=@®c A% e W w doublet 3



coom ~{ew Afjr- v T A NT AETT A OxG OX Q7
T"JU MQEI taf pd Peaji ed EC1 wo i 205YQe aj 1 10
YOz bi A x

Oxa.1fpl0

al 100 1f ~ 11671 i 152561 P10 ~ 2°0(0 1024 QAQ@Em &
% 10364.0

X AQECA v |17 M C99: ¢@EHY

sTém{ed

printfte ° QAT %ff A " Y Em" Qdifloat > doubleQE 1 T %e
EMYQ Q| EQE b M4 HE cogmm L T A e'Q Al @A&r ad
ATho ed E & m long doubled 3 %Lft %la " 1 }Y float= double
1308 . A % %ed %a o 12 EEGP P ps3zal A

"vQli 3 Qeb printfe e v QHIL G ON

float1 3 BEiv 'Q "Qw doublet 31 Y 2 o 3.7 : G

#include <stdio.h>
int main (void)
{
float aboat = 32000.0;
double abet = 2.14e9;
long double dip = 5.32e -5;
printf ("%f can be written %e \n",aboat,aboat);

printf ("%f can be written %e \n",abet,abet);



printf ("%f can be written %e \n",dip,dip);

getchar();

return O;

|-x long double dip = 5.32e -5; VC2005= BCB20100:i  J * | vc2005 =
QY o [ Jt 7
th 4 e &L o> i o
5 VU Aw? Gifoat®w 34E38X b i "HA X
float toobig = 3.4e38 * 100.0f @
print € "%e\n",toobig{ ;
hat Kpyd T Aiocovefowl 8D E NV J' T Az é&j1 08

M NU ©@rzZsr =® hit HT Xp &ic 9

QHIL hat i o
QI ~ %O inf & infinity £ &

toobig = ATl QM2 @k ed printfe C°
A9 BBILH® N (

E @ A" n@QHI w "¢ P +O i1 foatQE ° wm'YQ= P
Q el & T AQUETONEYQU XhKod! @ v 7
H ~ Gin GIP Q6 Ni{rM{|ed 1@z, vy " Gion Q
T wn Bl

E XpH%»Q @2 W AHANAEYQ "% ni gi "YQT 4
AQ@ V EBNPQ ° iy LNt M, gy~ H1 XbBAwes g~

61 a@n mael "H AY 9 hy @ @ QE @iQ 0.1234e-10 @ 100 Né&
©0.0123e-100 HT Q@ © HO®QE % Y M wi oe underfowl CN'Q
"4 3dyEH e &N mH:* Wiiie subnormall | AQ@ "Hpn %F { e @ 2N
& AH:R WEd b @ A 22z @O NAAOG®EY mOXp Czw
" 1rs ! N1 e hfd HRY Waidm Q
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®P v Az e e ©& NaNe Not-a-number &b asine {° Q +r1* &
&1 HT* a6j 1 27 L AQ asine {° QB Vv Qj T 272 Lie, " Q
NaN®& 1 printfe Z° "QN%OT ~ w nan NaN&1 né A

PX N AQri 1W ssQ J" w1 b & {e Vi, 1T hdTH
1 b1 XAT

#include <stdio.h>

int main (void)

{
float a,b;
b =2.0e20 + 1.0;
a=b -2.0e20;

printf ("%f \n",a);
getchar();

return O;

VC++ 200571 "E  BCB2010 "E §.

N M7 oot T N AV oz o f VA i T y'Q QE
2.0e20 % 29 T 20A 1 b MET Lt wywp@f v 21y b * Vo
s N 64 21y @QE G float' QEE & 6.7 ®OQE + % A \ |—HT

*

j*. W b AA N/AE 2.0e4Mod 20e200 , T & F . G 1+ W w B
TV 54y QEI float QEM% 2 .

3.474% Q= Q13



“ANesTY # Q> Q C99% 'HY P41 31 Hi ®A3 D
Ps * hNAj P4131 %b P3 VAl nw @i X & VCRS j @ QU
a @ Q1 3CI ! 6

MDs 1 @3¢ "Q131° . 1 float_Complex,double_Complex= long
double_Complex.

float Complex w Y 9 b A flobat 61 A ~ ¢ Qoih 1D A T & "QuEl
me it @39 Q131 ° . 1 flat_Imaginary,, double_imainary, long
double_Imainary.

b'ay9~ complexh” at11 ., a' @r complexiw _Complext imagingry
Mw Imagnary T ¥ N | 7 -108WA ‘i

3.48 THA1 3

NpTkd™ AL Q013 M:®PKi 13'16r 1D PK!Q
R “AGH 3 C=®EY w131 HT EXt ! QEBs/S NEY w1 4
Dk v v 44

Ck9 413A 4, TH431 YO Q41 Y 1 J_=TT 6186Cpe °
"AERKATY 131 NTJdp~ @A AT e’Y £ pointerl "Yb w A THQ
OM Gy J1 scant {0 QA8 AT & A, A& AYb 3UéUy JayY

PS: OJ x 9 Q0 3



9 Q013 A 11Ar Ex intt longt shorti unsigned chan floati
doublel signed _Bool, _Complex7 _Imaginary .

@1 N QQx

¥4 3! @n* 63 6

intx M4 QQ13 C3 int13s N® 164

[AE]

short & longint X w? 9ishont™QQj 2272 w2 Eiint QRO C3  short1 36

N @

164

long & longint x M1 3 @QQj mr w? EEint QQA1 C3  longs N& 32y

long long & long long int x 11 3 @QQj] i wz @ilong' QRO long long 1
S

6 NT 64y

I

st long1 3 2 short1 31 int1 3= EC9 W A y a abi PC
i 9272 DOSEEM 4/ O& 164y ©GEishort= int1 31 @3 32y ©Eilongd 31 G
9272 Windows 95@M 4 wé 16y @ishort@3 32y ©@iint1 3= long1 3

b as#1 ! @QA& signedws EM yM YOI NI @ -~

10
(@}



NN QO

NYINQQE ®O0=* 61 AeniIiNTQ @ %I N Q" 2z B & /[

unsignedru. E  ~ i1 N Qi eeb X unsigned intt unsigned long = unsigned

short D™ ©8%unsignedM Y2z wunsigned int1 3

EY x

EYyom, EYi b A & + phoat chard 3 /& 1AE @ié gV
T OABY sroksSy i BENE WwBgiH.r To BN B

charx EY 1 3@ E PhNAT &Y N@dichan v R At i N

char

Cil At signed= unsigned b E %O char@y N R &

& ~ true> falsee C/AT 1Tbh truet 0lbp false

c
[n}

_Boolx %1 3@, E un®&i AQINTQQ TéYE iz 0>

08IM



b4 e Qx

foatx M4 @8 {ed413 & NI 4. ~ 6yDQQE

double , Qe! T ¢ z@edz T ~ %floatd 3~ » BWOPQE €6 N
10y Wh YAl @37z EIYQ

v Q> e

v

Q13T ! M 3L h > 9272 J Z®ih Q1 3 X
flobat _Complex

double _Complex

long double _Complex

float _Imaginary

double _Imaginary

long double _Imaginary

PS:



OJxbbMé” Vpw

1. 'OA 13

M

2. 1T | WEY wmw A®

3.ET T v Bf A

type - specifier variable -name;

ro=a

type - specifer’  AGA A1 3 E4dd1 i T PR¢ " @Dy

int eresty

unsigned short cashy

4) @pa 139¢" A" Aw | Pw ®'e 7 N° | bia&A”x

char cht initt ansy

5/ @p¢” BA Dpw 1 bi &A™ ¥

float = 6.0E24 Y



3.5 /&1 Q01 3

AAY2H ZEFYA w 3T43@ O ~ g1 A& intd floatd 3
~"QE &1 chari 3 " EY p /A v @ QADI ¢ 1 X®E 0®dY
e E  Dpw At BW ZEaw 13 v &b ¥

int apples =3; // *

int oranges =3.0 // j B A

mpascal %1 C  MéEA3zj W N “Kk CA wiEl T K Dpi

HT hn, 21 ipaxg” A, 2 BHO 1 @B G ~ 4 owOuw
E we AQO1 3 By " DpHi b £~ TH413®8I Chs oM &
13 Q@%=>w 13 w 1 YrP I {hb, “QQ @b a

i* Dp ®X

intcost=12.99 // "H Aintw  Dpw A doubed

float pi = 3.1415926536 // "H A flobatw ~ Dp w A doubled

M A® 7" "H12 ~ cost pN{ e6& TQO®QQHI CupsbBAn™Q €A
6T aj M BV M A" RQ Myt wfloat1 3ET 3 T 6

T M, @ A #!1 T hM ~© Dp B8f1 2 H XjT Eo Y&
b T Dpt A Y2 Jo 31am2igaliT 7 v

-

ErY2r3 44 OUApGEw uve | Taw GRE! Q@ ~EGBH 3

ebx A i A T intw 1 AT us_ ~ unsigned short w - e EG

M

' @ hw ismartw int1 31 w us verysmart % unsigned short 1 3



3.6 v'Qs T

® 0 e Xk 4T N1 mEe: printfe { BEET e N7 QO3
U Ywv'Q @&bi1® Q 1 printfe p Hellot pal BZy 9 Av Qo Helo
pal b1 2 A [ @ WEY N REY Wl M4y NXp Y ©BF o] oy
ANEY= %I NI AEYWET AV Q

met nt’ Q 1 scanfe o %db 1 &weightl Y ¢  Av QX b %db =

&weight Ct Np A" Q T AT Av'Q printfe = scanfe I° Q% -

el TvQQ I @jp &bt aC 4 A 1AL 2A1 ne 3AVQ 1T

prinfe 2° Q Y2  © vOQEQ £i* WTA  BATQ M AVTQ
FoAvQEAQ A|TY AvQEY maGkA "1 MZ™ o G Av

Q ebi @ ByobAl A "1 X%d> %d

printf ("%d cats ate %d cans of tuna \n",cats,cans);

> Y za @ 2AV Q. h® 2A x cats= cans
Y2°0 3 FTA "YGHQ ao @vQQ a Np C ¥° Qs 3
st Q 1T e BT Q 34 3GEvQr YT M printfe T = scanfe

a

Q AT+ RECEVQQ T wp@ b viQQ ép L h XKy
U 0ebi 3 AA° 7 Y2 o 3.9y 2

Y 2 Jo 3.9badcount.cy 2

/* bad count.c - j * | ©Ev QA Q*/

#include <stdio.h>



int main (void)

{
int f =4;
intg =5;
float h = 5.0f;

printf ("%d \n",f,g); // v "Q® 2
printf ("%d %d \n"[f); // v Q% N
printf ("%d %f \n",h,g); // ©1H 3j*

return O;

FY,/Ft %dl ~ float&j h'H float® Qw n@Einté&,ai 1~ yy 6,m
el n,Et %I~ NG h'H & Qwm{ed adhi vQWEQ j =13

14

fwoA GE N W e g e

GGA8 DA v =OMi @b o, & 1p Y2zHG hio>

= | OB HI1 T RQQ N It HT C% X=&® 0EC wyY + %

V' p H T jQQ Y1 30 12y 2 Wi Aea e

g b Yz=6&l " QQ®O&l ~~ aWwéd _ ZEs 1 prntfe ¢°
Qv QAQT & * % T U UNIX | st Y2 ling% UNIXA ™ wi€f 1 E
hsT ., printf € ¢ v Q

370 A&Dx ©62°



i TD0 AEmY21 EAT" Coi Pwt OEY Y2 o 310» 7~
fe\bl1 Ye\Ml=+ Ye\rl@WTAAA PROx \ At deéE
Aw . ¢t HEADAT 1 HECXj] hi &1 smXMgéil £k  %bi
%Y 2j 1 pe P Macitoshh X A ™

Y 2 o 3.10escape.cy 2

/* escape.c —— T OEY ¥
#include <stdio.h>
int main (void)
{
float salary;
printf (" Enter your desired monthly salary:"); /1
printf ("$_____ \b\b\b\b\b\b\b\b"); 2
scanf ("%f", &salary);
printf ("\n \t$%.2f a month is $%.2f one year." ;salary,salary * 12.0);
printf (" \r Gee\n");

return O;

3.7.2. A

printfe ° QKWYH6"* "H . € ARWO X printte Z B8N | e A

A MwA Nnebufer¢ @ak édns A na@wipkwWj As e NARW
% C hp@i~ Y& i NA NakeARWYXA NrBIH6 1 ~ Q
BIHO @3 VEHO NA Ngke ARWIGGTMYm AA N



¢ flushing the buffer ¢
9 Y1 Hia
NRW

&bt i a1t b A printfe

Bn=od nQ vy
A scanfe ¢ B 0

QY /E printfe nk e

1%

a'i h ~ EQUEC

Vol
At NAY 2V p

-

scanfe £ Bj A AN
M a3l "YMwT 33U wmyB% |
@1 "Q Y. AA N1 bi A" x

printf ("enter your desired monthly salary; \n");
scanf("%f",&sclary);

j Mo A@E 3 BT ¢ A

CAAT N T h* WTA Hi 1 ~ Y /Ex
%oN i DyJi Bapw” EY i VRN P A " i
A7 fflushe 7° Qi M 12ipaT 3/ . b

38 v 8O

Cygz Q6131
CXj
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COrM QI3 ¢ W13y b24xQQIz=4¢e13 QQ1 39
bA 28T T13@2 n@3ET YN T i NG oneQ 317 char

eBYh AAQQIz@E YZ1+ hNjal @ @I NaRY NG | Q@AE

signed char = unsigned char, Wiz AT %1 3
“nQQx EN A TH®BQQ 3y 0 shortt intt long= longlong41 3 M
436 L C 99 BH3j iz @Mz i 43 T @YN G

h 438y NRGL j

H! @A unsignedws Ef i1’

unsigned long = unsigned long long 1 3 1 A @A signed S
AlzmOIN4I 3 wo1 BooM 37T YAIN4131 EEYIHAH 0= 1

MZ > false= true
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a East Simpleton©iK &

b DVDé Gy f
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131! @ 'O int_fast32_t

4.°Y 17 W @BH 33YOeb' @@
a. \b’

b. 1066
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b. int W

c. float W

b.unsignedint W 1 " Ju "~ A

e. double W



5. Dottie Cawm *

intclude <stdio.h>
main
(

float g;h;

float tax,rate;

g =e21;

tax = rate*q;

—————

#include <stdio.h>

int main € voidl
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X Xl rate=®
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A r--a
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Qiz

Z 9 X
# include <stdio.h>
int main (void)
{

float g,h;

float tax,rate;

rate = 0.08;
g = 1.0e5;
tax = rate * g;
h =g + tax;

printf (Y ou owe $%f plus $%f in taxes for a total of $%f. \n",g,tax,h);

return O;
}
6.°Y, i ARW ®BQQ1 3ept” BAL BWQQO1I 33Ty prntfe
A BT A
w 13 \
a 12 int %d
b 0x3 unsigned int %#X

c 'c' char %c



d 2.34e07 double %e

e "\040 char %c

f 7.0 double %f

g 6L long %ld

h 6.0 float %of

7.7 1 ARW Q01 3ept” B AL BQO1 33Ty prntfe

AGF A"

3 int13m 16y

W 13 "y

a 012 unsigned int  %#o

b 2.9e05L long double %le

c 's' char %c

d 10000 long %M



e n' char %c

f 20.0f  float %f

g 0x44 unsigned int %x

8.3 AY 2 ADJ ®bi ¢ x

int imate = 2;
long shot = 53456;
char grade ="A’;

flooat log = 2.71828;

pi  pintfe  BAfi T @Mz "o

printf (" The odds ageinst the %d were %ld to 1, \n",imate shot);

printf (" A score of %f is not an %c gtade. \n",log,grade);

9.3 chw chart 3 v Ar 02 v 613  EYW @3"Ju
EfYW VMA|NT 6wt Y &3 /& ASCIA 67

ch="\r;
ch=13;
ch='\015%

cd ="\xd'
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VX

#include <stdio.h>
int main (void)
{

int intt;

intt = 2147483648,

printf (" T int1 3 @iz © %di NET 19 & %di NET 29 & %d \n",

intt, intt+1,intt+2);

float overflow;

float overflowl,

overflow = 0.1234567;
overflowl = overflow * 100e100;

printf (" overflow @O %fHJ ' i oo T~ %f\n", overflow,overflowl);

float underflow,underflowl;

underflow = 0.1234567;



underflowl = underflow / 10;

printf (" underflow @6 1 %f 1 o Gir  %f \n", underflow,underflowl);

getchar();

return O;

22A7 AY21 0 3 AASCI &ebe6el1 ta | ZEEN

VX

#include <stdio.h>
int main (void)

{

char ch;

printf (" V AQE1 J' NT Q& ASCIIGEE 25\n");

scanf ("%d", &ch);
printf ("&  VEFQE w %d1 MZ ASCIIGIE %51 %c \n",ch,ch);
getchar();

getchar();

return O;

FYx FY "1 @& QEZw %d EY  w %c
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Startled by the sudden sound,Sally shouted,"By the Great pumpkin,what was that!"

VX

#include <std io.h>
int main (void)

{

printf ( " \a\a\a\a\a\a\a\a\a");

printf ("Startled by the sudden sound,Sally shouted, \n ""By the Great
pumpkin,what was that!" );

getchar();

return O;

447 A 21 v AfeQ X . @nQeAsYQEAEm | Zba

The imput is 21.290000 or 2.2129000e+001.

VX

#include <stdio.h>
int main (void)
{

float num;



scanf ("%f",&nu m);

printf (" The imput is %f or %e ",num,num);
getchar();

getchar();

return O;

5. w1 ® 3.156X10"7se s @Dyl A AYZ1 0 A Ew

Gl"’wT/\N\q

VX

#include <stdio.h>
int main (void)
{
int age;
printf (" va Gy )
scanf ("%d",&age);
float s = 3.156e7,

ro=a

printf (" & By %d "YQé A %e { © & A %f " age,s*age,s*age);

getchar();
getchar();

return O;
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vy

#include <stdio.h>
int main (void)
{
int quart;
printf (" V0

scanf ("%d",&quart);

float unit = 3.0* 10E -23;

printf (" @ VI 0w %dl
", quart,quart/unit,quart/untt);

getchar();
getchar();

return O;

FY x W woBT "1 &64j T aw

®
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AY Z 1

DeYQeA %e | cé&A %

N b x float unit = 3.0 * 10E -23;
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#include <stdio.h>
int main (void)

{

int stature;
printf(" va ok ")
scanf("%d",&stature);

float cm = 2.54;

ro=-a

printf(" & ©8i W %d D | 1 %f T A" stature,stature*cm);

getchar();
getchar();

return O;
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Foog

Y 2 Jo 4.1ltakbackcy 2

/l takback.c - AT maoé P3U®EM VY 2

#include <stdio.h>

#include <string.h> /W& strlene Z° Q>3

#define DENSITY 62.4 // KSILYy e pyT X9 [/%BYAY | T
int main (void)

{

float weight,voume; // h® =k o] e w
int size letters; /| h OE % letters QQuw

char name[40]; Il h ®EY Q4

printf ("Hi! What's Your first name? \n");

scanf ("%s", name); / nEY wmi A Q4w name

printf ("%s,what's Your weight in pounds? \n",name);

scanf ("%f",&weight); // n{e@ An{ew

size = sizeof name;

letters = strlen(name); // 1 stlen’ Q n EN Q4 @i y
volume = weight / DENSITY

printf ("W ell,%s,your volume is %2.2f cubic feet. \n", name,volume);

printf ("Also,your first name has %d letters, \n" letters);

printf ("and we have %d bytes to store it in. \n",size);



getchar();
getchar();
getchar();

return O;

talkback.c ©&i J" b x

Hi! what's your first name?

sharla

sharla,what's your weight int pounds?

139

Well,sharla,your volume is 2.23 cubic feet.
Also,your first name has 6 letters,

and we have 40 bytes to store it in.

Y23 @Az by

a
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&weight = name T § xC
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AGAN AEY G °

E Y e characterstringl & 1
the strings of my heart,

we nt
AEY w1 * bp A

nZing
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421char'Q41 3> VEHY
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Zing went the strings of my heart\O
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char1 3 B0 x

char name[40] Y
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/* praisel.c /T j 21 3 BEY wn ¥/
#include <stdio.h>

#define PRAISE "What a super marvelous name!" /£t J n#* h & EY W

int main (void)

{

char name[40];

printf ("What's your name?\n");

scanf ("%s",name);

printf ("Hello,%s. %s \n",name,PRAISE);
getchar();

getchar();

return O;

%so printfte T EmM AEY WML %s, XbKT+mwm Y2 EMbAEN

mX A é&Up nameQ4a1 D A' PRAISE [ nv h@@EYW 1 I
praisel.c &3 . Z 41 AT X

What's your name?

Hilary Bubbles

Hello,Hilary.What a super marvelous name!

df 3s HMEYaJnameQ4iaA scanE{p n JHhoaHE& vy n
A pEYWW PRASERYY AMEY &GCEB8h #defne B |
p'HE |Y PRAISEe @ M2 AN ~ Ta@a T AET W A "ad%

MEY T U



Fye E i | scanfe { E  n~ Hiary Bubbles@® E Hiary scanfe

AD “n 3@e1 hp ~ @M AM EYMT eblankl 1 = Y e tabl &
a'Q Yenewinel/ yB n + % Ep ~ Hiary> Bubblese @M Hi
6yB "E®@ T W i1 A1 %sGiscanff {Eh'H Abp aj i HQA B

b
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WREY W J CAET TH n I Qeabagetse L7 I n ~ WEY WKl
o @@ YN g VYEY®W Q

EYWW oxb/bEYW ¥xyjai Ta AN, T Yxy R:
gechat 1 Gpxb Ré E1 1 3echarQ4? M~ An. T opxbh i+ dAE
1 e¥Yxy>VMEYD\OBZ 46

4.2.3srtlen ()’ Q

i Yo 7 sizeof VY1 EQE mWmDHyA, QQE n stlens {° QQE
I WDy, EYmE v +wm AEYE| T AE 1| AQA' @ w'H b
A" QZr 2 AEYWH @é T alElt it a hX bw ay2z |
p 43a ~ b @ eYzalrT 17T wmKyhi

2 o 43praise2.cy 2
[* praise2.c */

#include <stdio.h>

#include <strin g.h> // @@ strilene Z° Q@S 3 €7 8T
#define PRAISE "What a super marvelous name !

int main (void)



char name[4Q];

printf("What's your name?\n");

scanf("%s",name);

printf ("Hello,%s. %s \n",name,PRAISE);

printf (Y our name of %d letters occupi es %d memory cells.\n",
strlen(name),sizeof name);

printf ("T he phrase of praise has %d letters”,stren(PRAISE));

printf ("and occupies %d memory cells. \n",sizeof PRAISE);

getchar();

getchar();

return O;

b & & %f ANSICe @il w1 y! | X

#include <string.h>

rrrrrr

stingh @ TY9 A /mBEY W HE Qs 31 YU stlene ¢ M 11V 0 EN
m>EYm Qb 3§ " AT aTe %o i1 P ANSle @8 UNIX
M4 /Er &7 stringshd  string.h? Y9 MEY i "Q@&ED "

D@ 11 CTHC Qz A AT R QEMT 1 X m¥AMT ©0& AT
a1 @b printfe T = scanfe { R’ %o V>, QAL Er ostdiohT &
T strlene ° Q> TH PmEY w wEB Qc @b EY kwe > EY kwa J G

"QLaR AV’ | Xp stingh” aTAhO

a

FYi Y2z Jo 434 bAA |1 NE @iprintfie ¢ 8 M AA|T
Aoprintfte Z B 1 b eal! @pv Qe AA ' Hj B AEY wEa
| ®@bp MANe AA { M7 AA| & bA printfe I B
Q Ye\nlE, XpV~ A Ba Y2het biT'N3UX



What's your name?

Morgan Buttercup

Hello,Mergan,What a super marvelous name!

Y our name of 6 letters occupies 40 memory cels.

The phrase of praise has 28 letters and occupies 29 memory cels.

~ o~ -

AT Ky | Qsizeof VY ®F 21 Q4 name® 40Anépf | E
T7 TA 6KDF[ &® Morgan T strlene Z AT @ @ Q4 name®M 7A
DFAMIMEY | EGidpo stlenelpu VB 1Q

M> PRAISE & hAa N stlene TW KA, " EY WAGBIEY e Y OMT > %ob
I NZmE | Q  sizeof VY wENAWQ % az U T+ WET MT[ %o
OEY md ! WMEYO Vpg &X=®° Y-SV R

nzpgél Eo st VN, eANe BEY ®BIQ

® e1 Vp sizeofa A1 kKON HT @®o=&@ 1¢ A koNn”
2847y n Adz@@n Ty neAvy ©en koNM:13T o0
B G M:oy L T! @ BT 1 az A& sizeofe charl & sizeof

e float{ 1 HT ' @ &1 sizeof named

sizeof 6.28 j 1 pAdw T A KON h" Bi1 &b sizeofe 6.28

-

i A~ &Y 2 aA/Er strlense T = sizeofET W » T AOY A®B™ O
aph Z7 a1 stlene T > sizof T A Y T @b striens L g R M1
3WEY MY 2 E®T 1 ANpY 11V A~ P
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®H pYzaET W &bi ! @YLbi AN, kDB

circumference = 3.14159 * diameter

| W 3.14159H e @W pesl AW 1 E 4 @& 3
A @Bo! j 1 ® PAGTEN'! @ O&CA INW [ My YA
| 37T (' @A bi BuiX* VN pMerh OHE& QY

circumference = pi * diameter;

RKYAET I NW 9% B 0 X1 A®RE% AQE° &Gz Un 7
bi BA B

owed = 0.015 * housevalue;

owed = taxrate * housevalue

b ap E N 21 yv~ YeAwmye r |F

aht 3 aprAsAArT a2 AW 1 Xho OWE®® _ 67 1 M' |
hwo© YacE ow AINW BherajrtpYzaln, AW
BIEAS AXYN®

Wi bMEANY AYNW 6 AA|T®" Aw 1 X J w W:A
IV

float taxrate;

taxrate = 0.015;



bwé” AiINe Hiaxatel Aw | AQaEN 2!' T hYY s OvE
x @1 C & BGA |

Cs! 6m&™ @ A"B@WA|T C In* pv2¥pC N bat aT
477 I nubMA #includet D AG T A Tz U fne s hew
E pYzatvw [JrbizUo! x

#define TAXRATE 0.015

EA &8N 2 H © 0015Nhp TAXRATE N @A s AOTHE N WA

'H I'b%| € copmie-time substitution = a Y 2 BIHO 1 AQS®ioM T4 H
a- T wheWw W MW" 1T W & manifest constantl

YT Ax X1 #defnelr TKT W G Neg TAXRATE 1 1 1T W @
©e 0.0150e FY1 AJ_a=&1 =INZT AQ@ " éADbi X

#define NAME value

a!' @1st Omiy Ne s T G6Or Mo NAME= value = @&t ° NT + %
T Mo 1 a6j 7 Cul 8 wKy YAXRATE 2 ° 6 2 = GEW

T A" OB Cel "1 E&ApRY 2 a "z @Y Ne 'H dhVo~
i AW a0 w 2" W E T A z-" WiH e b d=®3
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W 1 Y2CheWTAIHT Zz + 2 W B Ouw
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\ 2 o 4.4pizzacy 2

[* pizzac —p A%  ®ieDA AT hOW ¥
#include <stdio.h>

#define Pl 3.14159

int main (void)

{

float area, circum,radius;

printf ("What is the radius of your pizza? \n");

scanf ("%f",&radius);

area = Pl * radius * radius;

circum =PI * radius * 2.0;

printf ("Y our basic pizza parameters are as folows:\n");

printf ("circumference = %1.2f. area =%1.2f \n",circum,area);
getchar();

getchar();

return O;

printf() B A GE%L2FAE . J' " H3um39bynQ Et 1 Y2 Xji
“FriaMys 3 wl@A T E bhT "% Y2 3 A 05

An i T A T ey

What is the radius your pizza?
6.0
your basic pizza parameters are as follows;

circumference = 37.70, area = 113.10



#defne B8 ) Q@1s:hOEY=EYWMW ~ G1rpDAN o 7 gAN

Gie DT * | DEiy

#d efine BEEP\a'
#define TEE T'
#define ESC \033'

#define OOPS "Nowyou have done it !

- _

HidNe oAk 10 Mk j ~ "W @ x
[* 1 ©h Of 083, */

#efine TOES = 20;
b a ~ Y1 TOESNh =20Gj 7 20AmMw b* ~ 1 yi @& 8y
digits = fingers + TOES;

4 Qo hwdi AT o " A X

digits = fingers +=20;

4.3.1const N

C9AwW”™ N &YNW @M~ YA |1 0! @& constb E'H Aw ¢
VEW ¢ x

constint MONTHS =12:  //MONTHS § ATh 120Ny N W



3

85 /EMONTHS W AE & (BT 1 &' @7 © MONTHS X "HE 727
| T 4 f Gw MONTHSE®  AAA| %A #define ™ g VM 127
Y41 i>p9&1nb ~ A| @3 const®@THT | h i1 C &
MA@ AYNW 1 8TV M4VpJ_>THQQeAD A o8 X
enuml 1 i

o™ < O -
w o >

432V 1 hew T W

C a7t lmish= floath® & ©& O QQI 3> ed4z@zn ~ @ 43

U %AGT he v’ zisrawhNEy T W abi linmishdatyo
/el 1 8 x

#define INT_MAX +32767
#define INT_MAN -32768

PW M intd 3wz > @n@d { & b a@Mi A 32y Eiintt

GTNhw® PYINW @é&j 2 @id GThe AdQQ 3 Biwn = w?
© b'ay9” lnmits.hd@ 11 € b X #include <linmits.h> ! QA&ET b i
M X

printf("Mzximum int value on this system =%d \n", INT_MAX);

b awMi A 4E Gintt w JM A @Elinmitshd T8 hoé&y T 4AE "
QQ  @HNT_MAX= INT_MINGH 6 41° . 7 inmits.h A B PW

4.1limits.h A @ Py N W

1N W 90



CHAR_BIT A char &l Q

CHAR_MAX  charf 3 Gz &

CHAR_MIN  char1 3 Biwn 6

SCHAR_MAX  signed chan 3 @iz ©

SCHAR_MIN  signed charl 3 @ipn ©

UCHAR_MAX  unsigned charl 3 Giwz ©

UCHAR_MIT  unsigned char1 3 ©iwn 6

SHRT_MAX  short1 3 @Bz &

SHRT MIN  short1 3 Giwn 6

USHRT_MAX  unsigned short! 3 @iz &

USHRT_MIN  unsigned short1 3 Gion ©

INT_ MAX  int1 3 o8wz &

INT_MIN int 1 3 %in ©



UINT_MAX  unsigned int 1 3 Bz 6

UINT_MIN  unsignedint 1 3 S%iwn &

LONG_MAX  longt 3 Sz ©

LONG_MIN  long1 3 GEion ©

ULONG_MAX  unsigned longl 3 Giw?z ©

LLONG_MAX  long longt 3 ©8inz ©

LLONG_MIN long long1 3 @iwn ©

ULLONG_MAX unsignd long long 1 3 @i ? &

ULLONG_MIN unsigned long long1 3 @iwn 6
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FLT_MANT_DIG float1 3 9P "Qy Q
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FLT DIG float 1 3 BONOOQEY Qe " =

FLT_MIN_10 EXPV ®=3 & QQE @ifloat 1 3 6 "Y' Qdiwon &e @ 10wz

FLT_MAX_10 EXPV ®3 & @ QE Gifloat 1 3 B "Y'QuEiwz 6 @ 10wz
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FLT_MAX float 1 3* "QbEiwz &
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/* defines.c - /1 linmit.h = float.h A h @MW ¥
#include <stdio.h>
#include <limits.h>
#include <float.h>
int main (void)
{
printf ("Some number inmits for this system: \n");
printf ("Biggest int: %d \n",INT_MAX);
printf ("Smallest unsigned long: %lld \n",LLONG_MIN);
printf ("One byte =%d bits on this system \n",CHAR_BIT);
printf ("Largest double: %e \n",DBL_MAX);
printf ("Smallest normal float: %e \n",FLT_MIN);
printf ("Float precistion = %d digits \n", FLT_DIG);
printf ("Float epsilon = %e \n",FLT_EPSILON);
getchar();

return O;

i 1" e
.

Some number linmits for this system:

Biggest int: 2147483647

Smallest unsigned long: -9223372036854775808
One byte = 8 bits on this system

Largest double: 1.797693e+308

Smallest normal float: 1.175494e-038

Float precistion = 6 digits

Float epsilon = 1.192093e-007
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[* printfout.c - A Q "y *
#include <stdio.h>
#define Pl 3.141593
int main (void)
{
int number = 5;
float expresso = 13.5;
int cost =3100;
printf (" The %d CEOs drank %f cups of expresso. \n",number,expresso);
printf ("The value of piis %f \n",Pl);
printf ("Farewell thou art too dear for my possessing, \n");
printf ("%c %d \n",'$',2*cost);
getchar();

return O;



The 5 CEOs drank 13.500000 cups of expresso.
The value of piis 3.141593
Farewell thou art too dear for my possessing,

$ 6200

@i T printfe ¢ @31 | A

printf (Control - string, item1,item2...);
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printf ("The %d CEOs drank %f cups of expresso.\n",number,expresso);
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printf ("T he value of piis %f \n",Pl);

AE® A&~ 1 oI NW PI

2

i EYyYyoe~ bY@ AAL | a @iz Uy
1h g M GE

T Q



j 6 Ni EYwme m  aAmsA 0 A A Q7 N6 A9

o 97 t! W ow 'ej 0 T @ By

printf ("The score was squids %d 1 slugs %d \n",scorel);
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printf ("Farewell thou art too dear for my possessing \n");

printf (%c %d \n",'$',2 * cost);
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pc=2*6;
printf ("only %d%% of sally's gribbles were edible. \n",ps);



only 12% of sally's gribbles were edible.
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[*width.c — E 4 Ky *
#include <stdio.h>
#define PAGES 931

int main (void)

{
printf ("*%d* \n",PAGES);



printf ("*%2d* \n",PAGES);
printf ("*%10d* \n",PAGES);
printf ("*% -10d*\n",PAGES);
getchar();

return O;

V2 Jo 47/& 4Aj a2 Q " H a@OEm™ 4K EAET AT NEg *
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*931*
*Q31*
*  931*
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E 3 TT 6T I CBT 1 b &da=6 LA, um 87 & mbEl

COMT A QT %2d EYZ F1 %10d  Nfi1 A® 10AMVT
WKEBIEJ1:2T pT Ne & 7AM = 3AQEI XhQE > QAE 4 Gl ¢
W A "1 %-10d ECF1 K 10AMT SE 31 %Obp -b "HQE®Rt 1
Bixoa - &al0uwor MABTi:AET L XAEATZEBsi | J' b
v © Ow PAGESE®| " " | a y ‘QEIQET b ME m G

Npr~ P ef A VWA X Y2z o 48@EN 2
Yy 2 o 4.8floats.cY 2
/lfloats.c -~ P e Q4T

#include <stdio.h>

int main (void)



const double RENT =3852.99; // @ constA | h ©LEW

printf ("*%f* \n",RENT);
printf ("*%e* \n",RENT);
printf ("*%4.2f* \n",RENT);
printf ("*%3.1f* \n",RENT);
printf ("*%10.3f* \n",RENT);
printf ("*%10.3e* \n",RENT);
printf ("*%+4.2f* \n",RENT);
printf ("*%010.2f* \n",RENT);
getchar();

return O;
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[*flags.c — PT A %O@EET ~ & ¥
#include <stdio.h>
int main (voic)
{
printf ("%x %X 5#x \n",31,31,31);
printf ("**%d**% d**% d**  \n",42,42,-42);
printf ("**%5d**%5.3d**%05d**%05.3d** \n",6,6,6,6);
getchar();

return O;
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Il stmgs.c - EY m@ Ap
#include <stdio.h.
#define BLURB "Authentic imitation”
int main (void)
{
printf ("/%2s/ \n",BLURB);
printf ("/%24s/ \n",BLURB);
printf ("/%24.5s/ \n",BLURB);
printf ("/% -24.5s/\n",BLURB);
getchar();

return O;



/Authentic imitation/

| Authentic imitation/
/ Authe/
/Authe /
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The NAME family just may be $XXX.XX dolbuarw richer!

I NAME= XXX XX'h * ¥ 2 A @By € %b  name[40]= cashl Awé ]

TA|biox

printf ("The %s family just may be $%.2f richer \n",name,cash);

444 Q " YO



6 Cm N i Q "mYe E"HéeUp V a@l f AGQO Q&
MW" EYe AEYWIQ@¥:T "~ abi1 QE 76l &YeAl {17
% 01001100.%d Q " Y Ne ™M&EY 7= 6 XI ~& 76 %x Q "H
a i9e 01001100 Q& " Ju ~ @ " | 4c %c'H a WO Qb EN
L

p

b "Qbe conversionl ' T hVl Mt + wE!{YP 1T "Qu BOSM

s& QO "h i8f° "X %dYwo HI h @6 &  QQa

"1 XEM, [ B

1jw @ Q

T+t1z2 £ Q " m & muEEd oy 3w W' i "1 O eebi
b yém AintdzO1 ! @AE %d%x & %ot A® PR "y 3Bhéwm

A~

Aintd1 3961 ECkk 08 6j ad ~@A a2~ | O Q& %f %e
& %gr ~ doubled 3 GO

b Q "mizjw hO 6i YAAT" jw hw P
p{ W @ h F A@Y 2z o 411w, T QQUT g7 Aj W bE
T e

i 2 Jo 4.1lintconv.c Y 2

[*intconv.c - Pj w GQQ Q%
#include <stdio.h>

#define PAGES 336

#define WORDS 65618

int main (void)

{



short num = PASES;

short mnum = -PASES;

printf ("num as short and unsigned short : %hd %hu \n",num,num);

printf (" -num as short and unsinged short : %hd % hu \n",mnum,mnum);

printf ("num as int and char: %d %c \n",num,num);

printf ("WORDS as int,short,and char: %d %hd %c \n",WORDS,WORDSWORDS);
getchar();

return O;

GC@M A F1 biT J°

num as short and unsigned short : 336 336
-num as short and unsinged short : -336 65200
num as int and char: 336 P

WORDS as int,short,and char: 65618 82 R
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[*floatcnv.e —j w B e Q Q¥
#include <stdio.h>
int main (void)
{
float n1 = 3.0;
double n2 = 3.0;
long n3 = 2000000000;
long n4 = 1234567890;



printf ("%.le %.le %.le %.le \n",n1,n2,n3,n4);
printf ("%Id %Id \n",n3,n4);

printf ("%Ild %ld %ld %Id \n",n1,n2,n3,n4);
getchar();

return O;
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printf ("%Ild %Ild %ld %Id \n",n1,n2,n3,n4);
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/[* protval.c - A X printfe {° Q@ + & ¥

#include <stdio.h>
int main (void)
{

int bph2o = 212;

int rv;

v = printf ("%d F is water's boiling point. \n",bph20);
printf ("T he printf() Function printfed %d characters. \n", v);
getchar();

return O;

b1 X
212 F is water's boiling point.

The printf() Fun ction printfed 32 characters.
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printf (T he printf() function printed %d charactes. \n",rv);
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printf ("The printf() Function printfed %d characters. \n", rv);
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/* longstrg.c - & M GE Y w ¥/

#include <stdio.h>



int main (void)

{
printf ("Here's one way to printf a");
printf ("long string. \n");
printf ("Here's the another way to printf a \ long string.\n");
printf ("Here's the newest way to printf a""long string \n");
getchar();

return O;

Here's one way to printf along string.
Here's the another way to printf a long string.

Here's the newest way to printf a long string

A| 1T A1 r A printfe T B8+ mEMBEM AEY =0Q@ \nEYJ 1 A
@Y% AEYWJ v AEY W

Al 2T 1 rad I Neg /= AT d M 6 A& RWi @i
D | XhpEYmajhyeoQ EY To' 86T pi AN EY
L 0 UM A ~x @wt AD b A - I %sb 4 5

AMT I w B5AMT hwdadEY wmiE

Al 3 TEYw i@A|1 ET ANSICE®BAA| b'p AT 2ANA 7
GEIE Y a © D AT £ ANA 1 GEY WML 0hT e kKT M EYS
WCh™H 4TEA AEY WIS Nt AQQ@i s 1&AT Va Gy

l



P A® PA|/.\|éZ PEYwmng Y9 A®o ©MT X b youngb b loversh

w & o youngloversb 1 H4 T p youngb b loversb 6 T b young loversb

4.45 Ar scanfe C

XNptré&acCx . ~ i~ i scankl” Q C" Qve~ r~ A I QI
scanfe Z 1 Ta @Wr @ A1+ mE! @ nR Y] AGQQ Ef 1 x ~
GH o 1+ m P 1 G0 EYXE% QE= %e %b 1 Edy 33Q0Q
2004H1 & VEY 200 05 4 b' y'HECEUE AQOG EYwmi vy
d%N 20 "H AEYwm AEYs "QaQ61 6 T scanfe ¢ AYGT AR E
H JVEEY m QERNEAX QQ {eQu EY> C®EYw ET

printfe 8% "HA1 @ 8 HQQ { eQ EY= CHEIm Q8 pRW T -

printfte ¢ ~ 1 scanfe L AT i EY Wz v'Q i EYwWY 3N
QEf A 3 @n TpvQ@ A printfe ° QF v &1 W = Al
a scanfe {° QAT Yo w @Y x @i A Qj oMY Oy M
- | E H PUD , X

b Ascankt I n Offe MO w 41308601 pw ®e 1
i A &
b Ascank L 'H AEY i AEYQia1 | /A &

Y2 Jo 4150, A" Y21 " P

V2 Jo 415inputcy 2



[*input.c — Kyl 1 A& &*
#include <stdio.h>
int main (void)
{
int age;
float assets;

char pet [30];

printf ("Enter your ,assets,and favorite pet. \n");

scanf ("%d %f", &age,&assets); /I %/ g &
scanf ("%s",pet); /I M char Q4 j Fr &

printf (" %d $%.2f %s \n", age,assets,pet);
getchar();
getchar();

return O;

i T AT R & ey
Enter your ,assets,and favorite pet.
38
92360.88
1llama

38 $92360.88 11ama

scanfe Z° QAT MT € Q 1+ 1= MfF Zr" hO "H A & AEA4
EOK™H "Q " mEa  w 1 X ECe M Fyac o g
&

Va1 O @ 5 UV E pBA BV e s N 3 AQ



YoM &da Yy Gy 87 %c "1 o0& AEYT W
h n AEY 8CE®d hWw A3

scanfe £° QAT B8 Q " ¥ sbprintfe { AT & VHR a3

2

9 A~

EYIED

085N

Ri:

printte ¢ "H %f1 %e | %EI %g = %G a Hi:: float1 3 = doubled 31 G

scanfe { E "HE C 1272 float1 31 G 172 double1 3 H 9 &t |1
7 C99% A @3 Q7

46 ANSICa scanfk ¢ @& "Q " A

%c "H 4 AEN

%d H 3 & A®IN'  QQ

%el %fi %gl %a H & Aq eQe %ail C99% {

%El %FI %Gl %A "H Ju & A e Qe %AT C99% (

%i H Y & A®INt - QQ
%0 "H 3 & A®IN3  QQ

%p H a AY € Agx

v

4.6



%s "H ¥ &4 AEY W1 3B kevw A MW EYAmRAD X
hyo
i AW EN @i EN

%U "H Ju & AfRinNt T QQ

%X %X H Y & A®NJL QQ

A ap 46A® Q "YAaA M Y N Y, XNp~ N3 QEYe
b'p A "Yg&Er»AW Y1 YEC, XB 2Z mp 474,

4.7 scanfe Z % QN o

n A Y ©

ro-a

* «0 Bg v WAGIRE ° T " a&X Y%dy

digite st wz EaKyxp w2z E4Kyda v AM EY Hej 14
AXAl - (yBM 3 @ n " aex b %10sb

hh "H'Q'Q A signed char & unsigned char

" &)X b %hhdb b %hhub

Il "HQ'Q A longlong & a unsigned long long £ ¢99C



" e p %ldb p llub

S — ho 16 L

D %hdb = b %hib Y™ ©6heélp A shortint A 0 %hob 1 b %hxb =
D %hub Y ~ 6Nheélp A unsignedshortinta 0 %ldb = b %lib
"Y° 6éhéUp

A longa D %leb b %fb = b %igh Y™ 6@ doube1 3 Y N L
ea I m

e f= g AT Y 6@ bngdouble1 3649 b
d it 03 XY int1 31 & el f= g"Y" float1 3

LIl

!
o
i

*hbaAT @I Q "YEMEr % ¢+ 1 Gh P 3717 P:6 =3
X7 @Bk 63 ik Yy AMHE0 e ebMdi dG THQQ eDkZ n
hoQQ + wm W3 T "Hscanfe ¢ = Ab Y2 wé Tl NAQQUE v /EéAAl
AQECEj W P~ mAlE: &

f kscanfe ¢ @ y~ 3

6C H4s VY scaneZ Oy n X dhamAm~ A%d "Y7 n

AQQ scant ° QADY%K n A VEV I E W EYeMf o
s Y7 7 A MY v+ wE g n ATQQI AQ scank Z QQa
AQEEY&a AYNege+da-L b'EANR AQEG AINI y
5 3ée ni AEYr b iir @WEYT AQEI E3& AQE! X
i AEY 6 “1scanfel YA n=3&EY° E = A QEGE
i b A QE®WEYIESE.J 1T  QQEP  scank { "H

A QEEY®t 1 8 YP EYZi KAD n JH ENx ®
Awi A QEEYAD o1 scanfel VE n GWQEG ZQ61 XN

6& “Yh @iy A

X

g

E
X

JTI¢
o (@}
T



b a/A& EaKy1 wyscane ZpEaJPaapM
WX B AL 4B

AM ENT ¢7 @

b*vM A M EYjT QEI Nhat Ky
Hscank ( hyp

N “Yh ©Eiy

6%b 1T Aa
I X' HAs daj 17 Kyl &t
n JVHIL Edp Al

AQE 0
= & Hy MGe
AAD b'YZ2AEQ %d

U
LY ZT K

"YiscanE L - CJ h

AAes i AT ahi b &/ V&L
A " YGiscanfeZ B1 ANSIC 9" "QpMv A, G@sAYyB n =
AT THQE “Y n umAr %doiy’ ~ a 3 @in. g scank 7 O
hH" A GEEY ~ AQE o &bt %x Y 0 scanfe "JU

QE a’ f> A" F e d scanfe n'QeYQ Q| & e-notationl 1

A@p Q| e p-notationZ
b At %s "Y1 wv EY Qv BAGEY T 1 PG "AQ scanfe
M EYTT M A M EY 1t o 38WK W EY e BA®

Vi = 6YP  %sAscanel n AD 1| CBi

Y GEIE Y

I Aj YoV E
m b ETEaKyiscanfe pEs @l P&dav AM EYJ yB
Ea Ky £t scane {1 A %s "1 nArdx AEDG VB @9 ey
E scanfe  "HEY @R A“Yh &Q4 A Hi E] 1 4 By \Oy A& Q4 sy Gy

kdmwm ACEY K

b FEr %c "Y1 YARE JE

T WM©E b i
11 Nh"H AMT &aQ

i A UYh By

Mi & Q L j h W OE
h

i 1 scank Zj T CoWr @ 3 Q
I Q@

nAGj aBQ013¢1 HI
> getse { EC”

A

©w ET+ mETY EnreE
C ®OTH A I Qi &b getchare T 1
7% Gy Nt ab n AEYAQ ny9 M GEEN
GCNpv 7¥pCi = BYx " " b1 M 11V D EY w=>EY w
>V 13Y¥pd&T /. ba T R Q a Hi b
Q EYAGEY M1 & ! @A scanfe

b
AQQ n



~

1f AEY ma BIW E N

scanfe ° Qb1 A"H” EY ®Opi AEY kA "M EY ev @ EN
h m JVEI w W @bt b*'nY HNOpbBA “"Ye X

scanfe "%d,%d",&n,&m C ;

scanfe Z° QN T GraN 33 AQEL 3V A NI W 3 AQE

COT 1ao 4i T Vb ATQQY

881 121

t wpT AEY WA NJ p %do 1| AQado J 8 3 A N j
t W scank C h QQ  BMT EY 1 A@Qp <IH!' @p No  AM
Faa v BT i Wby JAAD @i py

881 121

o]
Q

88

121

T AEY A BMT YP~ i A UV e Wy MMT  eebi @ By
rQ

scanfe "%d, %d",&n,&m C ;

NhipPri® " yM A



881 121
881 121

881 121

FYi oy MMT b@EmROY O = GMT @& e U

" %c QU G " Y hs L Ve ®MT I 'AQ scank "%d%d",&n,&m {
/b scanfe "%d %d",&n,&m T 9 i a2 @8 M3 %cf 1 b7 AEY wmal T
AMT Mz PN, @a@bi b' pf AEY wa %ce & AMf 1y scanf

elh M A W EYJ BT I U rp scanfe "%c"&ch); np VA
GM AEY 1 G scank "%c"&chl, n = @M A M EY

s fscanfe @i + 6

scanfe Z° Q + &1 U T GAQ b*E=® nyM ~eEEQQ
AQEGas Vb A QEEYWHB8hatl MU Ciscanfelh + 60
EEs{ pajJPbeendoffled Hi E + EOR EOF & T p stdio.ha h
QWi e® | #define "Yn,"H EOFEO h 6w-1 S8 CNhpVv 6Yp Ci
BxIi Vba paTJPbI Xp WMo scanfe @ + & paehf
B> whie 8o ! QA& scanfel + O sd=Injw @ 3

4.4.6 printf() = scanf C @i* N

printfe £ = scankE Z ' @& *N Y1 N "y @Y e Hi ECEAA
j a X1 6C™ " *M A1 wmprintfe YKy



vy

3hajy X'YhEaKyt1 afT 0UQ Yzr "Yh 61 wal! @pEaKy

At *ThQEr ~ ~ i Hi aCo &1 AV Y 0
TKy BT b Q 37 %di wyvQ AZ YU
AdEi®d H O @>{e6& A1 YAdysE4KY

81 " ATAsnaEn" " e

i 2 Jo 4.16vawid.c Y 2

[*varwid.c - &£t | wKy G | Eg ¥

#include <stdio.h>

int main (void)

{
unsigned width, precision;
int number = 256;

double weight = 242.5;

printf (" What field width? \n");

scanf ("%d", &width);

printf ("The number is: %*d: \n", width,number);
printf ("Now enter a width and a precision :\n");
scanf ("%d %d",&width, &precision);

printf (" weignt = %**f \n",width,precision,weight);
getchar();

getchar();

return O;



v  width @& Ea Kyt & number61 & M@QE + wp " YA *p d
| AQ@p printfe Z @iv Q@ A width p number’ a | width =
precisionH2 G©&~ & m weight f Az U i T A ~ ey

What field width?

6

The numberis: 256:

Now enter a width and a precision :
83

weignt = 242.500

n LM A WV 61 AQ 68T AT BWE1KY medint M- AV Y
“"Ea4KYy®8 XhnQeL ®3gQE " T 51 AY2Zi Qweight G
6r " h Pw @©ié

p scanfe L A *w& At j 2 BION E'HE®OR %= "Y1 E%e H EA
QR T z@w Vv VY2 |o 417087 AT @

V2 Jo 4.17 skip2.cy 2
/* skip2.c --- JVET b AQQ
#include <stdio.h>
int main (void)

{

int n;

printf ("Please enter three integers : \n");

scanf ("%*d %*d %d",&n);



printf ("the last integer was %d \n",n);
getchar();
getchar();

return O;

Y2 Joa 4174 @iscank U p"Y" X BAQQ XHMs AQQe A n
T

T A T ey

Please enter three integers :
2004 2005 2006

the last integer was 2006

°

by 2 n AdTAes A=z higl & a1 @EQQ@r @ n° T
vy IiN Wor

4.47 printf B | &~

RYEmM T QQHI "YhdhEaKyT E®T B + wm  @E 4 Ky T QF &
Kyt AQb'a ° aAGEQEznnj 2 wi® B

l
printf ("%d %d %d \n",vall,val2,val3);

b "E A1 Nh , vTj B &bt ' 171 = by

12 234 1222
4 5 23



22334 2322 10001

€ Shw @®WOpRAprintf Be A1~ wpl

b “Yh zzmidhEaKYy A . "1Q Jo bt A7 B

printf ("%9d %9d %9d \n",vall,val2,val3);

Fl1bi Jd" g
12 234 1222
4 5 23

22334 2322 10001

PBA Q "e O AW EN
EGQ h i AQE
h Em, 7

1! @ 30& AQEo, " st @EJ
T+ Wi EYWwaBW EYeyoMT T

D A 1 b' BA 3§33 AQEI y'Yh A= QQETC
"nN@EIKY Wh% AX e QEGKY* T 1 an |j

o

&b 1 B x

QEKYya naa
0

printf ("Count Beppo ran %.2f miles in 3 hours. \n",distance)’

Count Beppo ran 10.22 miles in 3 bours

"H Q "7 om%102fhf i1 bi J°



Count Beppo ran  10.22 miles in 3 bours

450 NO

Caichari 3 ~ AEN ~ AEY 2 1 CAT EYw EY wo N
AT EYW | TAEYT 2ANO [ | &bp Goodluck myfrendb 3 @
REYQiAaéU AEYwmI EY Q4+ néa ©E 44 EYwmin T

Y

& AEYW T &0 AEY Q4al @ A MWMEYDB EN

DY 2A WBAT #define &T v E const@Y NTh QEW I NW /&Y

2 née” AL T TSR AT s N

% C > . "Qscanfe = printfe { A1 AJMAI1 p AVAIAoO
AN AV QAE 3 " Y e Av Qa6 v %b 1 "H b %d = G
int "1 A{e& w hfi~ 0Bl o0 nO yI @ 3 7Y @Q
"5 43 QELMVQ W b* T scanfe 21 h éNw ®1isX
VY e &

M EYe Y1 MT=Q YZM:scanE{bM N 1 "¢ wn  GEHA
T “p %cWAeE ni AEYZivip n H scanfe C h W
T EYT M A MW EYS H9ER T nEYLTT M EYIL G



p

AjYT*p n@d z@EY GaCa b ~ Aj a @iscanfe { VW
n a@ J 1 Nhetl Ky 3 ®dbi 3 ¥

-13045e12 #0

X1 3haCAr %d WA scanfe L h ns AEY € -137 Xpn'Qel vy Bi

NnQeAwi A JEY o1 scanfe {NhHEY 27 -13 Q& ZoWQ
NO1 XN e lp” %Qéw al

i "1 3h scanfe 2 @ %f¥wWA n  a@ | ENh nEY -1345e121 Xp
#INI yBI NEAwWI A JVEY + o EHEY 2° -13.45el12 Q& Z
H P QB XN H6éUp” %] 3w

Sh scanfe { @ %s WA n” a @ | ENh n -1845E12# Xp Vi Iy
Bi N AV Ami A VEY t9EN'H 10AEYSENTH 84~ %
EYQiat XpdP 1 AVEY

w1 Oh scanfe L 1 %c " Y n a@ | ENh nXéuvw AEY !
R T AMT

4.6 OJ

° 2

EYymi Aw Aby/ N@ v4° EY p Cat QUEYJ @ V4" EYTh
AEY miI MEY ST ASCII W O®EY EYwm! QUpEY Q44
AQ48T W+ “AFMI XhA® P “AafFJEH 3z ~ a LT

name X @ 30A chard1 3 G ¥ BiQ4 1 A1 @i B x

char name[30] Y



3° Zn G Ml 8 ODQAEY meYOMEY T

EYy W 1 2 ANA 1 @EY w ~ b Thisis an example of a stringb

srtlene Z° Qe p stringh” 8T AhO7! @122 & AEY Wi yejy
0 % i @MEY

scanfe Z° Qp AT %s " Y HI ! @i ny9 AD GEY W

strecpye ° Qi I AEY mBIQQ ab X

char a[10]1 b[10]y

strcpye at bl Y

C InvpgoM Y2z2add I NH"Yme [ NHYpn@ #YNADZ 1 X
Y 2ADA e EGC #nclude "Yio&A n+ "0 Adt@nklr ata
“Yru'Ap Gy U AEr #define Yy @, &7 T W 1 CBT m W @y N

limits.h = float.h™ & T A& #define

he . " Qe {ei13@RARGEW O QA& constl Y1 . &
I N W



~

printfte = scanfe ° QM 3= | wéAr 1HY a A1 AY 978
Q CNGH EY W YN ndaémeEQO w32 Q QA
Q "hri . @ YEa4KYyI1 nQeyJdsE4gGup

474 &

1. WN Y2 Jo 41 Hi p & 3 EHi VAEE E5d - A

-

KyomKypo

Y xY2jT*WTA M Ascanfed BET Rawk a=@ JaowEd: a
wid 9t e Yp VoA NbeAdA NET gi17 e@® J®EERHeUYnNns A

Ei A scanfe { By VAWY HI Exi K J G5 AADI 0
g Ha©id Amy [ n h /E scanfe T D A 1 b*amMde 9
N, 4 Lashal44 ~©8e Z1 Y 2h/Ar 144Amaey 1 + aipYyz o

y e 1440

29h71 " Y%A @ T« AHQYZ® ° EC@EwmJ " T Kyd
a. printf("He sold the painting for $%2.2f. \n",2.345e2);
b. printf("%c%c%c \n",'H',105,'\41");
c. #define Q "His Hamlet was funny without being vulgar”
printf ("%s \nhas %d character.\n",Q,strlen(Q));

d. printf ("Is %2.2e the same as %2.2f? \n",1201.0,1201.0);



Y X a. He sold the painting for $234.50.
b.HIn ¢ FYxvy AEYT AEYW (M7 AEYT* Av
ar ©h vs AEYT A3  EYW GEASCI "~
c. His Hamlet was funny without being vulgar
has 41 character.

d. Is 1.20e+003 the same as 1201.00?

3.p 2cAl Z uPT OQEEY h QApeANa 0

\ c. #define Q "His Hamlet was funny without being vulgar"

printf ("%s \nhas %d character.\n",Q,strlen(Q));

N @wx printf ("\"%s\" nhas %d character.\n",Q,strlen(Q)); & &1 \")

define B booboo
define X 10
main (int)
{
int age;

char name;

printf ( "please enter your first name".);
scanf ("%s",name);

printf ("All right, %c,what's your age? \n,name);

QQ



scanf ("%f",age);
Xp = age + X:
printf ("That's a %s! Y ou must be at least %d. \n",B,xp);

rerun O;

VX *. mZ by

~ ro-w

#include <stdio.h> /* j 6 Yy 9 T O aT1 *
#define B "booboo” /* |17 #3> 2 AN ¥
#define X 10 A

int main (void)  /* j T maine int *

{

int age,xp; s ¢ A ¥

charname[40]; /* EYm 1 AQ4 ¥

printf ("Please entery our first name.\n");

scanf ("%s",name);

printf ("All right, %s,what's your age? \n".name); /* € MEY i Z
scanf ("%d",&age); F  w T mQQZm %dN
Xp = age + X;

printf ("that's a %s! Y ou must be at least %d .\n",B,xp);
getchar();

getchar();

return0; /* j 1 rerun*/

& N

T %s ¥

*



#define BOOK "war and peace”
int main (void)

{
float cost = 12.99;

float prercent = 80.0;

A printte ¢ B 1 AT BOOKcost prercent& mi ~ 7k X

This copy of "war and peace" sells for $12.99.
Thatis 80% of list.

Yy x  printf (" This copy of \"%s\" sells for $%0.2f. \n ",BOOK,cost);

printf (" That is %0.0f%% of list\n",prercent);

6.AahAT Ky Q "1 émMi R ko

a. AE4KyWw:QEy QEmr = QQ

b. Aéb 8A Ea Ky w4 JU = QQ
c. Aéb 233.346E4 KV ® 106 e Q

d Aéb 233e+002 E4 Ky m 126 ¢ Q

e AE1KYywm30 t M GEEY m



V a %d

b %4X
Cc %10.3f
d %12.2e

e %-30s

7.6hAET v A Q " EMiIiTR kb

v

a. AE3d Ky m 1588 unsigned long 'QQ

b. Aéb Ox8a E4 Ky wm 4G JU = Q

c. Aéb 233E+021 E4 Ky w12t M @& e Q
d. Aéb +232.346 E4 Ky i 106 ¢ Q

e. AEY W% BAEYI Ea Ky w8EY

\

a. %15l
b. %#4x
c. %-12.2e
d. %+10.3f
e %8.8s

8.ahErT Ky Q "t Emi° R ko



a AE1KYWR6wWNG® 4y QE Gain 0Q

b. AEaKypvQ anNhoEl QQ

c. AE4KY m® 208HE

d. Aéb +3.131 E4 Ky W2 QEAEY AQEY eQ

e. AEY wGE

a. %6.4d
b. %*o
c. %2c
d. %+0.2f

e %-7.5s

SAEY 1 EaKym7.t M

9. Wi~ WA 3 & AMT

AdY  a Q4

a. 101

b. 22.32 8.34E-09
c. linguini

d. catch 22

e. catch 22 H1 catcht

V' a int num;

scanf("%d",&num);

n o scanfe ¢

B | X¢6" BAT

08J



b. float num1,nmu2;

scanf("%f %f", &num1,&num?2);

c. char string[40];

scanf("%s",string);
d char string[40];
int num;

scanf ("%s %d",stting, &num);

e. int num;

scanf ("%s %d",action,&num);

10. Kyi M~ EN

Y XM EYYOMT 1 Y3060 Y CATW EYT RA
e A M EYS T @ Ry

11.5 aypgY2Aa& KkONThY ON @i A|! Qybd

#define C {

#define C }

¥ N [ scanf



Y X hatl ®Q Hj x@f « I nvjin owRkKONZ WQED 0N |
u PKONj Z ®QaOoN

48 AY 14O

1.A° AY2Z1 0 R E=2d-1to@peEId_-bwBF Aé¢m

VX

#include <stdio.h>

int permute (void); o hew Q p~ &7 7 o &
N %/

char name1[40],name2[40],x[40]; /* h ©®sAxvpw BEY WQ41 xwl Q

w ¥

int premute (void) F he AIraq Q¥

{



strepy(x,namel); I*strcpy WEY W T'Q QFYD Qo 2 ¥
strcpy(namel,name2);

strcpy(name2,x);

int main (void)
{
printf (" va %id - \n");
scanf ("%s%s",namel,name?2); [*scanf Q4 n Aj T O & "V ¥
printf (" & %id T %s %s \n",namel,name?2);
premute();

printf (" I' Qo & Gid - w % %s %s \n", namel,name2);

getchar();
getchar();

return O;

22A7 AYZz1 0 R EI XE @i HA Y

a.He EAp 2 AN aAEm, T
b.pKYy W 20AEY @E 4 7¢ me Et Xh QAEa Ap AN g
c.pKYywm20AEY GEEY @it ME me E1 QAE3 Apgp AN g

d.p%® EK 2AEY WiEl JEME

VX



#include <stdio.h>

int main (void)

{

char name1[40] ; * hOEY nQ4 ¥

int d;

printf(" va &k \n");

scanf("%s",namel);

printf ("\"%s\" \n",namel); /*a?*

printf (" \"%20s\" \n",namel); /*b*/

printf (" \"% -20s\" \n",namel); /* c*/

d = strien(name); I AEr ostlen” Q VEYWMAEY G Yy ¥
printf ("%*s",d+3,namel); /* }YX %*s > d+3 namel Gig © *
getchar();

getchar();

return O;

3A7 AY21 n A{eQ Xh X@nQe Qit @Y Q¢
M © . /Er @i @AY

a. The input is 21.3 or 2.1e+001

b. The input is + 21.290 or 2.219E+001

VX

#include <stdio.h>



int main (void)

{

float num1;

printf (" VA eQ\nY);

scanf ("%f",&numl);

printf(" The input is %0 .1f or %0.1e \n",num1,num1l);
printf(" The input is %+0.3f of %0.3E \n",num1,num1l);
getchar();

getchar();

return O;

447 AYz1 0 1 @Yl wmpyl=eEIta@bi @Al " ¥

Dabney, you are 6.208 feet talll

VX

#include <stdio.h>
int main (void)

{

char name[40];

float tall;

printf (" VA 08 ebl ¢=%e E\n);

scanf ( "%f %s",&tall,name);



printf (" %s a i  m %0.3f(2 | Z \n",name,tal);
getchar();

getchar();

return O;

Ar float1 31 A /Aw N b'aYvYYi '@ 0@TrAmDbDYy 3 1 X

QA WD Y |

Y X
#include <stdio.h>
int main (void)

{

char name[40];

float tall;

printf (" VA 08 eTANL=e E\nY;

scanf ( "%f %s",& tal,name);

printf (" %s & 983 % %0.3f(N ¢ \n",name,tall100);
getchar();

getchar();

return O;
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Melissa Honeybee

7 8
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Melissa Honeybee

7 8

VX

#include <stdio.h>
int main (void)
{

char fa_name[40],fi name[40]; /* h© EY mQ4 *

int fa_len,fi_len; ¥ he EYm ywEQQw ¥
fa_len = 0; ¥ Dp yw ¥
fi_len=0;

printf (" Please input your family name \n");
scanf ("%s" fa_name); Q4N A &%
printf (" Please input your first name \n");

scanf ("%s",fi_name);

fa_len = strlen(fa_name); I*stlen €7° Q @ VEYw®W y ¥
fi_len = strlen(fi_name);

printf ("%s %s \n",fa_name,fi_ name);

printf ("%*d %*d \n"fa_len,fa_len/fi _lenfi_len);// " Y A *o @®iv'Q &p

v/

printf ("%s %s \n",fa_name,fi_ name);



printf ("%d %*d \n"fa_len,fa_len,fi_len);
getchar();
getchar();

return O;

6. AYZ1 J A6m®10/3.0 d%idoubled1 3w = AOm 10/3.00E
float1 3 w YAw @O “sKyx KpnQeL &1~ 4AQE1 Kpn
Qet O © 12AQEI P KpnQelL &1 " 16AQE aH Y2y
foatth & T1 X1~ FLT_DIG> DBL DIGHE® 10/3.0G ~6mn RP6 7 yo

¥ X

#include <stdio.h>

#include <foath > /* h® flbat™ & T 3 "HY i 1~ DBL DIQ FLT _DIG
*/

int main (void)

{
double do_num =1.0/3.0;

float fl_num = 1.0/3.0;

printf ("L & 4y X %0.4f %0.4f \n",do_num,fl_num);

printf ("t & 12§ X %015.2f %015.2f \n",do_num,fl num); /* T ~ nQet

e®Ool ~ td12y b nQea” yo 1 | b 015621 " GEi12y +
nQe+nQe” y =154 ¥

printf ("L © 164 X %0.16f %0.16f \n",do_num,fl num);

printf ("DBL_DIG:%f \n",DBL_DIG);



printf ("FLT_DIG:%f \n",FLT_DIG);

getchar();

return 0O;

}
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#include <s tdio.h>

#define KILOMETRE 1.609 /* FYxT1 iNW @ jrhe13 Q1 =
N */

#define LITRE 3.785
int main (void)

{
float fl_mile,fl gal;

float fl_kilfl_lit;

fl_mile = O;

fl gal=0;

printf (" @D \nY);

scanf ("%f",&fl_mile);
printf (" Vb nz @ Q\nY);

scanf ("%f",&fl_gal);



printf" 1T I @ %0.1f 5 \n".fl_mile/fl_gal);
fl_kil= fl_ mile * KILOMET RE;

fl_lit = fl_gal* LITRE;

printf(* " ! @ %0.1f 3 \n" fl_kilfl_lit);
getchar();

getchar();

return O;
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[* shoeslc - "H & G QmY | ¥

#include <stdio.h>

#define ADJUSST 7.64
#define SCALE 0.325



int main (void)
{
double shoe,foot;
shoe = 9.0;
foot = SCALE * shoe + ADJUSST;
printf ("Shoe size (men's) foot length \n");

printf ("%8.1f %12.2f inches \n",shoe,foot);

getchar();

return O;
}

T AE" Q=71 | o2 Y235 av g o (tad a71h|
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#include <stdio.h>



#define ADJUST 7.64
#define SCALE 0.325

int main (void)

{
double shoe,foot;
printf (" Shoe size(men's) foot length \n");
shoe=3.0;
while (shoe <18.5) //while T v AD
{
foot = SCALE * shoe + ADJUST;
printf ("%10.2f %15.2f inches \n",shoe,foot);
shoe = shoe + 1.0;
}
printf ("If the shoe fits,wear it. \n");
getchar();
return O;
}
bi X

Shoe size(men's) foot length

3.00 8.62 inches
4.00 8.94 inches
5.00 9.27 inches
6.00 9.59 inches
7.00 9.9 1 inches
8.00 10.24 inches

9.00 10.57 inches



10.00 10.89 inches

11.00 11.22 inches
12.00 11.54 inches
13.00 11.87 inches
14.00 12.19 inches
15.00 12.52 inches
16.00 12.84 inches
17.00 13.16 inches
18.00 13.49 inches

If the shoe fits,weatr it.
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[*gofc — n”" % 3 ¥
#include <stdio.h>
int main (void)

{

int jane,tarzan,cheeta;

cheeta = tarzan = jane = 68;
printf (" cheeta tarzanjane \n");

printf ("first round score %4d %8d %8d \n",cheeta,tarzan,jane);

getchar();
return O;
}
Y 2 Np Y 2 GEis 6lygs i Cc'@ .1 PE 67 xt
t i X janeé 6 68 t o tarxan& 6 681 wo cheetaé 6 68

AQ@ , J" biox

cheeta tarzan jane

first round score 68 68 68
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printf ("%d", 4 + 20);

NEMQ24aj T Em Ax 4+20

T B0e HAQYL!' @f v O @f W  A@ B

income = salary + bribes @

AV Xt AL @bAw O NECT 1w N A3 Aw

income

5.23
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i B N& 200.0 AN takehome X

takehome = 224.00 - 24.00y
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cm =2.54*inchy
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Yy 2 o 5.4 squarescV 2
/[* squares.c - f 1 20A QQUEMWA ¥/
#include <stdio.h>
int main (void)

{

int num =1;

while (num < 21)
{

printf ("%4d %6d \n",num,num*num);
num = num + 1;

}
getchar();

return O;
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/* wheat.c -- "Y'Qu *

#include <stdio.h>

#define SQUARES 64 /*; * i AT Q¥
#define CROP 1E15 /* @4 ~ fn f %

int main (void)

{

double current,total;

int count = 1;

printf ("square grains total );

printf ("Eraction of \n");

printf (* added grain ");

printf (* Us total \n");

total= current=1.0; // ADT A

printf ("%4d %13.2e %12.2e %12.2e \n", count,current,total,total /CROP);
while ( count < SQUARES)

{

count = count + 1;



current = 2.0 * current;
total = total + current;

printf ("%4d %13.2e %12.2e %12.2e \n",count,current,total, total CROP);

/*

printf (" That's all \n");

getchar();

return O;

bi X

square grains total Eraction of

© 00 N oo o b~ W N P

e e O o
o o b W N B O

added
1.00e+000
2.00e+000
4.00e+000
8.00e+000
1.60e+001
3.20e+001
6.40e+001
1.28e+002
2.56e+002
5.12e+002
1.02e+003
2.05e+003
4.10e+003

8.19%+00 3 1.64e+004

1.64e+004
3.28e+004

grain
1.00e+000
3.00e+000
7.00e+000
1.50e+001
3.10e+001
6.30e+001
1.27e+002
2.55e+002
5.11e+002
1.02e+003
2.05e+003
4.10e+003
8.19e+003

3.28e+004
6.55e+004

/*

i AAT G Qr N ¥

" AOQY

Us total

1.00e -015

3.00e -015
7.00e -015
1.50e -014
3.10e -014
6.30e -014
1.27e -013
2.55e-013
5.11e -013
1.02e -012
2.05e -012
4.09e -012
8.19e -012
1.64e -011
3.28e -011

6.55e -011



17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46

6.55e+004
1.31e+005
2.62e+005
5.24e+005
1.05e+006
2.10e+006
4.19e+006
8.39%+006
1.68e+007
3.36e+007
6.71e+007
1.34e+008
2.68e+008
5.37e+008
1.07e+009
2.15e+009
4.29e+009
8.59e+009
1.72e+010
3.44e+010
6.87e+010
1.37e+011
2.75e+011
5.50e+011
1.10e+012

2.20e+01 2 4.40e+012

4.40e+012
8.80e+012
1.76e+013
3.52e+013

1.31e+005
2.62e+005
5.24e+005
1.05e+006
2.10e+006
4.19e+006
8.39e+006
1.68e+007
3.36e+007
6.71e+007
1.34e+008
2.68e+008
5.37e+008
1.07e+009
2.15e+009
4.29e+009
8.59e+009
1.72e+010
3.44e+010
6.87e+010
1.37e+011
2.75e+011
5.50e+011
1.10e+012
2.20e+012

8.80e+012
1.76e+013
3.52e+013
7.04e+013

1.31e -010

2.62e -010
5.24e -010
1.05e -009
2.10e -009
4.19e -009
8.39e -009
1.68e -008
3.36e-008
6.71e -008
1.34e -007
2.68e -007
5.37e -007
1.07e -006
2.15e -006
4.29e -006
8.59e -006
1.72e -005
3.44e -005
6.87e-005
1.37e -004
2.75e -004
5.50e -004
1.10e -003
2.20e -003
4.40e -003
8.80e -003
1.76e -002
3.52e -002

7.04e -002



47 7.04e+013 1.41e+014
48 1.41e+014 2.81e+014
49 2.81e+014 5.63e+014
50 5.63e+014 1.13e+015
51 1.13e+015 2.25e+015
52 2.25e+015 4.50e+015
53 4.50e+015 9.01e+015
54 9.01e+015 1.80e+016
55 1.80e+016 3.60e+016
56 3.60e+016 7.21e+016
57 7.21e+016 1.44e+017
58 1.44e+017 2.88e+017
59 2.88e+017 5.76e+017
60 5.76e+017 1.15e+018
61 1.15e+018 2.31e+018
62 2.31e+018 4.61e+018
63 4.61e+018 9.22e+018
64 9.22e+018 1.84e+019
That's all

526 | Vix /
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1.41e -001
2.81e -001
5.63e -001

1.13e+000
2.25e+000
4.50e+000

9.01e+000

1.80e+001
3.60e+001
7.21e+001
1.44e+002
2.88e+002
5.76e+002
1.15e+003
2.31e+003
4.61e+003
9.22e+003

1.84e+004
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/*dvide.c ——- & CA” & | ¥

#include <stdi 0.h>

int main (void)

{
printf ("integer division : 5/4 is %d \n", 5/4);
printf ("integer division : 6/3 is %d \n", 6/3);
printf ("integer division : 7/4 is %d \n", 7/4);
printf (“floating division : 7./4. is %1.2f \n",7./4.);
printf ("mixed division : 7./4 is %1.2f \n",7./4);
getchar();

return O;

Y2 Jo56y0”° AofT13bmheaepr AQQREs A et 36
Cil % Kk 1 Es & ~Yigi* W iaz dff7 13
J"biyx

integer dvision : 5/4 is 1

integer division : 6/3 is 2



integer division : 7/4is 1
floating division : 7./4.is 1.75

mixed division : 7./4is 1.75

FY =0 HQQ | Vol th” B33 o QI af AG1 o” An
QR " EaMQQr{ceQ JT VvHi I T{eQ b it v i
T QQs { e A@A W NBAHAQ wa 7 @H 3 op MW i
Yy | Ve NQQ pwieQ

TA '@& ~“@WA|10” 1 Y 1 m:aw: e QuEipgz QQ Et
3 M:38a TYTi @ @ y-38 0wz QQRA| hd NTH #
VM o+ R4 38HT DY 4T VAT MDsBANTQ 1 VYW
D AobwE A|d N-38 Q& -3.p C9OQ@ 1 jahN 71| aiuA
| HT C99 oA p APHBAQZ'H-38 Q& -3

C9% e ©EC A" hNG PM 1 HGr " hAM: QQQ |bMm

QQ | ®WRop/ ne P HT EAx®@ Eda06h~ AaeD X
®0 A G yxEap A Ba AN CHN

8]

527 N Y Y X1

Qs

eibh X

butter = 25.0 + 60.0 *n/ SCALE



% | & AT | Vi AO| V= A | vV uA VhXaiof
25.0XT° 6000 t @7 nOQ@ @l 8501 @wo Né D&l 1 SCALE

do T %1 nO@60.01 & ©8J' T1i 2500 w0 Wr SCALEs =~ @& @
J'"6 T TH 20 6Cn nw601 SCALE®R 20 b A& P6M A
B Vi ANARM AA| & 2551 M~ AA| & 1925 CYz2o0h

T «MTH 21+ w Y2/, butter B8O 205.0.

IT+1"E RY"HAW 2 E I A@Q C wW:*"E 2z C
AN A VA UX 21 o d N AUXA ~ %A VY *up”
8N VA 10| |vewr |27 |7 @MX11 AQXE O
s | vV bt bA VI® a@UXANhAt Kyob' ECHp A'HA
QU hi QECp ® . N% 2°E EC M:2z A Q@ VY| 27 xt
Lggie = VYT A _ Gev  AQ i G Bax

butter = 25.0 + 60.0 *n/ SCALE

V. 2b 51A"x

5.1 N\ 2

60.0*n A @M A*a/ed nEOm 61 AQ 60.0%6 Gil * % 360.0

360.0/SCALE 1t a | A ®MT A *qa /SCALEEST 20J°' 180.0

25.0+180 Wa | A @M  A+d& @i w 205.0

bM 1t |p |e "E o6&l @iui T X



flour= ¢ 25.0+60.0*n ¢ / SCALED

wX E B koNyow@ © pkOoNg 1 VY WoE

ALXE O Vitoaoir |t koNgo ABT b%Ha® @oér

SCALE= Ad’

52007 KmBr W VYO g WEMsyo© L3’

¥ oosi

ao . o

5.27YY X 1 20 o

+€T F VYT xt ot

R

OBEA 6

x



°

FY" N@ibr | voj a@xar rNEsr | QG b% JT6 Y
VIbMABOHHAGQ JT @bt FYNmEL @ JTip |a
1L O@HAQs t 0 GFHA'Q

528 UX1=29 06 2

VY @EMXAw R A 0O 2 @8 @ 1 HT EXj " hA®
% 2 CoOi~ PR' hNGs t! " Ao 'O & i o B

y=6*12+5%20

EbA VY HBE AHAQH UXA4 R~ 06w 2 ebi 1207 *

y BIHAQwT + VY BEHAQL P QUXA0E h Q| VX /e Nl
WX1 h” M5 O|HAGjT 1| HA Oet bAQ| \ 6*12> 5+
20pT | Ve UWx1=@® hof HAO| Va zuAX C

N A O 9AhXG!1 T+m T 4 ™Op Y T1i® ~ 1jA1A%E
o AO| Vi A hupda 72+1001 A@M: ATy @@Di A O

jBoamEl & oHT QI TT xt L@ 2 i YP  X'E
ot @WO|dpoe! Ta=6d -~ 1 HI ®OK' T h w T JT | 71
22 Hop 2 "HA™Q@: VY &b p A 12/3*2 1 @ a yxXAm/ o *

VY Hip HA Q31 AQ@r xt L&, 12 AeeD A AN Vpw
4*20 8 b T xL t Vi1 J* NT 12/61 0o 2 59 OM a&fi1~ &
©7 p  @eDAl BA* VYj HR AHAQ AQI xt LGE M
EXj 7



§Ct ¢ GEeeDT i P .1 “Y2z o 57

Y2 o 57 ruescV 2

[* rules.c --W X1  ©8F */

#include <stdio.h>
int main (void)
{
int top,score;
top = score = - (2+5)*6+(4+3*(2+3));
printf (" top =%d \n",top);
getchar()

return O;
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top = scoe = -7*6+ € 4+3*5 (
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top=score = -7*6+ & 4+15(

b oax

top = score = -7 *6 +19

T 60QQ@ -7é& i G Ay

top = score = -42 +19

toarr | Vvie

top = score = -23
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5.3.1sizeof \ ¥ = size t1 3

PVM 3¥0 Q0> bat &~ ~ sizeof VY 4 i1 sizeof VY QE
DY + G'HAQWEEZ nepgp Cat 1AE  hO©wchar1 3A1 1M ©% n
P =St 1AE WI 841 HT AEY 1 /A& "2@E { HAQ @
T ADYy®IQOM ea®b Aw ®l1 da A413 b*ET Ad13eb
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Yy 2 o 58 sizeof.cy 2

[* sizeof.c /1 sizeof \ ¥ *

#include <stdio.h>
int main (void)
{
intn=0;
size_tintsize;
intsize = sizeof(int);
printf (" n=%d,nhas %zd bytes:all ints have %zd bytes. \n",n,sizeof n,intsize);
getchar();

return O;

C h sizeof + sze t1 3O T AQINTQQ1I 31 HEj T AAA1
3 rim No413eb int32tMZ a1 ETi Q% 13h6@E Cod A
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typedef double realy

Arealmd double®; e Npa' @Q¢®" A reald1 3 iy ¥

realdeal // AT * typedefh ©BH 3

A " Nh™ b real + y typedef B "Hrealh ©m double & © 1272 7

E"Hdeal 4w A double1 3 iy w% n1 COl a1v4! @A
typedef! /A size_tp ¥ 4 A A w unsigned int & unsigned long B2 © " Ea
AT size tHI A Hwh1 T a0MA B% 13 TMwe
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W1 =®dh N %zdit 8! @ ~ A1 %ud %l Mok

532 n¥W VY %

n¥ \ Y & modulus operator 7272 QQ \ VY Vv, 1T EL @QQs
Ef ©QQé ©ivQ abi 13%5e Ao M 13 @ 5n#b { Aé Ow 3
t w13 @5é 2XMm 3j M{ e QA& VYo NT o obE

v "1 a'it o om A VYT QeK/Er WigATuvi HT Eh i7 Ehrt
AW @ T w'ai Yzoly b1 3 &a*pAd™ A\ p&EH

51 Y2 RS A@BT N v T E Y 2MQY Q@ 3
oin wHA € o1 month%3¢ Xs1 J " Tem0 b T1 Y267 )
T ed M 7ipCi  BYx" "H baGiif Bay AMWBNh O™ B G

n



Y2 Jo 59min_sec.cY 2

/* min_sec.c - "HY Qm >N ¥

#include <stdio.h>

#define SEC_PER_MIN 60 //% N Q

int main (void)

{

int sec,min, left;

printf ("Convert seconds to minutes and seconds!\n");

printf ("Enter the number of seconds (<=0 to quit): \n");
scanf ("%d",&sec); /I VN Q
while (sec > 0)
{
min =sec/ SEC_PER _MIN; //APa & @ 'Q

printf ("%d seconds is %d minutes,%d seconds, \n",sec,min,left);
printf ("Enter next value (<=0 to quit): \n");
scanf ("%d",&sec);

}

printf ("Done!\n");

getchar();

getchar();

return O;



T 1 A , a&Dx
Convert seconds to minutes and seconds!
Enter the number of seconds (<=0 to quit):
3652
3652 seconds is 60 minutes,52 seconds,
Enter next value (<=0 to quit):
0

Done!
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-11/5is -2and -11% 5is -1
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Y 2 Jo 5.10 add_one.c Y 2

/*add_one.c W x A=09 A *
#include <stdio.h>
int main (void)
{
int ultra =0, super =0;
while (super < 15)
{
super++;
++ultra;
printf ("super = %d,ultra =%d \n",super,ultra);
}
getchar();
getchar();

return O;

JUbi ¥

super = 1,ultra =1



super = 2,ultra =2
super = 3,ultra =3
super = 4,ultra =4

super = 5,ultra =5

AY2bkaH Q 5 A bi BIpbAw B &l @é
NI

super = super + 1;

ultra = ultra + 1;

RT EMDE B Ky |j Ns. AabAAT @A 6 Asi i
Mool AEa N 2 T Q4 T T P VY AaEN2~ 1 E
'@ O ~ @®bi1a' @b% ~ shoesc(Y 2 Jp 527 A b
shoe = 3.0;

while (shoe <18.5)
{
foot = SCALE * size + ADJUST,;
printf ("%10.1f %20.2f inches \n",shoe,foot);

++shoe;

Farax X" 1w VY @B Al @ui Y/ I B

shoe = 2.0;
while (++shoe < 18.5)
{
foot = SCALE * shoe + ADJUST;

printf ("%10.1f %20.2f inches \n",shoe,foot);
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/* post_ pre.c -9 A= A ¥
#include <stdio.h>

int main (void)

{
inta=1,b=1;
int aplus,plusb;
aplus =at++; // a A
plusb =++b; /| = A
printf ("a aplus b plusb \n");
printf ("%Id %5d %5d %5d \n",a,aplus,b,plusb);
getchar();
return O;
}

b a=awd » * o sY % 1 1 waNé i’ J'x
a aplus b plusb

2 1 2 2
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pusb=+tb ¢ /* Ax A bEOe @w b*
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shoe = shoe + 1Y
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i 2 Jo 5.12bottles.cy 2
#include <stdio.h>
#define MAX 100
int main (void)
{
int count = MAX + 1;



while (--count > 0)
{
printf ("%d bottles of spring water on the wall’
"%(d bottle s of spring water \n",count,count);
printf ("take one down and pass it around, \n");

printf ("%d bottles of spring water \n\n",count-1);

getchar();

return O;

T . bi @AADyY
100 bottles of spring water on the wall 100 bottles of spring water

take one down and pass it around,

99 bottles of spring water

99 bottles of spring water on the wall 99 bottles of spring water
take one down and pass it around,

98 bottles of spring water

bar . AA | wo @bT AAJ ¥

2 bottles of spring water on the wall 2 bottles of spring water
take one down and pass it around,

1 bottles of spring water



1 bottles of spring water on the wall 1 bottles of spring water
take one down and pass it around,

0 bottles of spring water
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nextnum 96T Ky é1 61 Mow
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while € num <21> ¢
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\THV Qe ur

{
printf ("%10d %10d \n",num,num*num-++);
}
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/* addemup.c - 4% 1 3 i B ¥

#include <stdio.h>
int main (void) // 0, 20 A QQusi-

{

int count,sum; // ¢ *~ B

count=0; /I © B
sum = 0;
while (count++ < 20) // while B
sum = sum + count;
printf ("sum =%d \n",sum); / ° Q 8

getchar();

return O;
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while € guests++ <10 (

printf ("%d \n",guests);
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T B ¢ compoundstatementl T /At D ON 44 | BhHAG™ » &G 8 E
A YW ATh e € blockl shoes2cY z & AIlb g @A while 8y g
A B % T GIHEAY Z4Y

Y z43 1%

index =0;

while (index++ < 10)
sam = 10 * index +2;

printf ("sam = %d \n",sam);

FYz4 2%
index = 0;

while (index++ < 10)



asm = 10 * index + 2;

printf ("sam = %d \n",sam);
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while € index++ <10 C {

sam =10 * index + 2;

printf ("sam =%d \n",sam);
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Q1 By printf ("%d \n"toes);
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T B g compound statement & e € blockl * Ad&» AdopgboN
i Be R B A ifeT BZ_& i DEHwiie BA9®d AzDX

while (years < 100)
{

wisdom = wisdom * 1.05;

printf ("%d %d \n",years,wisdom);



years =years + 1;
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3431, x = HBB 27T long doublet doubler floati unsigned long longt

long longt unsigned longt  longt  unsigned int = int A' T @ieev T E long
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intot® 22 nH %H unsigned int % long ©i1 =~ e AQ@ short = char1
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4p 6 8 | VBpoJ' Q4N - B Aw BH 3
1A T A YTT M 0"t HO M7 4 g demoton 1 1T N
AB Q8 A HAGH 3

5,EAR Qv 'Q e Hi char> shorth “Qw int 1 float h Qww
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[*convertc --s D13 Q¥

#include <stdio.h>
int main (void)
{

char ch;

int i;

float fl;

fl=1=ch ='C}, 119

printf ("ch =%c, i = %d, fl=%2.2f \n",ch,ifl); /10
ch=ch + 1; /1 11

i=fl+2 *ch; /I 12



fl=2.0*ch+1i 1113

printf ("ch =%c, i= %d, fl=%2.2f \n"ch,ifl); /14
ch=5212205.17, II' 15

printf ("No w ch =9%c \n",ch);

getchar();

return O;

T 1 L I N
ch=C, i=67, fl=67.00
ch =D, i= 203, fl=339.00

Nowch = e-

[k ]

i T p 8y chan 32y int G 1 i Yz oo oyo oo
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P QI 0 67.00
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/* pound.c - hOV® Av Q& 1Q *
#include <stdio.h>
void pound (int n); //ANSI | ©Bis 3

int main (void)

{

int times = 5;

charch=""; //ASCIl . ©m 33

float f = 6.0;

pound (times); //int v 'Q

pound (ch); /fchar v U Qmint1 3
pound ((int)f); // "YE VA "HfA  Qmint1 3

getchar();

return O;

void pound (intn) //ANSI T @ Q

{



while ( n-- > 0)
printf ("#");

printf(" \n");

HEHHA
R AR H R R A
HEHHAR

a

rac Vv oiQ X

void pound (int n)

b QipviQ®™ Q ©@koONNYIHR Evod +t % Qi p A
int1 3 @lv Q A@Qk ON Y9 Ae EmRn@intd 3w @ al QA&

YT Clgue Gy Me E

" AvQE., & A Mwé Av Qe formalargumentl & é Av
¢ formal parameter{ GBiw R eAal BAVQI 3 Y nGEint1 3w g
pounds 10 ~© Q ThH10 A n p Y2Aa1 "Q 7 pounde timesg
"Htimes@i®e 5 A n §CY Q 1 e ABL AB Nwmh vQ
€ actualargument @ a h v ¢ actual parameter ¢ 'AQ@" "Q pounde 107 "H

h vQ10e A" Q ta° QH10 AéAv gw nZ BT 1 man
€ { Ay  times ®6¢ A pounds T A A W n

PSx v Qe argument{ /bv € parameterl
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3 a¢g” 13YEi b A XMHA Y2Nwas DH&a1 3°YE T4+ w
patT” ¢"" 7 "QEIANSIS 3 X

void pound (intn); //ANSI | ©Bis 3
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Y 2 Jo 5.16 running.c Y 2

/I running.c - A M? 0~ G BN 2

#include <stdio.h>

constintS PER M =60; /Y%  ©N Q

constint S PER_H = 3600; //%%n H®EN Q

const double M_PER_K =0.62137; /| %3 @D Q

int main (void)
{
double distk,distm; / © . @3 =9 “Qiosy; U

double rate; /I @> /n'HwD y ®Wz vy
int min,sec; I/ ¢ 1 HEd Qs N'Q

int time; It N ~oi g1 H



double mtime; /l H 1Y At @H 1 @\

int mmin,msec; i H1Y At @H 1 @ =\

printf ("This program con verts your time for a metric race \n");

printf ("to a time for running a mile and to your average \n");
printf ("speed in miles per hour. \n");

printf ("Please enter,in kilometers,the distance run \n");
scanf ("%lf",&distk); 11 %lf " n A double1 3 ©BIQO

printf ("Next enter the time in minutes and seconds \n");
printf ("Begin by entering the minutes \n");

scanf ("%d",&min);

printf ("now enter the seconds \n");

scanf (" %d",&sec);

Il "HH Qw2 7Y 7

tme=S_PER_M *min + sec;

I "HR QD

distm = M_PER_K * distk;

NS5 N XN/nH=> /nH

rate = distm /time * S_PER_H,;

IIH |~ = H%> oFr H
mtime = (double)time / distm;
mmin = (inymtime / S PER_M; // 8, Q

msec = (int) mtime % S PER_M; // 0, € mMGBIN Q



printf ("you ran %1.2f km(%1.2f miles)in %d min,%d sec \n",distk,distm,min,sec);
printf ("%d sec. \nY our average speed eas %1.2f mph\n",msec,rate);

getchar();

getchar();

getchar();

return O;

Y2 |o 516 &1 @ p min_sec /A&T WA | Neo @&H  wd" = Ni
HTEOET " 13 QO wKyot+ wY 2aHY Qw G5 Qé v
Q HT "Hy Qw> o Lz {eQE v GGCTJ4AE T YE N
rE R QT
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Av BN 2p 1AL j T AAd v g A®eaBEy (=& f
C . A4z YemEaw wj UM GE T 1 87T MA » CE" T

This program converts your time for a metric race
to a time for running a mile and to your average
speed in miles per hour.

Please enter,in kilometers,the distance run

10

Next enter the time in minutes and seconds
Begin by entering the minutes

36

now enter the seconds

23



you ran 10.00 km(6.21 miles)in 36 min,23 sec

51 sec.

Your average speed eas 10.25 mph
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17 3 h A bBiw finti 3 A. 1 % Aw @Oy

a.x=(2+3)*6;
b.x=(12+6)/2*3
cC.y=x=(2+3)/4
dy=3+2*(x=7/2);

a. x=30;

b.x=27; /] é VYo x13 \ 2
cx=11 y=1,

dx=31 y=9;

2. 3R AGTEY T int13 A, 7 Y% Aw @O

a.x =(int) 3.8 +3.3;
b.x =(2+ 3) *10.5;
c.x=3/5*220;
d.x=22.0*3/5;



ax=6 [/ iQ VywuxX1 387 XUpWm33 T o 3+3.8

c.x=0; /I HxwWinti3 3/59Upw01 Wmn 220 O

3.40n1 @2 @ P at

—
o ]
o
=%
o

int main (void)

{

inti=1;

float n;

printf (" Watch out! Here come a bunch of fractions ! \n");
while (i< 30)
{
n=1/i
printf ("%f",n);
}
printf ("That's all,foks \n");
getchar();

return ;



M0 x Z & #include <stdio.h>

M6 x wiie B&AAN" Af Tv + mi@d3Yw U AQE OT mz 30.

YOz®T ~ G wilee #++<30C;

M6 8 x —@AnR "6CYy AN 7 =8 4& AT et HT AN
YONhAE

whilei VEyOv 7 z Jr>on

M7 ¢t wl=i TQQu AQE im1H | V&I hi Lt GE iw”
2 GEQH
J'"w0 A& n=10/1 ¢ hA& | v x aw{eu "8
hfi
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M

M 10 x Z 1 retun Oy

#include <stdio.h>
int main (void)
{

inti=1;

float n;



printf (* Watch out! Here come a bunch of fractions ! \n");
while ( i++ < 30)
{
n=10/;i
printf ("%f \n",n);
}
printf ("That's all,foks \n");

getchar();

return O;
}
4. 7Yz o 59@P A | i ~ 1 EAET A scanfe 7 Qo
“ Y2 Jo 59amEbA scanfe { HT Y2 mKr»Y =Y2 o 59 s

2
EQKyA PO

#include <stdio.h>
#define S TO_M 60
int main (void)
{
int sec,min, left;
printf (" This program converts seconds to minutes and ");
printf (" seconds.\n");
printf (" just enter the number of seconds \n");
printf (" Enter O to end the program \n");
while ( sec > 0) {
scanf ("%d",&sec);
min =sec/ S TO_M,;



left=sec% S _TO_M;
printf ("%d sec is %d min. %d sec. \n",sec,min,left);
printf ("next input? \n");
}
printf ("Bye!\n");

getchar();

getchar();

return O;
}
Y3 2. A Begsecl €272 00> n secBBiscanfe { B e
LM TYSs 1M K CAHI Y2 =® hi @ sec&1 T 6hM
Tl p Anéyias Ayvyé s A % o " A| T Msec

Dpi1 %b™ME Dpwm LI ~ 8! @ M K, A HT & A

Ewe 30 yBYZH pivd e j hs! sea + & ON@il® O ¢
M, [ " BOWA|T AEscanfe I B whie, Ae" "E | @ g
TowYzoE on S Y P X

scanf ("%d",&sec) ;
while ( sec >0) {
min=sec/S TO M,;
left =sec% S TO_M;
printf ("%d sec is %d min. %d sec. \n",sec,min, left);
printf ("next input? \n");
scanf ("%d",&sec);
}

M K n VAETT yv DEiscank L1 @o 8&r pi VJPI eCopli v
WK'E e <l G@iscanfe { B irn 1 o A Wi OHA |
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#include <stdio.h>
#define FORMAT "%s! C is coolAn"
int main (void)
{
int num = 10;
printf (FORMAT,FORMAT));
printf ("%d \n",++num);
printf ("%d \n",num++);
printf ("%d \n",num--);

printf ("%d \n",num);

VX

%s! C is cool!
I'C is cool!
11

11

12

11

i M A printfe £ 8 Q@i B

printf ("%s! C is cool\n","%s! C is cool \n");

& X
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6.7 N 2NEM, Kyo

#include <stdio.h>
int main (void)
{

char c1,c2;

int diff;

float num;

cl="S,

c2="0}

diff =cl -c2; //diff=4

num = diff; /I num =4.00

printf ("%c %c %c, %d %3.2f \n",c1,c2,c1,diff,num);
getchar();

return O;

y{ x SOS 4 4.00¢ A clc2o0Y Sy = YOy L p ASCl

7.1 BN 2 NEm, Kyod
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#include <stdio.h>
#define TEN 10
int main (void)
{
intn = 0;
while ( n++ <TEN)
printf ("%5d",n);
printf (" \n");
getchar();

return O;

Yy¢g 1 2 3 4 5 6 7 8 9 10

8.Mwi AY21 EEmM¥x a QgUE?%

VX

* S3hE2AT A A GBI 84 ASCll A Gy~ ~ %

#include <stdio.h>
int main (void)
{
charc= 'a}
while (c <='Q’)
printf ("%5c",c++);
printf (" \n");



getchar();

return O;

9.b' i ©EQa4l

a
intx =0;
while (++x < 3)

printf ("%4d" x);

b

int x = 100;

while (x++ <103)
printf ("%4d \n",x);
printf ("%4d \n",x);

c
char ch ='s";
while (ch <'w)
{
printf ("%c",ch);
ch++;

}
printf ("%c \n",ch);

AHTQY 2

r-=a



ax 1 2 /v w++1 A1 AQ@ x X1 wt oW %

bx 101 / }Y & xX % + oW w p S eeadr Al x 1
REM
102 e’ w FYV™ A printfe T ® 4 Xj 1 AEE & w while
103 fve ° + %YEET p whiei vJ e TOK

104 // printf ("%4d \n"x); M~ A printfe { GIA 7

cx stuvw // I~ M K 71 printfe Z e @ £ M ch w

10.7 N 2 NE MK y/

#define MESG "COMPUTER BYTES DOG"
#include <stdio.h>

int main (void)

{

intn=0;

while (n < 5);
printf ("%s \n",MESG);
n++;
printf ("That' s al.\n");
getchar();

return O;
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a. x=x+10;
b. x++;
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b. n=n%Kk

c. p=q/ € b-ag
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#define @ a constf . & ATlH 60@N NW At whiel vr 51 1A
VO XhE b A W: 0BIH HJABiy Q

#include <stdio.h>
#define UNIT 60
int main (void)

{
int int_hour;

int int_count;

printf (" V Qe fFYx<=0Y2zN | T\n);

scanf ("%d",&int_count);



while (int_count > 0)
{

printf("%d =%d n H %d°  \n"int_count,int_count/UNIT ,int_count %
UNIT);

scanf ("%d",&int_count);
}
getchar();

return O;

2247 AYZUi%YZ 0 Vb AQQteEmM kKeyOl WO ey
07 % O 10WAGRESe BT 1 b WwE oy , S5
157 OpRA . e TMI 1 Ya&7Q Y1 A

#include<stdio.h>
int main (void)
{

int num,num1;

printf(" VT Qe V2N | 2\n;
scanf ("%d",&num);
while (num > 0)

{

num1 = num + 10;

while (num <= num1)



printf ("%4d",num++);
printf(" \n VT QQI e Y2N | T

scanf ("%d",&num);

getchar();

return O;

FYX %b 1 sanfe {° Qe Giwhiel viI @Bp whiel v@iJ Pl & %
QY Wi vV

2

e 1 fvlTjoal

AT AYZ1 Y2 01TA VIQUEIIN 6 Qwe Q23 Q @bl
%Y 2 N"H183 Q& 2v 43 11 ©F AT~ J4' ¥

18 days are 2 weeksl 4 days

AT Awhilei vy 1A ¢ 33U ETA 3 A *Qeb 0a& -20C Hi
Y2 NJABI v

X
#include<stdio.h>
int main (void)
{
const EOOR =7

int days,weeks,days1;



printf (" BV OAQe FQ Y2z | CU\n;
scanf ("%d",&days);

while (days >0) /1 * Q

{
weeks = days / EOOR,;
daysl = days % EOOR;
printf (* %d days are %d weeks, %d days \n",days,weeks,days1);
printf (" T AQe *Q Y2z . C\n);, // 1 VAD
scanf ("%d",&days);

}

getchar();

getchar();

return O;

}

A x T TvyvOymeli vy

447 AYZ TAYTA VA YOIt o Y2TYRTASLOY T
A yO B TA=D] O, XnQ " YzZB TAAA T 1T A
VA F Qe N 2 W oseb i AT X

Enter a height in cedtimeters : 182

182.0cm = 5feet, 11.7 i ches



#include <stdio.h>

#define TEMPCM 0.0328083 //1 T A =0.032808399 » 0

#define TEMPINCH 0.083333 /1 0 =0.0833333333 7 |
int main (void)
{

int feet;

float cm,inch;

printf ("Enter a height in cedtimeters : ");
scanf ("%f",&cm);
while (cm > 0)
{
feet = (int)cm * TEMPCM,;
inch = (cm *TEMPCM - feet) / TEMPINCH,;
printf("%.1f cm = %d feet, %.1f iches \n",cm,feet,inch);
printf ("Enter a height in cedtimeters : ");
scanf ("%f",&cm);
}
printf("bye,your num < 0");
getchar();

return O;

Fx A @ T iy fyr éeaiyv w:i Hwiile 8 7 A~ =
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#include <stdio.h>
int main (void)

{

int day,num,count;

num = 0;
day = 0;
count = 0;

printf(" vay "~ o3 Qx ")
scanf ("%d",&count);

while (count > 0) /0

{

while (day++ < count)
num = num + day; I A B T NM QU
printf("%d 3 1 Hup v$%d \n",count,num); / A DIy

printf(" vay "~ B3 QX ");

num = 0; Il Nz w J® 0
day = 0;
count = 0;

scanf ("%d",&count);

}
printf "Mj 1 &A=& V3 Q");



getchar();

getchar();
return O;
}
6. NP UMWAY 4O 54 BN 21 AEET z N\ QQWAEE eb AasFi1 ! @

mXb'avw 3& $u MT3é P4 Ms3 e $a @%1oaNeé
N ¢ C=®WA" Q Hi &' @. 1 n®WA T n*n© b
#include <stdio.h>
int main (void)
{

int day,num,count,num1;

num = 0;
day = 0;
count = O;

printf(" vay "~ o3 Qx ")
scanf ("%d",&count);

while (count > Q) 1l 0

{

while (day++ < count)

{
numl = day * day;

num = num1l1 + num;

} A B T AN QUER

printf("%d 3 1 Hi® J$%d \n",count,num); // ADI v



printf(" VAY T G QX ");

num = 0; I N2 w B 0]
day = 0;

count = 0O;

numl = 0;

scanf ("%d",&count);

}
printf ("Mj 1 a=®d 33 Q"

getchar();
getchar();
return O;
}
7AT OAYZU Y2 0 Vb Afoatz QXEmM QENAS AEds t

a

BEoQr v OENAXhNEGN A, ¢ maine Y 2 'H JEOe N

X
#include<stdio.h>
int func (float n);
int main (void)

{

float num;

printf ("~ A* Qu QQNT " E@N A",
scanf ("%f",&num);

while (num >= 0)



{

func(num);
printf (" v A* QU QONT T E@N A6,
scanf ("%f",&num);

}
printf ("\nMj 1 & G T A* Q")
getchar();
getchar();

return O;

}

int func (float n)

{
printf (" \n %.2f X %.2f X %.2f = %.2f",n,n,n*n,n*n*n);

8A AYZ1 Y2 07T A V Ae-0OVI1Y2Q@doubed 3 Oy 6O1
XNEAR Av Qe A1 Ané&E "QTemperaturese QN VT ZA
Oy =>AMOy 1 X@QnQeL ObYyQEEMYIT ~ s90y EZ 1%
ABAM GOy - Y7 % 3AO 1 T NeoOy QA0 OHA Y

Celsius = 1.8 * Fahrenheit + 32.0 3 A Z % Celsius = (5/9) * (Fahrenheit -
32)

Wi pVei BWMOY @ T Ofh AM (f! foysiag i T NA
Oy QmA MOy GBA Y x

Delvin =Celsius +273.16



Temperatures() QT constl . 4 Q @3AW @3 N mian() QN
Ar AT YrEe 1A v¥s WYL ETA VA TH QEBHI | yvJ

#include< stdio.h>
const double A = 0.555556;
const double B = 32.0;

const double DELVIN =273.16;

int Temperatures (float temp);
int main (void)
{
double fah;
printf (" VQE YYQy A THE2Y 2N ),
scanf("ff",&fah);
while (scanf("%lf",&fah) == 1)

{
Temperatures(fah);
printf (" VQEI YYQr G THE%Y2 N | )
scanf("ff",&fah);

}

printt ("Y 2 N . ");
getchar();

getchar();



return O;

int Temperatures (float temp)

{

double celsius,delvin;

celsius = (temp -32)* A;

delvin = celsius + DELVIN;

printf (" &2~ A= AM y \n");

printf (" %.2f %.2f %.2f \n",temp,celsius,delvin);
}

FY X 1 == ® &2 while (scanf("%If",&fah) == 1) B0,

i v

r==n

I= ] W2 while (scanf("%lf",&fah) = 0) T oG

2.double 2 My E{ T “ nQeo 6y ab 0.555555h °
VT
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1 A, ApbAl @ B82° @ "OE & "H

M MYE@AATJEY G 1+ @WA®Y 2z T+ M B2° 4640 whiel
vivT Y éAE AeeD YN 4skd4 whilei ve@zDdvt4i vd_x
fori v= dowhilei v wo YéAp H4'1ja@E 48 (o]
EAY 2 1001 bXNzguwr™ N G “npkNpi Yk d
VCR AT Q41+ REEA! @ T ORI VEIAT 1 N AAK 4 OR
QU 8C Xxe O wiiel VAD

6.1WnR whiel v
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Y2 o 6.1 summing.cy 2
[* summing.c - M7 A JEQQI = ¥
#include <stdio.h>
int main (void)

{

long num;
ongsum=0L; /* "Hsum Dpmw *

int status;



Y2 o 6.1/& 13 long! & 2 BIQ 61 ClEs 0

printf ("Please enter an inte ger to be summed .");
printf (" q to quit");
status = scanf("%ld",&num);

while (status == 1) /*== ©BIY 6T w3 ¥

{

sum = sum + num;
printf ("Please tnter next integer (q to quit):");
status = scanf ("%Id",&num);
}
printf ("those integers sum to %lId . \n",sum);
getchar();
getchar();

return O;

Qb

aMps A

OO HY 2w 3Y 7 &1 Hsum. DpwOLe 41 3mlong® Caji O¢g4

S

W% int 95 ¢

I A &ex

Please enter an integer to be summed . g to quit: 44

Please tnter next integer (g to quit):33

Please tnter next integer (g to quit):88

Please tnter next integer (q to quit):q

those integers sum to 165 .
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§C X~ i whiel y Al v Ar 11 @i Ax

status ==

== VY{ C@ Vv VY eequaltyoperatorf 1 CBT 1 A A A
statusT ¢ W2 1 j "HEmbstatus=1" [JJ41 @ G HE 1 A status At
status==1 Awm, Al T1 WYE  statusM’> L i yéh ¢"E %Kiy
Al T YVYy Hnum@E &t sumi 1t ~ sumdédD4 3 YmO= E status
O] m1HI VABL oY 212 sumBBiod J°

Ay 27* | p¥%KiVvaZ wnum n AAS&I Xh J status Y
2 /Er scanfe L @b Aj a1 T Y P X1 Er scanfe L7 8 W num
VAO o My oscanfe {9 + O T2 E T e a1l + @ iM4VDE
1 w7 Ap ¥/ . biscank  + &1 & - WAQ b scanfe { &
I 3 AQQ 6'H AQQodp numa X + &1 c61 N status
e FY V6 AN onumi Gj T status ¢ T 87 A num> status @8

while i vEOI "D AvQ b'a 67 QE1 &b b q y scanfe
8j 1T 3 AQQ AQE®; + 6 > status W 0 NAEI VUB t m
GIEY qj T QE1 AQEwW &t 3 7 AL i neh i1jkxki gl
YM QE@ 3 NA Yy4BI HI 1A Vg%~ 3 A QEEY

D PR

b scanfe { 6 Q AQEe T eaebt s 4 aTmP &
AT {1 E6h + A-e®EOR A©®  hew-1 AbBa”
CT]’]M?T)’AB

N

scanfe { Gie 7 | d” pl va ' VHE A €@ xabMme
| VKYyHOYy Bbéeaeb1 Bh scant Z=®d + &1 yp %Ki Vay ow

rooal

6T num BB 4! @& numEdr 4 Bi V1 %b A num>04a num!s
or Aw, AT 711 HT &aj i -hod =eb 3§ 0 a api va



| Aih 1« seb p %Ki Va Y Do you wish to continue6 <y/n>y 1 @
ArATe 7y OP 1&n §y- R A scanfe LW + 6
d~ P

NpGC " H4As™ iY2J_ 'a@ OJdbi x

intialize sumto 0 /*  Dp v sumwk 0%

prompt user * o~ 1A *

read input I* n J*

while the input is an integer, /* b' JVWQQ*
add the input to sum, KON JVEQ W  sum T ¥
prompt user * 0”1 A
thenread nextinput /* i © ni A ¥

after input completes,printsum /* p V3, HEe a1 | ~ sum GO ¥

X it T Al b € pseudocode @ieeD1 | Mh T M7 MD©ED 7
"Y20EA |1 Emo N we A MZ | Th &' \ 2 G R
R *. ec 1 8! @H M~ &h @Y | M @ ABITE
l @&Famw [:Y 20 w4d Edj oa HIOb Mr N r 3 o5
V| ebi a' @rAnr ™ M aj170 920NGEC | o
ABIT I TThjm A=h@ {41 ~a | '!'@e@  mwrY

Oett wwliei vi AJE 71IvI A@Y20 p Vivye n
VX s 1 status BIO 67T Y2zp whilkee & A scanfe { T GBisy

Al VAAE 1 gl va A B1L T Y2¢l e, i A R §
6T Yzp wiiel v Pl & A scanfe {Bis+ 1 Ewmi  Ki vy’ !
 @Hoi 1 | Amil v @E% T Ay



get first value to be tested /* 5 I posie L BEM AS ¥

while the testis successful /* b * 5 4 */
process value * Y 6%
get next value I* ni A6 %

612 C f o |y

Yel Th AT @ A|1 Y2 o 61 @r Pascal BASICE FORTRAN

W' +0 Cohé” " odamméA i mEl_x

status = scanf("%ld",&num);
while (status == 1)
{

[* loop actions */

status = scanf("%Id",&num);

@1 i’ @AM
while (scanf("%ld",&num) == 1)
{

/* loop actiong * /



MT MéAaHAET" scanfe L @b Y| a7t | X1 b 1T d&11° Qh"H

AGop nuimat M~ 17 Qul + Be1d 00 aj T num@BE&L T i |

V ot wmp¥%K ¢ Ya MIiVviT AL AQp %Ki VA T scanfe
Fwé AEinum©s Al A QB | Cuogd : 0 Fa! @7 Q7 BM Vv
P Tho % @5 Vi Ay

while getting and testing the value succeeds /* b* n=5s 4 &1 @6 %

process the value N A6 I'n ¥
NpGC™ W As”™ i whie B
6.2 whie B

Qi W whilel v = @

p
>

while € expression,

statement

statement ! @i AV® N@Mp B O Q@i HYONGE AT 8

K mB GieeD F1 H AAwi v @iexpresson 1 CBT 1 DA b
expressioni A GEM%HM ~ T g1 al' @e&ZyM A b



expression®” € da~ 5 1 {1 YB8'E K statement 14} ¢
WK A expression p expressionw ik e (6’ ¢ A, AsTE
vV %Kiy VR K Tbe v g 61

g 6.1 whie | v B8l _ x

5 |while
i A B <— count++ <limit < ---------

I I
|- |
printf ("tralala la! \n");---

6.21 4 B whiei v

T Mwhilei ve o @ epxEa_ A whilel VHiL i vao yoi

ow. A Awior £ AT@EO00d4vwrd ¢ _ I Ve jhaBeh i
3O @& break= if B7 4 Bi Vi NpoA@N Akd4l & @i o
®eDx

index = 1

while € index <5¢

printfe "Good morning  \n"C ;



i WH 4 QsémM AmK 005U mKwot wpl Vaj 1 ow
index©@&1 ~“ES8 ~ Wl Xp~ i AX

index = 1
while € --index <5¢

printfe "Good morning 1 \n"{ ;

Av i | @J4Bi Moindex” n %A @F N@ion® Q n X
W oz 0 { G QUFHG” e M 3YDQQ> Cba GEtoobigcy 2 T -
B Q " bMr 18wd A Qa1 wn@E Qb M 16T f14  A*
QC

o G 14 CBj S1 E@w index @& HT 0 Q7 GIAb s N

w2

6.22 I YVMH4 B

~ E@p V., Af TWOHE” hT ABi v T 44 | P
&bt a Y2 o 624 @N 2

mh

Yy 2 Jo 6.2whency 2
I*when.c — MH . Al v ¥
#include <stdio.h>
int main (void)

{

int n=75;

while (n < 7) N 97



printf (" n =%d \n",n);

n++; I M 10
printf ("Now n =%d \n",n); I v 11
}
printf ("The loop has finished . \n");
return O;
}
V2 Jo 62hfi1 0" | X
n=>5
Now n = 6
n==6
Nown =7

The loop has finished .

PVMT KIi VAl w npv 10 K é6 71 ayY 2 %HX| M
EJ fvev 11 1 XpMV 7 @ Af TVvsKadOHE i vew
npvM K. AHR 5 M1~ K. AHw 6

6.2.3 while x JEY 171 V
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—————
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index = 10;
while (index++ < 5)

printf ("Have a fair day or better. \n");

"HM WHRX

index = 3Y

6! @QE Al V-

624 | e

p Ar whie H i P71 EQy:, Af Teo@p A BeMp Baw
T BZeT iy A T w' aaj i\ ‘12|D6.3 "o
b aoé PhAal Ky

Y2 o 6.3 whielcy 2

/* whiel.c - FYD ON @igr ¥
I I F1° AN TV *
#include <stdio.h>

int main (void)

{

int n=0;



while (n < 3)
printf ("nis %d \n",n);
M+

printf ("That's all this program does \n");

return O;

Y2 Jo 6371717 | X
nis0
nis0
nis0

nis0

01 A@DA ~ n++yP B HT X=@HE=' @ B8 odp AYONA

"BE®MY p., Al TecmEM B_4" 1V ° w ne jheée

Alf T n<3 ~3Ywm 1 paA AY2e ENjAsé&mnisO
h

H
T AR [T yvGEeD =®v WLES|

H while 8 n |i VY AD" @ B o0&EEMAT T B
Bx whieADI " v A" NJ 1 A&~ T BGYr i1 4JDO0N

N>

At NHO nO @bt & Yz o 6.44 oy

2 Jo 6.4whie2.cy 2

I*while2.c — |Y* N@EEr ¥



#include <stdio.h>

int main (void)

{
int n = 0;
while (n++ < 3); * M7 *
printf ("nis %d \n“,n); /* M 8 ¥
printf ("T hat's all this program does. \n");
return O;
}

V2 o 64F11° | X

ni4

That's all this program does

-

GgaCc A @ "1 lyp., Af Tea @M AMDa®T BJ §J
i VNp%/ 4Bi + m AD" G

pVM 7 @ Af Ted i 0®d l
Tivm 1 AQ np %Ki v u
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n Ae&eDat , Af 19 AM B g nullstatementZ 1t EKy j Y p
CAt D™ @ NMH M B @QHO1 YZ" ®Ys A VOV B &iwhile B8
t RAQETA p. A Ya &bt 3hay VM A RV
PEQEBEY L &) @& ol vy

while € scanfe "%d",&num { == 1
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E scanE{  AQQ ES8 + LT vdh/aA Fyo w |F
Z H New BZopi @ ajipea A /Eép Y 2 H Kk
Tt B D Qo AM BT QdYop G CBEA| T AT VA

o8} conthihnue B

6.3 % 2nyx At Hd V1> A

t mwhilel VAW © 72 % o A Al AQ 9% AééeacC
LN T AN R A ¢ relationatl expression{ 1 Ta, X V¥V
mHvM VY € relatonaloperator¢ aTJ4 A&t =~ PRI 6.1° .~ Ca B
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= j W2
wd VY17 _&p whie 8>&CN CGHOH C B A BT G
A R B4 A Twm3 0 TY9~ n Ah adis Aj’

g B ECOEY ol 1 &7 G

while (number < 6)
{

printf (Y our number is too small \n");

scanf ("%d",&number);

}

while (ch = '$);
{
count++;

scanf ("%c",&ch);

}

while (scanf ("%f",& num) == 1)

sum = sum + num;

PVMT Az@Dat LY A @iz BN @i % HAT 6
HGEEY Th e §COhWASCIZ +at jT A i VYT % EY
M 11YoEYm=EYm Qb Nk 4bMMEY mn 7



Ry V1D @iz e Q@ 5 nOipeQR%n AET A <= > 5y
VI
LT &b A i Z 0 MEQ]T M esebi1 35 13@OMZ T 10 Hi
b &1 6yn'QY ~ 131 OM6T 0999999aj “> 1 /A& p math.h™ &
TA® " Gifabse ° Q QAXS {eq A AN Q + A e &TEA

MO&e o=@MQI NEOL eabt &' @& 1 1Y 2 Jo 658A |1, A
AQL £ Ay ]

VY2 o 65cmpficy 2

I* cmpft.c - e Q% ¥
#include <stdio.h>
#include <math.h>
int main (void)
{
const double ANSWER = 3.14159;
double response;
printf ("What is the value of pi? \n");
scanf ("%lf",&response);
while (fabs(response - ANSWER) > 0.0001)
{
printf ("Try again! \n");
scanf ("%If",&response);
}
printf ("Close enough \n");
getchar();
getchar();

return O;



pT AL | " OB Tn: 0.0001e 1
What is the value of pi?
3.14
Try again!
3.141
Try again!
3.1415

Close enough

Al yres 0

Yo A Houl A . him 3% - C&=O A
6.3.1 Kyt ~

A1 @+ Y ABGQDE 16 NM:Cib% + O
A6 Y2z o 661 " G ~ 1 o EMKHM A
A& M b AR A G516 AR™ 1 AR

Y2 Jo 66 tand tcV 2
[*tand tc - CaA G =3 ¥
#include <stdio.h>
int main (void)

{

T X



int true_val false_val,

true val= (10> 2); /* A~ A @6 ¥/
false_val= (10==2); /* AS A @6 */

printf ("true = %d; false =%d \n"true_valfalse_val);

getchar();
return O;
}
Y2 Jo 66 HE ARMAGS NbAwW “1s LEH A A w6
W true val "H A3 A@© = false_val AY2heti° VDG
X

true = 1;false = 0

SsIT T MCE L AT AwiOw Ll a6 AD Adi®m0 . hi ®OP

CYzAT @i @ vd_1 YP Ehe Lt ®le WX
while € 1¢

{

}
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Y2 o 6.7 truthc Y 2

[* truthe - 4 P&mw™ 06 ¥
#include <stdio.h>
int main (void)

{

intn=3;

while (n)

printf ("%2d is true \n",n--);
printf ("%2d is false \n",n);
n= -3;
while (n)

printf ("%2d is true \n",n++);
printf ("%2d is false \n",n);
getchar();

return O;

PTd
3is true
2 is true
1is true
0 is false

-3 is true



-2 is true
-1 is true

0 is false
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/* trouble.c -~ 1T =NM p @& v ¥
#include <stdio.h>
int main (void)
{
long num;
long sum =0L;

int status;

printf (" Please enter an integer to be summed");
printf (" (g to quit)");
status = scanf("%ld",&num);
while (status = 1)
{
sum = num + sum;
printf ("Please enter next integer (q to quit): ");
status = scanf("%Id",&num);
}
printf ("Those integers sum to %Id . \n",sum);
getchar();

return O;

Y2 o 68F1 7 Q@i @ T oy
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/* boolean.c -- £t _Boolw */

#include <stdio.h>
int main (void)
{

long num;

long sum = OL;

_Bool input_is_good;

printf ("Please enter an integer to be summed .");
printf (" ( q to quit):");
input_is_good = (scanf("%ld",&num) == 1);
while (input_is_good)
{
sum = sum + num;
printf ("Please enter next integer(q to quit) :");
input_is_good = (scanf("%ld",&num) == 1);
}
printf ("T hose integers sum to %ld . \n",sum);
getchar();
getchar();
getchar();

return O;



I BCB2010j "HY i ¢ ” _Bool typedefint_Boo, X h © A _Bool1 3

ve2005C) T j ¢ " H boolx! @ i BCB2010Xh® A 13O

Yo TbMHe @' enw By

input_is_good = ( scanf ("%ld",&num) == 1);

TOYoOw + m== VY0 + Ow 14 0 * B | "H== AV
[ ok ONj T o O seb b input_is_good = (scanf ("%ld",&num) ==1; b
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while € input_is_good(

C99 wé~ A stdboolh™ a1 VY9 A aT1! QA booll Mw _Bool
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/b C++ ]k @My 1 + W C++ "Hbool true = falseh ©wn E
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PS: OJyx while 8

KL Ex while

, Avid ed e ¢E iy
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p expressonwmwd ¢ (6 ¢ "E  statement

&b X

while (n++ < 100)

printf ("%d,%d \n",n,2*n,n+1); /* DA B *

while (fargo < 100) [ & T B ¥
{
fargo = fargo + step;

step = 2 * step;

p
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/* sweetiel.c - A Qi v ¥
#include <stdio.h>
int main (void)

{
const int NUMBER = 22;

int count = 1; * Dp ¥

while (count <= NUMBER)  /* . A *

{

X~ T v "E ~Nkiaebt Y2 o 614
VQQEE 10 X&aX] "~ h 3r NAQQ THGeD

) Avimle

AT MAGE v
‘Q € countingl
QI v AV O



printf ("Be my Valentine \n"); * OA ¥
count++; I* TAQH

}
getchar();

return O;
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fori VHA® si0Ae Dptd 1" AT op At for i Vi
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Yy 2 |o 6.11 sweetie2.cY 2

Il sewwtie2.c - A At for Qi v
#include <stdio.h>
int main (void)
{
const int NUMBER = 22;

int count;

for (count = 1; count <= NUMBER ; count++)

printf (" Be my Valentine !'\n");

getchar();

return O;

}

pH E forea @k ONAyo”™ + A" N° Als A A v A A
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[*for_ cube.c /A Afori Vid ANA ¥

#include <stdio.h>

int main (void)

{
int num;
printt (" n n cubed \n");
for (num = 1; num <= 6; num++)
printf ("%5d %5d \n",num,num*n um*num);
getchar();
return O;
}
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n n cubed
1 1

2 8

27

64

g b~ W

125



6 216

for | v @M o FCH:I Vv QEAGIUYX num©E DO num G 4
6@3 nump Y%K v G

T for©Bin 5 &

61 fori v~ i =1 5> FORTRANEIDO[ V1 Pascal®i FORI v @3 BASIC
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/* for_down.c *
#include <stdio.h>
int main (void)

{

int secs;

for (secs = 5; secs > 0; secs --)
printf ("%d seconds!\n",secs);

printf ("We have ignitio n\n");



getchar();

return O;

i T EBE |y
5 seconds!
4 seconds!
3 seconds!
2 seconds!
1 seconds!

We have ignition
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[* for_13s.c */
#include <stdio.h>
int main (void)
{
int n;
for(n=2;n<60;n=n+13) /* @ 13 Q%
printf ("%d \n",n);
getchar();

return O;
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28
41
54
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[* for_char.c */
#include <stdio.h>
int main (void)

{

char ch;

for (ch="a"; ch<="2"; ch++)
printf (" The ASCII value for %cis %d \n",ch,ch);
getchar();

return O;

b i X
The ASCII value for a is 97
The ASCII value for b is 98
The ASCII value for c is 99

The ASCII value for d is 100

The ASCII value for wis 119

The ASCII value for x is 120



The ASCII value fory is 121

The ASCII value for z is 122

1Y2! @TA1+ mEYT @QQuie A éy®y A@ Aivh i X
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for (num = 1; num <= 6; num-++)

1 for (num = 1; n um*num*num <= 216; num++) [ bw

b mw T VYKQ % a8~ w0  NA@zEn: 8! @& v, At 1

540 @ Q F Mwr&j iV owro BT )T %kt AdhoEQ

[* for_geo.c */
#include <stdio.h>
int main (void)

{
double debt;

for (debt = 100.0; debt < 150.0; debt = debt * 1.1)



printf ("your debt is now $%.2f \n",debt);
getchar();

return O;

1Y 2 pY%Ki VA Hdebt@WOOQ@ 110 Y%Kk "HEW T 10% . ~ i =1
A DX

your debt is now $100.00
your debt is now $110.00
your debt is now $121.00
your debt is now $133.10

your debt is now $146.41
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[*for_ wild.c */
#include <stdio.h>
int main (void)

{
int x;

inty = 55;

for(x=1;y <=75;y = (++x * 5) + 50)
printf (" %10d %10d \n"x,y);
getchar();

return O;
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1 55
2 60
3 65
4 70
5 75
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[*for_none.c ¥
#include <stdio.h>
int main (void)

{

int ans,n;

ans = 2;
for (n = 3; ans <=25;)
ans =ans *n;
printf ("n =%d ;ans =%d \n",n,ans);

getchar();
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return O;

O B

n=3;ans =54

Rl VA NEO3IYR3 v ans@OADm21t cwur’ 6 18 ®° w 54
€ 18’ 25°A@ fori YV WE KU K B LA G AL ArM h
Ri T AQT @ Yh e TE X

fore ;;C

printf (" | want some action \n");
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[* for_show.c */
#include <stdio.h>
int main (void)

{

int num = 0O;

for (printf ("Keep e ntering numbers \n");num = 6;)
scanf ("%d",&num);

printf ("That's the one | want \n");

getchar();

getchar();

return O;
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Keep entering numbers
3
5
8
6

That's the one | want
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for (n =1; n <1000; n = n + delta)
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scores += 20 M2"3 scores = scores + 20

dimes -= M2"2 dimes = dimes - 2

bunnies *= 2 M:72 bunnies = bunnies * 2

time /=2.73 M2

time = time / 2.73

reduce %= 3 M2z reduce = reduce % 3
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[* postage.c -- A ¥
#include <stdio.h>
int main (void)
{

const int FIRST_OZ = 37,

const int NEXT_OZ = 23;

int ounces,cost;

printf (" ounces cost \n");

for (ounces = 1,cost = FIRST_OZ; ounces <= 16; ounces++, cost += NEXT_0O2)
printf ("%4d $%4.2f \n",ounces,cost / 100.0);

return O;

ounces cost



1% 037
2% 0.60
3% 0.83
4% 106

AY2p Dp A=" A AaEr” N VY M A A A G N
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ounces++, cost = ounces * FITST_OZ
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char chi datey
printf (" %d %d \n",chimps,chumps);
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for (step = 2, fargo = 0; fargo < 100; step *= 2)

fargo += step;
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[*zeno.c - 2 ° G ¥
#include <stdio.h>
int main (void)
{
intt_ct; /* Q
double time, x;

int lim it;

printf (" Enter the number of terms you want :");
scanf ("%d",&limfit);
for(time =0,x=1,t ct=1;t ct<=lmi; t_ct++, x *= 2.0)
{
time += 1.0/x;
printf ("time = %f when terms =%d \n"time,t_ct);
}
getchar();
getchar();

return O;

i T 15 @ | x

Enter the number of terms you want :15
time = 1.000000 when terms =1
time = 1.500000 when terms = 2
time = 1.750000 when terms = 3

time = 1.875000 when terms =4



time = 1.937500 when terms =5
time = 1.968750 when terms = 6
time = 1.984375 when terms =7
time = 1. 992188 when terms = 8
time = 1.996094 when terms = 9
time = 1.998047 when terms = 10
time = 1.999023 when terms = 11
time = 1.999512 when terms = 12
time = 1.999756 when terms = 13
time = 1.999878 when terms = 14

time = 1.999939 when terms = 15
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/*do while.c - _f 11V ¥
#include <stdio.h>
int main (void)
{
const int secret_code = 13;

int code_entered,;



do

printf ("To enter the triskaidekaphobia therapy club, \n");
printf (" pleasw enter the secret code number : *);
scanf ("%d", &code_entered);

} while (code_entered = secret_code);

printf (" Congratulations! Y ou are cured \n");

getchar();

getchar();

return O;
}

Y2 o 615A8N 2p1 A V136 r¢ n VO Q@iT A 0
®eDy

To enter the triskaidekaphobia therapy club,
pleasw enter the secret code number : 12
To enter the triskaidekaphobia therapy club,
pleasw enter the secret code number: 14
To enter the triskaidekaphobia therapy club,
pleasw enter the secret code number: 13

Congratulations! Y ou are cured
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[* entry.c - JVEF Ti vV *

#include <stdio. h>

int main (void)

{

const int secret_code =13;

int code_entered,;

printf ("T o enter the triskaidekaphobia therapy club, \n");

printf (" pleasw enter the secret code number : ");

scanf ("%d", &code_entered);

while (code_entered != secret_code)

{
printf ("T o enter the triskaidekaphobia therapy club, \n");
printf (* pleasw enter the secret code number : ");
scanf ("%d", &code_entered);

}

printf (" Congratu lations! Y ou are cured \n");

getchar();

getchar();

return O;
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do
{
prompt for password
read user input
} while € input not equal to password(
N dowhie J _ x
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do

ask user if he or she wants to continue

some clever stuff
lwhile € answer is yes(
some clever stuff
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do
scanf ("%d", &number);
while (number = 20 );
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fore  testy ¢

while € test(

{

body

updatey

}
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for € initializey testy updatel

bodyy
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while (scanf ("%d",&num) == 1)
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for (count = 1; count <= 100; coun t++)
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I* rowslc /A &§_ 1y ¥

#include <stdio.h >
#define ROWS 6
#define CHARS 10
int main (void)
{

int row,

char ch;

for (row = 0; row < ROWS; row++) [*
{
for (ch ='A’; ch < (A'+CHARS);ch++) I*

printf ("%c",ch);
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printf (" \n");
}
getchar();

return O;
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ABCDEFGHIJ
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/* rows2.c /&y [vao zv TyoEs, [y
#include <stdio.h>
int main (void)
{

const int ROWS = 6;

const int CHARS = 6;

int row;

char ch;

for (row = 0; row < ROWS; row++)

{

for (ch = (A" + row);ch < (A'+CH ARS); ch++)

printf ("%c",ch);
printf (" \n");
}
getchar();

return O;
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HEZ U  GCNpVv 10¥oQ4="Y ba 4 Q41 HT "2 Q44 W
Tpl Valr AGXpXMbDkd i

AQi8T 4160w U° a4 z3®O1 &b 10AEY & 15AQQ QA

Q460 Abp @R EiI b” @ AaFJM! @QF AQQ AT &b 1
.I. ° q) ” X
float debts[20]

0" debtsi AT® 20AF VEQ41 TaABAF Y T A1 3% float 8O
AQ4EM AF VM R debts[0]t M~ Af VM m debts[1]t ~ ~°  debts[19]



FYQ4F U@ NT x 06j T LADG %AFJd '@ ~ A float1 3
8O eeb1 4! @& Q@i M X

debts[5] = 32.54 |

debts[6] =1.2e + 21

h i1 &' @iy A a4 3oy T AT AQAFM @b &' @H
A 3 A=z hoEFJY

scanf ("%f",& debts[4]); // WM 5AF M VB AO

———————————

% b1 @i 1 i X

debts[20] =88.32 ¢ /=& A'QAF

debts[33] =828.12¢ /= & AQAF

HA * Xj hax = o EY2z Hi P B'HQQ@p' ' TH
Ar@ig ity al i qY2@U ne AY2S Y

Q41 @i yY QO 3 6Q4

int nannies[22]  // Aé QO 22 AQQuEQA
charactors[26] // A& @ 26 AEY Q4

long big [500] /I Aé & 500A QQEIQ4



&bt 6CX &  WEYw8T A-. @eDI E é&Up AEY Q4a

F1 EY Q4671 F T EYO®EEQ4 b EYQIY9T MEY \01
WEY Q4@ k6 _6& AEYwt TAMEY %0 EY w@EJP & v
g, 6.6C

g 66 EYQ4i=EN R
EY Q41 Hj T EY W

you can see it.

nt EY Q41 wi EY n
you can see it.\0

1272 %0 Q4 F VM GIQE M mi %oe subscript¢ | J Ae indexZ & 3 N ¢ offsetl
P %0 1T QQ ahid @ @ ~ 11 %K OAD Q4 A GF dpngéal
2e Yol bg 67 A 0B

@ 6.7 & AGichar> int Q4
intboo[4] & X %A QQI 1 2AE

1980 46 4816 3
boo[0] boo[l] boo[2] boo[3]

charfoo[4] & |x 1E  ©& charg



h e I p
foo[0] foo[l] foo[2] foo[3]

p fori v a & Q4

pErErmS A 1 Q4 Y2 o 6197 A MV D @D AN 2

VI0OA nv " Qt o« I'n Ar Q40! @ dA& 10172 e4° Q
amiy e AC QA& fori vy Vo OAYzZIp T Quds . Wz
O1 Tee handicap ET Wz &% o T ¢

2 o 6.19 scores_in.cy 2
[* scores_int.c — ErT iV Q41 n ¥
#include <stdio.h>
#define SIZE 10
#define PAR 72
int main (void)
{

int index,score[SIZE];

int sum = 0;

float average;

printf ("enter %d golf scores : \n",SIZE);

for (index = 0; index < SIZE; index++)

scanf ("%d",&score[index]); I V10" Q

printf (" The scores read in are as follows :\n");



for (index = 0; index < SIZE; index++)
printf ("%5d",score[index]); I Ry
printf (" \n");
for (index = 0; index < SIZE; index++)
sum += score[index]; /I 8 E C s
average = (float) sum/ SIZE; 7 H oA |
printf (" Sum of scores = %d, average = %.2f \n",sum,average);
printf (" That's a handicap of %.0f \n",average - PAR);
getchar();

getchar();

return O;

NpG&C™ " Y2 o 6197 T TA1L 1 d&aCW =} i

>

enter 10 golf scores :
102 98 112 108 105 103 99 101 96 102 100
The scores read in are as follows :

102 98 112 108 105 103 99 101 96 102
Sum of scores = 1026, average = 102.60

That's a handicap of 31

E. . hTA 1 &aCr~ PR4° XU FY 61 A®Da I 11AQ
HE ® 10A VIt Nl VE BI0AE + w scank M~ OEY
AQa! Q@p 0] VAMBIOAQ O @p¥% E V AQaaacC
@i AxeD " JT A A mMT Vet w M 3 A1 AQ
EOEA Rt WIH6O PQEE A AY2U



TKI A1 Q41 Y %A 10AD" Gscanfe { B> 10A D" & printfe

B VX 10° Q" Ask foril yo&~ MMuba i A |[ ErQ
47 % FY' int Q4 EEAF Aw Aintw [/ n Vint w
fuer a'! @& scanf("%d" &fue); it § ¥ scorefindex]i "AQE A&t 7

scanf ("%d",&score[index]); .

AxeD "~ PR i X1 A1 #define "Yrp, & A"Yh Q42 n G
ITW eSIzZET AB3YI &' @apheQ4= Jiy =~ HAE AW
b' a@o "HY 2 "EFf W) N 20A° "Q1 UMb s "HSIZE AhOm 206! @

o OwY 2 A/ErT Q47 niEies A C9951 A &I W 6°Yh Q4 2
nt HT C90j &1 1 G #defne g b U 1 | QA&

TKI T @Ih ! QEAXS! N Az n w SIZEGIQ4 ¥

for (index = 0; index < SIZE; index++)

e* Q4 i E B M AFVTOJIAB O | vx Hindex wO
AD + mANT x OADEI AQwe AFJEMAmRSIZEL 5T 1 v
10Af v w score[9] AT . Af T index<SIZE! Qh X 1 EAEET Va
AT Giwe A index 90 w SIZE1

Ms1 ABGAYT A1 Y2 ¢ _ Gontl b, . @O M 3
Y21 N7 aAQQuEEQQ

Wit FYY2z Jo 6.194&1" s A" V@Eiforiy &' Ty~ (I

o @i ielap Al YVATXr A'HAOYT T OhBy &' @Y’ P
hAY 2" 1J° HT &aZ i QOWe p & modularity? Gis QA
A moyiVY2Z “wm PRpD”T @Hfi %ADFE Aynt hT”

—————

K O i pT xb' YZz©E a " jop | ywWep! @A 2



Qe a1 8! QHBADF O A Qal WA
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6.12 /A" Q + 6@l yveaD

VAaBoe AaDAT AT QU E N AQETQQK G

€ e
i @IQOJ N1 mathhz 08~ A® mwm powe { & Az G ° Qi E b V|

PQK C p A4OATES A3 ynim VT Vitg A +N7T
o QAZT V| @1we AgewmA|r L4 T Q

X* iv| &¢ TR0 QOK rMpPT QT i btay o
nNEpkK 1Z Hnm t OpkK Est | @ Aivyr H&a '@ |
w poww 1t ar ¢ "HEm N O
for(i=1;i<=p; H+)
pow *=n;
t O i1 *= N4 'HUt ®QOi TL @Q pvM Kiver powd i

nBEi1k 1 CBT n M~ ki var powdT Esix e nl Q@ nt CHB I
nWAI MM p dYwéaZr fori vi Es + @1 + wmi V'E X h ok
QepplT~ 9L

NpaTdJd® /H||'|' Z "hAThQQI3 YQpT AQQ T
13Z wmint ® B N30T ®WO® 2, Qi1 n> powAEr doube1 3



iirT14C& bMH PIT ®p R Qe bAOI
i AB "Hz Ue A" Q! @A bAv Q A doublke =

"Yh 0 v A QUEN NK bMGRH® QQEEDP 1Y2 + A66°
t 6@ Q Y@Q@it oy

1.ER® QHI " EG + 613

2. /1 Wb E retun "Y" I AS)

&b1 a'! @ X

double power (double n, int p) // t double 1 3 BI6
{
double pow = 1;

int i;

for (i=1;i<=p; #+);
pow *= n;

return pow; I t  pow GO

70 QI3 @p’ Qe e’
retun £ QH p w Eo @O
HT O @ Ai®& b1 @i T

131 04¢” Aw H
N1t Q bTOAWY
AT | @ By

a

a Q
Aintty T
AT®

IO |



retumn2*x+b ¢

QN N ABOX +te p 15 Qat ! @H + 6 NP Aw Y

I @ HEAw A Aa@EOyP! @HET ®DP A" "QuEiv 'Qi aeb printf
( "%f",power(6.28,3)); (3 @6 X E

NpaCpYzamr A Q@ 1 A" QEA¥1I E b Ee RO
“ET bMr zo Yrp” AN A ivi Est @ O £ whilei y
l QA&7 scanfe {f ¥ V2A6 b Gls I 2A61 scanfe T 61T

t 22 T ad8!' @ Hscanfe @ + &b 2 % [ i TV & eX
paoy 2 aAr powerse ° Qi ¢ " E1 Buo " AYZ AT Gy
T Y274 620AT T Y2

2 o 6.20 power.cy 2

[* power.c - | QOGIQQK ¥
#include <stdio.h>

double power (double n, int p); // ANSI = 3
int main (void)

{

double x,xpow;

int exp;

printf (" Enter a number and the positive integer power ");
printf (" to which \nthe number will be raised . Enter q");
printf (" to quit \n");

while (scanf ("%ff %d",&x,&exp) == 2)

{



xpow = power (x,exp); / = Q 1
printf ("%.3g to the power %d is %.5g \n",x,exp,xpow);

printf (" enter next pair of numbers or gto quit \n");

}
printf ("hope you enj oyed this power trip --- bye \n");
getchar();

return O;

double power (double n, int p)

{

double pow = 1;

int i;

for(i=1; k= p; i++)

pow *= n;

return pow; I i pow B8O

}
i T A " ey

Enter a number and the posttive integer power to which
the number will be raised . Enter q to quit

1.212

1.2 to the power 12 is 8.9161

enter next pair of numbers or g to quit
2

16
2 to the power 16 is 65536



enter next pair of numbers or g to quit

q

hope you enjoyed this power trip --- bye

6.12.1 Y 2

maine Y 21 A VY Z € driver{ ©igeD Y 21

>
—1
-
=
>

QOB n o Z

wiwhile ] Vi 6 CQ Ar @@ Ao X v 1.212 Escanfe T &1 S

VbABX + 211 yvAA t m scanfe W EY L AQB U e
Dal ~@ ~ 1 3 Q@p- H ghZE + &0 + mqj i £
To%I1f 7o n hAEscanE ¢ + 06Jd Vv meint 328

ghZ + &m U Chd Ty

NRpG&GCr~ ism 'Q Wi R i powers I Qp AY2A, N~ s Ki
VoK, NRT T mEy

double power (double n, int p); //ANSI =3

A B9 Y2NAE Ae mpowers { B Q ADEH E double

powere £° "Qh + A1 3w double GO A+ ~  powere C @ t 6
131 " E&TC ANETBQQes bM  ECt Y so0 o7

rrrrrr

Queis + 0O N A 98 double ni intp



powers 1 PBAVQ M AvQZT 13 double®i©r M~ Av Qo 3Z
W int

~

T K, RT T mEy

xpow=power € xt expl ¢ /T Q 1

AY QL Xe NEBAS ° Q \ xGiexpk 14 o H
J' N 1YzZuiiT o+ 6w Nw  xpow

Ms & NXip' QhewADY
double power € double ni intpZ //° 'Qh ©

R powere (i P* w n= p " @®HAvQ A double= A int
FYp® "Qh ©Hi powere {o =@ N1 dpt QT OHT @ N@E pt Q
@9 61 HG powers LAY’ UG8

t O 1" QETT fori yvi \ nGEpk X'HE ©A pow i Y3
pow & Q@ + 6

return powy  //  + pow GBS



6.12.2 A1 v & + 6T Q

6" " 1T QU he Qi AT retum ke E

P8T phoOX&E vd
¢ Ol QHEl y

p cia'iTh&d PR ®bintpAr’ Qu + & ¢ T
W AT scank @ + 6'Hi ¢

084 3 m% double e v | 0O D"

Q1 mwK

scanfe L 6 WKy ~ p h ©a powere

s¢” A° Qo

GC X~ i M7 A A "pYzaM K ° powere L HI E ~

powere {1 Ky1 3 & %HA & ~ powere  Gh ©1 AQE X |
hea "7 +13mw

double W W' A * powere L p GHsSAh®&GhEG + 61 3w double
b* & Hpowere Z° "Q@h ©d®p mane Ze 1 8! @ Xb ¢ " |t A

Hpo maine e TJ4~ 7 w3> powere L BIAGI U HIT | T % Co
It mmane I Woé AY2Z2®EQyt "1 AQwBT XA, maine C
Q "Q %U l a

Q4 WP D™ BEET AL AQD T " T o | NGE

P77 mKyn ¢ scnak o T+ mwaTde” -
9 @ scant { | printfe Z @3 TH P /0° Qul Q¢ ~
EG + 1 3 mint

stdio.h™ a1 A
scanfe ( G
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i vi AAz @JYTU

. hed 1yver g

1 3pi v, AaAEr @Op ¥

1 31 yp%A- Qa™ A",
C RO Vi I n, AT

d vy A W 1o

r-=a

Rl RS, w01 /bADE Boolt 3 ALl BIO3'Y

Q47 a4 g o

GipéyJda &

RANIVHZ -  fFYSAA

KA e TJd. Dp

. AB

J'"®0 " 91 yMOTHG w° A~ H
AL ECOPRze b" w1 R A 516

7

Q4F AT x OADAN G

T w9 AT VO %8 T % VMEAQN 1 CXj s At ArT T | bE
%01 AQ T as tf
Ar AT Q  H&s AD™ G x

1. A Q=3¢ °Q

2.pYza T Q 11 AN



3.he 1Q

S3/AEL v @sT aTe* sA&"" Qahe, h™ " QoMTA
NTHEAY Oui "HY 288 F V" ®i £2hX "1 53>hedi ~ GeD
i1 E£ " "bMA A:61 *T{sz3AYEH GhNx "7 n@iv
yVAl * T henAyw

6.14 O
N 0853 TY2i CwhNY2Z©EJ_pwé” Erw'  whie= for
B & VA Tivifor B T Rss@® Dp=" Ao y N

VY Ea' @p Afori va Dp="ArAw RjArBETAOD
I 11 v C@idowhile 88671 A .1 T1iV

eaz@inhiel v Ti =84 T

getfistvaue // nv A6
while (vale meets test) // N n 056 5

{

processthevalue /Y Lyrn &

get nextvale  // n A @io



aya ™ TAwusfori

vV i =064

for (get first value; value meets test ; get next value)

process the value

A Riy A A At 1r" hieE P AlveQ ~'s 1b
LA Avs A 611 VEBNAE pe_ EBJ AT T WA
A Aro A" M VY _d@ A b YW A 66 w
¢, 8m0 C99AR Boolt z3@w 1 Yw ET v®dé6 14 0

-

HJY N Y \

k47

\ Y Mt ©@IHA'QE \

iT77 GCMDKk J”

Q4

R C\

VT Mo E @6

Q4 080

&

Q4 EM AFVJAAN RO MT A L

double hippos[20]

VY1 &b +=3= *= P

"ET AONT ONABEO T F JV A Q

Ti s esebi it 0

a” AT® 20Af MEQ41 D Af VM x hippos[0]  hippos[19] ! @

AN 083} %o

I VAXs Er wQA4

WAl Y TTbhbMA A TR

t Ol



6.15 ¢ &

1A, % ¢ quackdEo

int quack = 2;
quack +=5;
quack *= 10;
quack -= 6;
quack /= 8;
quack %= 3;

\

int quack = 2;
quack = 7,
quack = 70;
quack = 64;
quack = 8;

quack = 2;

2.9h vauei A int1 301 Qi B YVhii Ky

for (value = 36; value > 0; value /= 2)

printf ("%3d",value);



b* valuei A double41 3@OGj T int1 3O hOK g )

Yx 36 18 9 4 2 1

b' vauei double1 31 wyvauewé s 1H Af TKh3'Ywm™ [V
h "B 1«7 15z eQiobfi 06 P %H®%d " 1CF j*

O8]

a.x%:’: b5
b. scanfe T 6 2 A double &e® % x{ Xh,

C.X GO % 5

\

a. x>5;
b. scanf ("%lf",&x) = 1;

C.X==05;

a.scane Z d1's A AQQ

b.xj W2 5



C.X 232 aMlz 20

Y X
a. scanf ("%d",&x) == 1;
b. xI=5;

c. Xx>=20;

#include <stdio.h>
int mait (void)
{ /13

intjjistO)w /4 Z T lst[10]

for(i= 1, i <= 10, i++) //6 NZ N

{ 6i ., bz Tx0 9qajixi1l 10
list[] = 2 *#3; /I8
for (j = 1, j>=ij++) // 9 NZ N

printf ("%d"list]); / /9>=2Z T <= ¢_ EimlHI I Ve jhd

printf(" \n"); 11
}
return O;
}
VX ¥V ZRRY e e

#include <stdio.h>

int main (void)



it ij, list[10];

for (i=0;i<=9; it+)
{
list[i] =2 *i+ 3;
for (j=1; ] <= j++)
printf ("%d" list[j]);
printf (" \n");
}
getchar();

return O;

6. T S, T VA F10° gf @Y 2y
RN
SRR
SRR
RN

A

#include <stdio.h>
int main (void)

{

int row, line;

for (row = 1; row <= 4; row++)



for (line = 1; line <= 8 ; line++)
printf ("$");
printf (" \n");

}
getchar();
return O;
}
Fx % forn™ @ °  ° dpv Afori v a T opMvMT Aforiy

7.Q1 YZhEM, Kyo

a. #include <stdio.h>

int main (void)

{
int i=0;
while (++i< 4)
printf ("Hi!");
do
printf ("Bye!");
while (i++ < 8);
return O;
}

Yy X Hil Hil Hil Bye! Bye! Bye! Bye! Bye!



b. #include <stdio.h.
int main (void)
{

int i;

char ch;

for (i=0,ch="A"i<4; #++,ch+=2%*))

printf ("%c",ch);

return O;

y ¢ ACGM

-

8.9h U p Gowest youngmanb 1 @7 N 2 hs 1 Ky O |

ASCIIZ® A1 Qg pMT EYa

a. #include <stdio.h>
int main (void)
{

char ch;

scanf ("%c",&ch);
while (ch =g
{
printf ("%c",ch);
scanf("%c",&ch);
}

return O;

oep



Vv X Gowestt young

b. #include <stdio.h>
int main (void)
{

char ch;

scanf ("%c",&ch);
while (ch = 'g’)
{
printf ("%c",++ch);
scanf("%c",&ch);
}

return O;

V' ¢ Hpxftu-'zpvo

c. #include <stdio.h>
int main (void)
{

char ch;

do{
scanf ("%c",&ch);



printf ("%c",ch);
while (ch ="'g");

return O;

vV X Gowestt young

d. #include <stdio.h>
int main (void)

{

char ch;
scanf ("%c",&ch);
for (ch="'$"; ch I="'g"; scanf ("%c",&ch));

pruchar(ch);

return O;

vV x Gowestt youn

double mint[10] Y



aQ4eil Kyo I/ mint
b.p Q4 A ®" NAF U 6 /110 A

PYBAFVAEY Kyl z®606 // double

O

di o AM Q4* s~ scanfe T 6 /I 1~ A

=

. scanf("lf",mint[2])

N

. scanf("lf",&mint[2])

w

. scanf("ff",&mint)

11. Noah¥1 s F@ 2 Qi AQH ~ Q@i @Y 27 4 AQ41 XT QQ2
460 BMMT ) XE b'® 1+ AYZ2EE T Kyo

#include <stdio.h>
#define SIZE 8
int main (void)
{
int by twos[SIZE];

int index;

for (index = 1; index <= SIZE; index++)
by twos[index] = 2 * index;

for (index = 1; index <= SIZE;index++)
printf ("%d",by_twos);

printf(" \n");

return O;



Y x + ®M AF VB AWOIL AQI V@ hZ x 0 SIZEL 6j 1 x 1
()

SIZE HT ~ owh/AY Af Ow 06| T A@ T T A
Y

for (index = 0; index <= SIZE; index++)
by twos[index] = 2 * (index + 1);
1nst CZ vV~ Al yBE " f 7 Doy Z pQ4iea Er Q4dAYX

for (index = 0; index <= SIZE;index++)

printf ("%d",by_twos[index]);
1228y ° A t+ lng6d Q pa®e Qheaz YIKyod

a

y QZ "H +13% " mlongt XY9 A + long&iretun 8

13.he® A" Q " Qi p AintvQ XQlbngi3 + v QEWAS

vy
long square (int num)
{

long squ;

squ = (long) num * num,;



return squ;

o}

long square (int num)

{

return ((long)num) * num;

14 X

6.16 A Y 41O

1A AYZ21, 8 AT® 26AFVEQ41 XpTael 26An" E%
Y21~ Q468 k

#include <stdio.h>
#define SIZE 26
int main (void)
{
char ch[SIZE];

int i;



for (i= 0; i< SIZE; i++)
chli] = 'a'+i;
for (i= 0; ik SIZE; i++)
printf ("%c" ch[i);
getchar();

return O;

i FYEYQ4zZ O 6ou b aea Gch[i] = 'a'+i

$$
$$$
P88
RN

#include <stdio.h>
#define NUM 5

int main (void)

{

int row, line;



for (row =1; row <= NUM; row++)

{
for (line = 0; line < row;line++)
printf ("$");
printf (" \n");
}
getchar();
return O;
}
|—Yx ek o Tveiy, AKQ sv [y AkQr Aw

3.A&A S, T vel1 i’ gl X

F
FE

FED
FEDC
FDECB
FDECBA

#include <stdio.h>



int main (void)

{
char row, line,ch; I' hes AEY w
ch="F, I Nw F 674 ch
for (row = ch; row >="A";row --) ' Nch &7 rowpb* row>A row-
{
for (lne = ch ; line >=row; line --)// N ch &N linePb * line>row
line--
printf ("%c",line);
printf (" \n");
}
getchar();
return O;
}

Fyxn T v, AEKQo Qv [y, AGKQwy t

4. Y2 01T A XV Az E% A S I yved ui m T @ EJ gl oy

A
ABA
ABCBA
ABCDCBA



ABCDEDCBA

Mgl CEF T A RV@IEY ebt gl Tp VEH  F1 G

w” x A AT YrIn 1 p%K AETSA T YL Al NVT
AQ"28ME2%1 AQ 2§ MEZ%

X
#include <stdio.h>
#define LETS 26
int main (void)
{
int index,row, line,chr,temp;
char ch;

char lets[LET S];

for (index=0;index<LET S;inde x++) I Dp AZGEQ4F
lets[index]="A'+index;

printf (" Vv AE% M

scanf ("%c",&ch);

temp =ch - A’ Il n wK<Q

for (index = 0; index <=temp; index++)
{
for (row = 0; row <=temp -index; row++)
printf (" ");
for ( line = 0; line <= index; line++)
printf ("%c" lets[line]);
for (chr =line - 2; chr >= 0;chr --)

printf ("%c" lets[chr]);



printf (" \n");
}
getchar();
getchar();

return O;

XY 0A AOI Y ev Afor{1 o s AforzotVv AforAvia

wp 4 e h XoAvirijt fAilvr~"a8E nfo

*/

5.A° AYZEM A 1 @Y% N AQQ E%SWAQS3 EDEN A
“TA G b At Aforiy
X

#include <stdio.h>
int main (void)

{
double d_squ,d_cub;

int num,upper,lower,temp;

printf (" JVOAT QM)
scanf ("%d",&lower);

printf (" \n OATL QX
scanf ("%d",&upper);

while (upper<lower) // b* @ 22 NECT Q6



temp = upper;
upper = lower;

lower = temp;

printf ("num squ cud \n");
for (num = lower; num <= upper;num++)

{

d_squ = num * num;

d_cub = num * num * num;

printf ("%d %5g %5g \n",num,d_squ,d_cub);

}
getchar();
getchar();

return O;

6.A° AYZ'H AbpD V AEY Q41 tarbEm A

W~ X AT stlens TeM 47 VQiA e AEYEMA

#include <stdio.h>
#define SIZE 100
int main (void)

{



int index,num;

char ch[SIZE];

printf (" 2 AD 1 Y2ZNrbg&mEC )
scanf ("%s"ch); /* nEYw@Ef A "Y1 m$ V1 OQIH¥Y

num =strlen(ch); /* j 1 & " Y = "1 & "Q4eo! ¥

for (index = num -1; index >= 0; index --)
printf ("%c",ch[index]);
system("PAUSE");

return O;

7247 AY21 0 VbA{eQitoEm 1T GEETE @ aOMAeé
B pT A v QEE Ve Y21 VI n®%M WO

#include <stdio.h>
int main (void)

{

double numl1,num2;

double temp;

printf (* Vb AQ(qtoquitd x ");
while (scanf("%If%l[f",& num1,&num2) == 2)
{

temp = (numl - num2)/(numl * num2);



printf (" b AQEIT @ 0 QM@ T %.2f \n" temp);

}
system("PAUSE");

return O;

#include <stdio.h>
double fun (double x, doubley); // he&® + 6E Q531 xywm 'QoEéy

int main (void)

{
double num1,num2;
double temp;
printf (* Vb AQ(qtoquitd x ")
while (scanf("%I[f%l[f",&num1,&num2) == 2)
{
temp =fun(humLnum2); //numlnum2 <€ A" QW "Qh
v
printf ("5 A QEIT @ a QMBI * T %.2f \n"temp);
}

system("PAUSE");



return O;

double fun (double x, double y)

{

double temp;

temp=(x -y)(x*y);

return temp; i t 64 1T QY 2
}

9.9A° AYZ1 0TA VI QQ A QQt oK NI i
Wie A QQEWALR 51 el T Jd* Y2ZNjAQTTA Vi QO

i QOXT TNt LT T A VW QW Aam:T QOB Y 2
Gl Y aeZ bi AT X

Enter lower and upper integer limits:5 9

the sums of the squares from 25 to 81 is 255
Enter next set of imits: 3 25

The sums of the squares from 9 to 625 is 5520
Enter next set of imits: 5 5

Done

#include <stdio.h>
#define SIZE 8

int main (void)



int i[SIZE];

int index;

printf ("please input 8 number : \n");
for (index = 0; index < SIZE; index++)
{

printf ("the answer is :");

scanf ("%s",&[index]);

for (ndex = SIZE -1; index >= 0; index --)
printf ("%d",[index]);
system("\nPAUSE");

return O;

1047 AYZ'H8ANQQ RV AQ4at i @ rw 28mMEC

#include <stdio.h>
int main (void)
{
int lower,uppwer;

int index,num;



num = 0; I* & DpO= o ¥
printf ("Enter lower and upper integer limits : ");
scanf ("%d %d",&lower,&uppwer);
while (lower < uppwer)
{
for (index = lower; index <= uppwer; index++)
num += index * index;
printf ("the sums of the square from %d to %d is %d \n",

lower*lower,uppwer*uppwer,num);

num=0; /* Ha KO> Qi va| y e Jov

printf ("The next set of imits :");

scanf ("%d %d", &lower,&uppwer);

}
printf ("Done");

return O;

1.0 + 1.0/2.0 + 1.0/3.0 +1.01/ 4.

107 1.0/20+10/30711. 0/ 4. 0 +ee



A7 AYZr NV BAZT jAvp@Os T T« AKQ 1 AT Ws
VB AKQ T " p 20Kk 100K= 500Kk e o OGS T & %AZT T o
Qe ABOO™ XT QA-T QEdOwm-1l ay QA-1 Q@O 1

#include<stdio.h>
#define NUM 1.0
int main(void)
{
int time;
double a_al=0,b_al=0;
int index, list;
int temp=1;
printf("Get name \"1.0+ 1.0/2.0 + 1.0/3.0 + 1.0/4.0 +... \"is A\n");
printf("Get name \"1.0 - 1.0/2.0 + 1.0/3.0 -1.0/4.0 +... \"is B\n");
printf("Y our want test how many times: ");
scanf("%d",&time);
for(index=1;index<=time;index++){
a_alk-=NUM/index;
}
for(list=1; list<=time; list++){
b_al+-=NUM/list*temp;
temp*= -1;
}
printf("A is %.3f, B is %.3f",a_all,b_all);
system("PAUSE");

return O;



12247 AY21_ & ASAFV@E N Q41 XhHF V'
Lt aogm, HC®EO A fori vi 161 w wp At
I~ Pré

#include <stdio.h>
#define SIZE 8
int main (void)
{
int arr[SIZE];

int num,index;

for (index = 0; index < SIZE; index++)

{
num *= 2;
arr[index] = num;
}
index =0;
do
{

printf ("%4d \n",arr[index]);
index++;
} while (index < SIZE);
system("\nPAUSE");

return O;

J m 2 B 8K
dowhie i v



/% Fy@i « fori vH fyveki H 64 Q4F o Hj T
KQYw OGvt ¥

13. A" AY 21, abA 8AfFJTEidoube Q41 1 ATl V] TA
M AQIGESAFULEEE Y2 HY™ AQAGF U JwM AQI1IM> &
bt M~ AQA4GM 4AFYZ w3V AQAGE AAF VG | M7 A'Q4 G
M BEAFVMZ w3 AQ4E BAFVEE eFEr & T V! @Y P
i LT AQAGM SAF VMR AQAIGM AAFMTI M AQA M
5AF "hi '@ d§, aE AT DAl Y HE Ayn w9 A&
AT VI T " HbAQIAT kI M AQ4p T 710 6M7 AQ4 A GEEA
FupVv AQIGMZF el [

#include < stdio.h>

#define SIZE 8

int main (void)

{
double arr[SIZE],arr1[SIZE];
double a_num, b_num;

int index,row;

printf (" Please iuput 8 number :™); /* T A iput ¥e */

for (index = 0; index < SIZE; index++)

{

printf ("the answer is :");

scanf ("%lf",&arr[index]); /¥ N iput @A &MZ NN Q4 A B W
*/



} I* |—Y doubel MZ @85~ § % %lf */

for (row =0; row < SIZE; row++) /*ar] = arl[] 1} & ¥

{
a_num += arrfrow];  Nar[] AFVY®EES A a num?*
arrl[row] = a_num,; * Wi anum ©A7 arrl[] ¥/

}

for (row =0; row < SIZE; row++)  [* AT = ar]a GEF 4 ¥/
printf ("%8g",arr[row]); /* %g "I OW 1 3osiY

printf (" \n"); *  Q ,oarrl]] Q4 a o v ¥/

for (row =0; row < SIZE; row++)
printf ("%8g",arrl[row]);
printf (" \n");

system("PAUSE");

return O;
}
14.4° AYZ2 VLt arbgm a!' "H 3é4p A charQ
4AP3h j 255AEY + O i1 &' QA& vk % Y @iscanf
el K VA K V AEYIL GhE&ATYI 4 Hhf1 Q EY €\nC
X

#include <stdio.h>



#define SIZE 255

int main (void)

{

char temp,ch[SIZE];

int index, row;

printf ("please iput your word :");

scanf ("%s",ch);

row = strlen(ch);

for (index = row; index >=0;index -) /* b* € M'H M @& index=row-
1%

printf ("%c",chlindex]); * r b &€ MHT AEZ2E, 1 AQ " Y

T %cC *

system("PAUSE");

return O;
}
15. Daphne @ 10% @ip = U'H ~ 100" Fe CBT | Y%w'™H & & Uw:

s D'H ©i10%C Deirdre, @%w 5% @ T U'H - 100" Fe CBT 1
UT E IMBE5%TAyY 0@ @ UZ A" AYZ1 N AN w
Deirdre @i'H ¢ h Daphnet Xh 1 ~ ., HbAK ®EH

#include <stdio.h>
#define NUM 100.0
#define SIG 0.1



#define DOU 0.05
int main (void)
{
double dap = NUM;
double dei = NUM;

int list = O;

do{

dap += NUM * SIG;
dei +=dei * DOU;
list++;

Jwhile (dap > dei);

printf ("%d w DaphneH & %.2ff Deirdre "H

system("PAUSE");

return O;

@ %.2If" list,dap,dei);

16. Chukie Lucky ~

w® 31 Chukien
M H BB A
X

#include <stdio.h>
#define LI 0.08
#define MON 10.0
#define BASE 100.0

e

100e” f1I H'HEEé 3 A Ysw
10e”

AN Z 1

€ 8% BBl A p Yew 0
\ A Nw chukie § h |



int main (void)

{
double money = BASE;

int age = 0;

while (money > 0)

{
money = money*(1+LI) - MON;
age++;

printf("%2d age: %f \n",age,money);

}
printf ("\n%d we Chuckie@i A |V " age);

system("PAUSE");

return O;

M 7Y Ci By He

n YaaNedi’” ngkx

fru Exife b T elsese ¢ T 1 swiche = "QC 1 continuee N1 A C | break
eAATI

casee ¥ (| defaute A C 1 gotoe =



T VY x &&( w1 || G211 2er 1 VU

¢ "Qx getchare 1 putchare { @3 ctype.h v’

10~ /Er f> ifese B Q@3bMS_ A1 EC

= VY NH AAT "1 e G A A

1Ceef 1 VAo

fswitch 8

fbreaki continuer = goto

/£ COEY /0" "Qx getchare { = putchare

> < a

" ctype.h”™ 8T we&GEY " " Qv

MC ¢a hYz@eiad y I'n RB™s @yn Ho 8

Pédr i =44 P “ 1 COA|T » = o Tde T A
viIn e@yn p Yat aNeObMA ° "HJ_1 b if= swichi @
B Y2 YLAsT @ T'E~ ZWOA D k 4 Cg VY1 EC
i £a M while & i1 T A G AR A % aC Ne D B E
NYz Ly Q Y2@®OH ° eH YiL &N & "va 0 QuiA A 1053

Yz2'A @z, 9
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6c@Y2 o 717 ~ @ A f BN DeaeDAD AY2Z B 4 W%
AoHOY e Aoy 1 Xi 2 JWWOQ @3 wHOY p y Q@i G Qo
' p AlyY /A oscanfe T VQOI1 p AT vaur Qn @O |
VQROEGAQ if Bs A H: y@i @y Xp™ 4 PR3 Q"

Y 2 Jo 7.1colddays.c Y 2

[* colddays.c -—- 8, Oy H: yoEs Qo © ' ¥
#include <stdio.h>
int main (void)
{
constint FREEZING = 0;
float temperature;
int cold_days =0;

int all_days =0;

printf ("Enter the list of daily low temperatures . \n");
printf ("Use Celsius, and enter q to quit . \n");

while (scanf ("%f",&temperature) == 1)

{
al days++;
if (temperature < FREEZING)
cold_days++;
}
if (all_days = 0)

printf ("%d days total, %.1f%% we re below freezing .\n",

all_days,100.0 * (float)cold_days / all_days);



if (all_days ==0)
printf ("NO data entered !\n");
system("PAUSE");

return O;

PT A - &
Enter the list of daily low temperatures .
Use Celsius, ard enter g to quit .
125-25068-3-10510¢

10 days total; 30.0% were below freezing .

whie I v© Af 1. 1 scankt { @ + &p scanfe L =~ QE GEHO

Biyv 1 floataj T intr ¢ ” temperaturet ~ Y28nii pu 8 ~ W&
v Gip 25 T @

whie h A @BIA B bi ¥

if € temperature < FREEZING

cold_days++y

f B Y™ N 1 b, QO & temperaturel n:’z -06 N cold_days
T 1 b temperature 6] x> ONT Kywré ¢ ~ @ O6h
cold days++y B 1 whilei vAA ni AOy®©&

V2AE bKIE Br i . b'@OQQE (YzZ28hEéM, J" 1 b
=®QQ wyY2O86hio°> " hevMeaN~"" I @1 MY "B@A|r S nY
7w A T

N
o
©
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- A

W dQQ |1 " etzp VT ' CHAETT 13 ‘Qfoat Xj T *

13 QI+ wp A 100.0 *cold_days/ al_days A 1 X0 D A 100.0 *
cold_days@é&X s 013 Q , A Qm{ezQé tocmiz Q
@ " AGY gt X3TY2dpj HpA @0

f 8 Mm "H B e branching statement{ & 'O 8 & selection statementZ |
t REWE”™ ATlAe1 g%l Y2 "Obt ° "H@: f T owg Ab

if € expression,

statement
b * expressiond & BIOwR” ¢ {1 0"E statementye _ 1 B
= whiei v ~ 1 statementn! @ipA 8O @f Al ec¢ i N KR

T BZ MJ_> while BE g 3 ©n pupf ®a1, AsE
eb' ! T Ck® KL Op whiel yar , A E I @ &K

Wi expressionf A Hu A CBT 1 E% bA BEzni g A
X3y = c== T b' expressionWO R £ x37: yl G4 cw: 6 YO E
Bgye, | N6X B8 - " g1l @FETyM Al A®EOr 06
w3 B 1 @i AMD BirduaDalE " g @f A" Y ON %
G T Belh el X

if (score > big )

printf ("Jackpot \n"); / Mp B

if (joe >ron) /[l &#T B

{



jackpot++

printf ("you lose,Ron \n");

72 pif Bal]t esenn E

WpeéAwif 2/A£4' @ OE | Begl!iiwT BIZASXE C
) A1 feseé Al pbA B Y, O GCAT ffeseéeAsy 2z |

D 7.1AXI N 7 4

if (al_days != 0)
printf ("%d days total: %.1f%% were below freezing . \n",
all_days, 100.0 * (float)cold_days / all_days);
if (al_days==10 ¢

printf ("No data entered \n");

b Y2aNaldaysj w3 0@l wEZ ~ aldaysd h %3z O 8
j oM . A /At ffeser &' @N 1Yz mwmbi é&Ay

if (al_days != 0)
printf ("%d days total: %.11%% were below freezing . \n",
all_days, 100.0 * (float)cold_days / all_days);
else

printf ("No data entered \n");



K © Kk, A b* fo A A1
M 23U
Yy ifelse B @ 1 & Ay
if (expression)
statementl
else
statement2
b ' expressioni®” ¢ {1 8"E statementlyb * expressionwId 1
E p elsea ©&; B ¢ statement2( Bl @ Mp@d ¢ T @i Cj
ANt H T % © i AnAE B9 2:, AG'E "'hi1 é "4
b 0UQp if> esee ®rf B81r 0 A HON_&d Alb e oY)
J_7 C |1+ wmAd #QQif> esee EQ | Bepf Dy T L X
if (x> 0)
printf ("Incrementing x : \n");
X++;
else I Nf1 A
printf ("x <=0 \n");
A " h™Hprintf € 8~ Aif B D8 I Nx++y B~ A | p"
aj HEAw if B @& t o h melse=®ARGETL T A
T YéAx
if (x> 0)

{

EMOYQQub ' « 6w



printf ("Incrementing x : \n");

X++;
}
else

printf ("x <=0 \n");

f B AAai 2 Ol ¢e™E « ADA ifese B FA! @pbAULAS

721 b Aea&Dyxk 4 getchare = putchare ¢

wih QY 2A VB k TQE W 4 O&T THWE AL aCr -~
A P EY®eD aTJ4~ -~ O At scanfe T > printfe T @ %c " Y
"EY I XNpGECNI W b

putchare ¢

EY 10 a B M C "Qx getchare { =

getchare ¢ Q=GV ™ Q E +1s 3 VO AEY eebi i @ 8
ni A VEIXNE®ESO Aw chy

ch=getcahre ¢ @

scanf("%c",&ch);

putchar() Q¢ MEGv 'Q abi1 i @ BNX A ch@WOAWEY ém
R X



putchar(ch);

—————

printf ("%c",ch);

tw P Qk k! MEY 1 AQEC%™ 1 Giscanfe ¢ = printfe 7° Q"

0
ah~ M4+ a1 FY EC] P A "Y1+ mECE MEY Arx 13
A" Q W p stdohataheeaht EC WET | nw hemacrol | a
j T * @ QUaECNpMv 16¥pC I n#>= Czba 10 "QuEh

i N AY2zr 7 P QU OpyTA®  AY2ZWN @ 1 H
N%A M7 EY @Qw EYp ASCII 2° a@le AEY M7 1 AmMi
1 L @NUQY 2y, Gk Z wob* EYT MT 1 Emewe_ | EME
p ASCIlZ" Al AEND

C@ilh ~  Ed | pal @gyz o 727"

Y2 o 7.2cypherl.cy 2
[*cypherl.c — @w 1l E 3D Ta®BM] ¥
#include <stdio.h>
#define SPACE " " [*SPACE™ E: p AN -Mf -AN p ¥
int main (void)

{

char ch;

ch = getchar(); /* TV AEN ¥



while (ch 1= "\n) /* E J CH
{
if (ch==SPACE) /* W] j w *
putchar(ch); /* j ow AEY ¥
else
putchar(ch +1); /* @w THEY ¥
ch=getchar); /* ni AEY ¥
}
putchar(ch); FEMQ EN ¥
system("PAUSE");

return O;

CALL MB HAL.
DBMM NC IBM/

"H Al v=Y2 o 7.1a @ v % Y2 |o 71Aa7 scanfe ¢ + ©H
T6G )T FVMEO T AMHABIY apyz o 72Aa0, T AF
MBS " hAMHABI vI MYjaM Al vVI_mnp EX®ja |
Ab b Bpive 1D Ap b BpY%Ki VEIP t a1 Chq o

| #a'' @ N n>, ATXmpA Aryoyz o 72 3BT
al @H YeéAwH vy

ch=getchar(); // J AEHY

while (ch ="\n') // E J H



ch=getchar); // ni AEN

rrrrr

WO R A

while ((ch = getchar()) =" \n’)

{

/' T NEY
}
oo Ty

while ((ch = getchar()) =" \n’)

YN~ E3WCAY T XNBALAT Xmw A A Cs + @ Al QF
AN 7Y S VY

while (
(ch =getchar()) // & ch ABS

I='\n) // "Hchm \n %

DAN A& A chXN A&RQ % k 0N O H ch=getchar
el Aol mp!l=b VY&t HAQ W 0é Ao\ X0
T getchare ¢° "Qu t a NE© + & Nch +w 6  AwOdvw: A



t 8 Qi1 AQ ch=getchare { %66 %> ch®AS& + %1 n cheod 1,
AT T4 wchi="\n',CBT 1 chj w:Q |

Cv
qTlc¢
O
=5
I
m

NToowGwT | p CAYAT W 1 AQAZ Y
SAET KON 4T D A

A®EkK ON To @ 3b 5 T AU

while (ch = getchar() =" \n’)

= N Y OBY X/ 9% = I AQ@ X \ 083 AT getchar)!='\n" +
T AR ALt %067 04 1¢e- ad7 ta ABS A ch «
kONBYP chuEd mOA& L aj T getchare @ + @O 1+ |

T & CcAl QU

T o By

putchar ch+1); / ww THE Y

WK "~ EYh i1 ARQQ é&U0mwi p A ch+1 a1 ch "Ef & int
3@7:: Vit o intgoei VJ* e putchare AQip Aint3
Giv QL HK K £1 w9 AE 1 hT~ 4 AEN



7.22 ctypeh V™ EV° Q

Fy Y2 Jo 7208 [ 1~ 8N QA P T+ WG| EY MZ G
ASCIl mB N@ASCI 2 1 Hib*Y2z"Y E "QE% NA®G®E EZA%E
MF YZ39i7 1 Nh" B YV a {63 Voé YA |
‘ ej TMT 1 Nib%JuMI HT 41° AQE} T 0 1 xBI
ANSIC®H V" % @ Q' @t " * EYycypeh” a1y9e” PR "Qéb
3 P° Qi P AEYAWVQ b' EYRZe:h&N1_, i 6
e C1 e, + €37 ebi b isapha % Q@ QI AE%I . E 4

A & Yz ]o73 m " QE V2 oTr2ED R ¢

Ol M O GEH Y J

Y2 Jo 7.3 cypher2c 2

Il cypher2c - o@w 1 EBD  E2%EN

#include <stdio.h>
#include <ctype.h> /| m isalphae { wWé =3
int main (void)

{

char ch;

while ((ch = getchar()) =" \n")
{
if (sapha(ch)) //b* T AE%

putchar (ch+1);// , QOWE

else /e



putchar (ch); // =~ ¢ mE

}

putchar(ch); I EmQ EY
system("PAUSE");

return O;

i T A “eplYsr E% n  E% . 1 GMT 3 %ei N, = QU

Look! It's a programmer!

Mppl! Ju't b gsphsbnnfs!

71> 7.2° 7 ctypeh” aTAY9 @ RT Q OR QO T 5Pl
v dYh A SQNG&EF CEm 1 |@cTveaebt AfK

PW " nQEIHOI A NP oM Qeirs2i 1 - h® spTovdi 2
"Yh Npd{enQE A onQe T AT o+ S 81~ 1231 45

°

FY i Tm "QXj owsDGiv'Q EGE + owo @® BT 1 B
j @w chieyx

tolower(ch) // M ch=®é& ¢

=Oewcht Y @wch ' @ ~ Y

ch =tolower(ch); // "Hch "Qwn’ |fx CBC++j h!

7.1 ctype.h®EY . A" Q
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Qe mbi v QH + 6~

isalnume ¢ E %QE € E 250 "QE

Y

isalphas ¢ E %

isblanke A% M~ EYeMf tW a&Q CayMUTH sp"Yhm
Vi =

iscntrle ¢ Y1 aeb Ctrl+B

isgraphe Mi eV GIA®! E ME Y

islowere { nEE?2
isprinte ' € M E Y
ispuncte T %ot Y Neg MT 3 EZ%QEv Bl £§ MEY C

isspacee £ M~ EY xMT 1@ 1 41+ 1 Y1 dTH spheEq

2

isuppere L * E %

isxdigite ¢ " JU = QEEN



7.2 ctypeh@BEY T m Q

>

tolowere b vQiz EY1 + Z@n EYge_,1 +s5DvQ

touppere £ b viQin EY1 + Z@z EYgwe_ 1 +s5DvQ

7.2.3 A O else ff

AWI 3 4WhAHaCwébAQi 8 O ! @1 elseif"Ef ffesed _ Z
T &Cr T AeD 31 y3vM WA 9 i A& T @woQ
®e A3 VDT Bf ' 1 byl ' 2'He KWh X

M A 360 KWhy Y% kWh $0.12589

i A 320KkWhx % kWh $0.17901

680 kWhy % KWh $0.20971



b &% pYT21nt! @A Y27 Vvawwr> 1 Y2 Jo 74A Y
T Ha y NGM ¢

z

ou

Y2 o 7.4ekctriccy 2

[* electricc - VTG ¥
#include <stdio.h>

#define RATE1 0.12589 // M A 360 kWhy Y8 KWh $0.12589

#define RATE2 0.17901 // T A 320 kWhy Y8 KWh $0.17901
#define RATE3 0.20971 // 680 kWhy Ys KWh $0.20971
#define BREAK1 360.0 // 'OEM AT R
#define BREAK2 680.0 // ' OEMT AT R

#define BASE1 (RATE1* BREAK1) //7 > 360 KWh @8} 7

#define BASE2 (BASEL + (RATE2 * (BREAK2 BREAKL))) //T 3 680 KWhosi 7

int main (void)
{
double kwh; // 1 > @ 2 n HQ

double bill, /7

printf ("Please enter the kwh used . \n");
scanf ("%lf",& kwh); Il %lf T double1 3 o ~
if (kwh <= BREAK1)
bill = RATE1 * kwh;
else if (kwh <= BREAK2) // 1 3 p 360kwWh= 680kWhe H

bill = BASEL + (RATE2 * (kwh - BREAKL));



else

bill = BASE2 + (RATE3 * (kwh - BREAK2)): // T 3 680 KWhH

printf ("The charge for %.1f kwh is $%1.2f \n",kwh,bill);
system("PAUSE");

return O;

Please enter the kwh used .
580
The charge for 580.0 kwh is $84.70

Y2 o741 4NW  ~ "1 @% PW ! QEAXS ®Jp B
id2T3ow "¢ TE'T®I6EK™™ A P @p X i
pCx IN ~7 rm e ECO®M T v BASEI® BASE2 Q ' =5
ner - “ibh' '&d qeow 1 ECCGhs st A Attty

Inui jy V@ Y2a BASEL NoBis ANT 0.12589*360.0 M | 7
TOYA H hoeé A BIQ6 £ 4532047 @ % wd BN 2 M AT 45.3204a
iTOA VA

Vzoly up " @ Y2 YL kwh@IQ6 "Os A3 AaGE A Z =
Fy@i k E kwh222 360HY 2€¢° v Aese AQI 4Y2 } A} o9

T 1 elseife kkh<=BREAK2Z h i E>* 0 kwhp 360> 6806 a
"1 Kk E kwh 6801 £¢12 w9 Aese o |Y1 BASElL>
BASEZ . h ~ 360> 680’ a HEIO 1 + %I ET 3 PO HI k

T i v oOBE T
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—————

e GRAGE Ywp @bt Y20¥ O Ej
i B gD M’

v
P
if (kwh <= BREAK1)

bill = RATEL * kwh;
else

if (kwh <= BREAK?2)

bil = BASE1 + RATE2 * (kwh - BREAKY);
else

bill = BASE2 + RATE3 * (kwh - BREAK2);

BT 1Y 2Ay o @i Affese BT D A ffese B Giese 8
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if (score < 1000)
bonus = 0;
else if (score < 1500)

bonus = 1;



else if (score < 2000)
bonus = 2;

else if (score < 2500)

bonus = 4;
else
bonus = 6;
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if (number > 6)
if (number < 12)
printf (" You're close '\n");
else

printf (" Sorry,you lose a turn \n");
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10 You're close

15 Sorryt you lose aturn
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if (condition)
do this;

if (condition)
do this;

else

do this; ebe /> Ei W AF w (0 @A Wi A ifC



if (condition)
{
do this;
if (condtion)
do this;

}

else

dothisy 225 ©EiF Byoap D ONa1I AQ elsemsv A i W

M Ae®eDGiin /Eé ese hbll M Affw G H HtL A T 6XA4An

W b @0 QebsesM AW 1! Q@ TX

if (number > 6)

{
if (number < 12)

printf (" Y ou're close '\n");

}

else

printf (" Sorry,you lose a turn \n");
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10 You're close

15  Sorryt you lose aturn
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promptuser // @~ 1 A

while the scanfe ¢ returnvalueis1 // b VL + O 1l

analyze the number and report results //° *  JVEQREXsT T vie 4B

promptuser // @~ 1T A
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for (div = 2; div < num ; div++)
if (num % div == 0)

printf ("%d is divisible by %d \n",num,dv);
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for (div = 2;(div * div) <= num; div++)
if (num % div == Q)

printf ("%d is divisble by %d and %d \n",num,div,num / div);
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for (div = 2; (div * div)<= num; div++)
{
if (num % div == Q)
{
if (div * div '= num)
printf (" %d is divisible by %d and %d \n",num,div,num/dv);
else

printf ("%d is bivisible by %d \n",num,div);

}
}
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#include <stdio.h>

#include <stdbool.h>

int main ( void)

{

typedef int bool,
unsigned long num; // 5T ©IQ

unsigned long div; // ' T @i "Q

bool isPrime; Il Q%0

printf ("please enter an integer for analysis : "),

printf ("enter g to quit \n");



while (scanf ("%lu”,&num) == 1)

for (div = 2, isPrime = true; (div * div)<= num; div++)

{
if ( num % div == 0)

if ((div * div) '= num)

printf ("%lu is divisible by %Ilu and %lu
\n",num,div,num/dv);

else
printf ("%lu is divisible by %lu ",num,dv);

isPrime = false;

if (isPrime)
printf ("%Iu is prime \n",num);
printf ("please enter an integer for analysis : ");
printf (" enter gto quit \n");
}
printf ("Bye \n");

return O;
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please enter an integer for analysis : enter g to quit



36

36 is divisible by 2 and 18

36 is divisible by 3 and 12

36 is divisible by 4 and 9

36 is divisible by 6 please enter an integer for analysis : enter gqto qu it
149

149 is prime

please enter an integer for analysis : enter g to quit

3077

3077 is divisible by 17 and 181

please enter an integer for analysis : enter g to quit
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if € exprssion(

statement

b* expressonw™ | "E statement
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statementl
else

statement2
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if (exprssionl)
statementl

else ife exprssion2(
statement2

else

statement3

b exprssionl -~ "E statemently b * exprssionl w3 & exprssion2 w1

statement2 ¢t _ 1 b b A A w31 'E statement3
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if (legs ==4)

printf ("It might be a horse \n");
else if (legs > 4)

printf ("Itis not a horse \n");
else /*case of legs <4 ¥
{

bgs++;

printf ("Now it has one more leg \n");
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/* chcount.c -- At 1" I

#include <stdio.h>
#include <stdlib.h> /* =&~ A system("PAUSE");I T *
#define PERIOD "'
int main (void)
{
int ch;

int charcount = 0O;

while ((ch = getchar()) = PERIOD)
{
if (ch!=""&& chl=" \")

charcount++;

}

printf ("Ther are %d non -quote characters \n",charcount);
system("PAUSE");

return O;



| didn't raad the "I'm a programdding Fool" best seller.

Ther are 51 non-quote characters
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if (ch '="" && chi=" \")

charcount++;
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if (ch!'=""and chl=" \")

charcount++;
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if (number = 0 && 12/number == 2)

printf ("The numberis 5 or 6 \n");
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while (x++ < 10 && x +y < 20)
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if (range >= 90 && raned <= 100)

printf (" Good show \n");
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if (90 <=raned <=100) // j !] T

printf (" Good show \n");
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(90 <= range )<= 100
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if (ch>="a' && ch <=2)

printf ("That's a lowercase character \n");
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if (islower(ch))

printf ("That's a lowercase charcter \n");
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read a character // n AEZ%
while there is more input // b ki 3

increment charactercount / T EY BE % Qr 1

if a line has been read increment line count // b * Qr 1
if a word has been read incrementword count / b* T b D Qr 1
read nextcharacter /A A T A
T4 6 Vo v ez x
while ((ch = getchar()) '= STOP)
{
}
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